'Y XN
Machine Tools Price

E-mail:eva@mzgtool.cn

Linkedin

TTIIR UPXRUIXP ,A1'IXRP?70

Scanning, Contact Us
P 0 1 ) Ca:)él;gneull\‘;l'inllji:;gwg;ztter E P 1 6 710 222710 2'HRRIA VIR W/ IR T 7rTor I;‘IJIQ F

External Cylindrical/Inner Hole o nmio mimas

P02 uuuuuuuuuuuuuuuuuuuu SeSSesy—— P 1 7 710 219710 [UKTVAOMIR-OR} / 21TIKKIA

Cemented Carb|de Cutter Grooving/Cut-Off Turning Tool

P03 Extrus.ion Screw Tap ——————— - P 1 8 210 222710 22'HNKIA VIR W'/ YORD 910

Extrusion Screw Tap End Face/lnner Hole oo mio

PO4. o e PQ ’ ~

‘ e e—— 5 710 33210 ﬁ/q’
POS. g Grooved Tap P20. oy T ports i

/ .
P O 6 J2IR0Y IXTIPA'0 / DXV TIRD — ° A P2 1 BAP qyoxp 21'7'n 7231 0ow _ -~
* Hand Tap/Circular Die =i . BAP oo v oo —
o B
P 0 7 yﬁ? P2 2 VUK 270 TN NV 'UND o <
. s ccwmT. CNMG.. * Machine-Clamped Round Nose Milling Cutter %

DNMG.. P23 ) !(Mm.. SEHT.. &239 P3200..
VOR NY 21 7RY v01' Quick D |||
SNMG.. P24 - 1ouck|:go I'I'O(:ih Type Cuttgln:ettujryo;:e Q:lckanll
~ ' A''XYA V1T ﬁ,
& qpor. ‘ TNMG.. P25. Boring  Tool i. IS
=} AVTIND 21XV VITI D
P1 1 - @VBMT.. VNMG.. P26 . Borinyg To;IyHoIder Q‘:
- | . | ‘
P12. ' I WNMG.. P27. ER. . @ ‘FMA/B.. l
710 212710 DYTRS R
P1 3 Thread Turnuing Tool b P28 . GSK.? ADS. X APU. ’

P 1 4 1790 177 19 22710 7% / 200K punR [T ‘T P 2 9 OV INOOYOPN WTINA AYVA 717 % Ei
. Cut-Off/Grooving/Back Turning Of Small Parts . i .=

PO8. & oo

PO9. o I
P10.

l

CNC Tool HolderAccessories

P 1 5 External Cylindrical 710 212710 22'11XX12 P 3 O OV INOOVOTN XYL UNURKO 3 8 \.. A
= External Cylindrical Grooving Turning Tool * Lathe Chuck Accessories nb

|N'UN"|IJ'D]N7 A"XDA 21'0VONID VIKRN VITI) [IR 22" TYN0 ,2'7'0 ;2111710 7XINWYOXID
illi Threadingiand,Boring Hole Processing Tool Configuration.



mailto:eva@mzgtool.cn

AVOKP 22'7' VTN

Carbide Milling Cutter

|THIW VIV 0AORRD YIRIY | TIY VIV 0A'ONKR{ TWOIP |THIY [YIYR 0A'OKRKZ UXINIY KIND | [T |VIVP 021'ORKT WOKP KIXI |VIV{7 0A2'OKRN} 172 KIND
[ADECRIIRIT 770 55 2oal 7xvY 770 58 o 7Row 710 60 Twoi IxvY 770 65 ol IxoY [TY
D1IEID Black Coatings Can Cut | Copper Coatings Can Cut Nano Black Coatings Can Cut Nano Copper Coatings Can Cut Nano Blue Coatings Can
E#J L ‘ Steel Below 45 HRC Steel Below 55 HRC Steel Below 58 HRC Steel Below 60 HRC Cut Steel Below 65 HRC
R R R R R
ems— G 4 WAL
P | W J ¢ | 6
P! A
Right-Angle Ball End
Milling Cutter Milling Cutter A
D1 L1 DL RL1IDL
1. 0x3xD4x50 | RO. 5x2xD4x50 2026 2.7 | 3.1 4.6 5.1 5.1 57|57
1. 5x4xD4x50  |RO. 75x3xD4x50 2.0 2.6 2.7 3.1 4.6 5.1 5.1 57|57
2. 0x6xD4x50  |R1. 0x4xD4x50 2.0 2.6 2.7 3.1 4.6 5.1 S| 5.7 5.7
2. 5x8xD4x50  |R1. 25x5xD4x50 201256 2.7 ] 3.1 4.6 5.1 5.1 5.715.7
3. 0x8xD3x50  |R1. 5x6xD3x50 20| 2.6 2.7 | 3.1 4.6 5.1 5.1 57|57
3. 0x12xD3x75 |R1. 5x6xD3x75 3.1 139 4.4 5.1 7.1 7.7 7.7
3. 0x15xD3x100 |R1. 5x6xD3x100 3.6 | 4.4 50( 5.6 8.7 8.7 8.7
3. 0x8xD4x50  |R1. 5x6xD4x50 20 2.6 2.7 3.1 4.6 5.1 5.1 5.7 5.7
3. 5x10xD4x50 |R1. 75x7xD4x50 20126 2.7 ] 3.1 4.6 5.1 5.1 5.715.7
4. 0x10xD4x50 |R2. 0x8xD4x50 1.712.6]1 341273114944 46] 6.0 6 6.7 5161|5651 [61]57]|57]|76
4. 0x20xD4x75 |R2. 0x8xD4x75 22913.6|50[44]51] 61 711 7.9 6.6 816781 7.7|(7.7]|8.7
4. 0x25xD4x100 |R2. 0x8xD4x100 3.3141)164]150)5.4]|77 7.6 1 9.0 7.8 19.117.9(19.1]18.7]8.7]10.0
5. 0x13xD5x50 |R2. 5x10xD5x50 3.7 147 6947|5677 8.1(9.3 9.5 [11.6( 9.6 [11.6[10.7]10.7(12.3
5. 0x13xD5x75 |R2. 5x10xD5x75 5361 7.7(7.4(81(91 11.3(13.5 13.0113.0]14.7
5. 0x13xD5x100 [R2. 5x10xD5x100 | 6.6 | 7.6 [ 11.0[ 8.9 | 9.6 | 11.1 13.0(15.7 15.3116.3|17.1
5. 0x13xD6x50 |R2. 5x10xD6x50 3.7143)6.4]|147)157]|8.4 8.1[19.3 9.5 [11.6] 9.6 [11.6[10.7]10.7[12.3
6. 0x15xD6x50 |R3. 0x12xDéx50 3114364475784 7.4]181]93]|94]10.5]9.5(|11.6]|9.6]11.6]110.7]10.7]12.3
6. 0x20xD6x75 |R3. 0x12xD6x75 4.9 (56| 7.1(7.4(8.1([10.0 11.1(12.4 11.4(13.6(11.4(13.6[13.0|13.0(14.7
6. 0x30xD6x100 |R3. 0x12xD6x100 | 6.0 | 7.0 | 10.3| 8.9 | 9.6 | 11.4 13.6(15.0 13.4(16.3(13.4(16.3[15.3|15.3|17.3
6. 0x30xD6x150 [R3. 0x12xD6x150 | 12.3 | 14.3[18.7[18.7[19.9]23.4 27.6 26.5 26. 6 26.3126.3]129.7
8. 0x20xD8x60 |R4. 0x16xD8x60 5.9 7.6 [10.4( 8.4 (10.0(13.3| 13 [13.9(156.2[156.3(16.5[15.3[18.4(15.3(18.4[17.6]|17.6|20.3
8. 0x25xD8x75 |R4. 0x16xD8x75 8.1(9.4(11.6({11.0(12.4{15.3 17.6119.3 17.7(21.1(17.7(21.1120.0|20.0(22.6
8. 0x35xD8x100 [R4. 0x16xD8x100 | 9.6 | 11.1[14.0[14.0[15.4|19.6 21.4123.8 22.1126.6122.1|26.6125.0]25.0|28.7
8. 0x40xD8x150 |R4. 0x16xD8x150 | 19.0|22.129.0|25.9|27.3|32.3 35.4 37.1 37.1 41.0141.0]45.0
10x25xD10x75 |R5.0x20xD10x75 | 9.6 | 12.7|16.6]115.1]|16.6|21.6|21.4123.3|25.7(24.3|26.2(24.7]30.3(24.7|30.3(27.7(27.7{32.0
10x40xD10x100 |R5. 0x20xD10x100| 14. 6| 16.9 | 21.0]20.3|21.3 | 29.1 30.3(33.1[32.5|34.8(31.3|37.4(31.3|37.4(31.7(31.7(37.3
10x45xD10x150 |R5. 0x20xD10x150| 28. 1 | 32.9 | 41.7]39.4|41.7148.3 56. 1 54.4 54. 4 54.7154.7]63.0
12x30xD12x75 |R6. 0x24xD12x75 | 14.9|17.4122.0121.1|23.3|28.7|28.3]33.1|36.4(32.9|35.5(32.6|39.4(32.7|39.4(37.0(37.0(42.0
12x45xD12x100 |R6. 0x24xD12x100| 19.4 | 22. 6| 28.1(27.7|28.7|37.0 40.4144.5)|148.6|52.4143.5|47.3|143.6|47.3147.0|47.0|53.0
12x50xD12x150 |Ré. 0x24xD12x150| 34. 3 | 40.0 | 50.7]49.3|52.160.3 72.9 70.7 70.7 77.6177.6]85.6
14x35xD14x80 |R7.0x28xD14x80 | 25. 6| 29.7 32.3]34.1 49.3 54.3| 58
14x40xD14x100 R7. 0x28xD14x100| 27. 1 | 31.7 34.6]38.0 52.9 54.4 54.4 61.0|61.0(70.6
14x60xD14x150 |R7. 0x28xD14x150| 49. 6 | 57. 9 64.6] 68.3 95.4 91.2 91.1 100. 6|100. 6
16x40xD16x100 R8. 0x32xD16x100| 35. 7 | 38. 9 51.0153.0 63.6174.0 67.4| 73 |72.8 72.9 78.7(78.7(91.3
16x65xD16x150 |R8. 0x32xD16x150| 63.3 | 73. 9 86.0/91.0 129.0 116.3 116.3 127.6|127. 6[143.0
18x40xD18x100 |R9. 0x36xD18x100| 43. 3 | 50. 4 59.1165.1 89.7 82.3]|87.9188.4 88.4 96.7196.7(111.3
18x65xD18x150 |R9. 0x36xD18x150| 74.9 | 86. 7 101.3|101.3 148. 1 153.1 153. 1
20x40xD20x100 [R10x40xD20x100 | 52. 7 | 57. 6 73.1175.9 95.3(106.7 93.51102.9|105. 5 105. 4] 115.7|115.7(133. 7
20x65xD20x150 |R10x40xD20x150 | 86. 3 |100. 7 126.11126.1 168. 3 180. 3 180. 3 196. 3|1196. 3(220.0
55 ° Decimal Point Non-Standard Flat-woxp 2 qio 55 ° Decimal Point Non-Standard Ball woxg 21 qio WONR 20177 910-NTD TTINA AINT WOYNN'T |77 AVOKRP A2'7'0 10-Y7'9 TT7RN AIKT7 WOYNKR'T |77
55° Decimal Point Non-Standard Flat-End Milling Cutter 55° Decimal Point Non-Standard Ball End Milling Cutter 70 60 Wl 7R0W [TV i ah! 60 woal 7ROY |TMIv vayvp
e Small Diameter Long Neck Flat-End Milling Cutter Small Diameter Long Neck Ball-End Milling Cutter
mE m ‘ e CutSteel Below 50 HRG , Gan Gt stee b0 HRG .
_ D1l e |D=4mm RT (e ——|p=4mm
e e —
D1. 1-D3. 9xD4x50 4.3 RO. 6-R1. 9xD4x50 4.7 ' IUNN
D4. 1-D5. 9xD6x50 6.9 J2'IX 7RINYDI* 2212 IWKRL WTY! RO 1mm ol ob e ot o SO
D6. 1-D7. 9xD8x60 12.4 "RO. 5-R1. 5xD4x75 69 0.3 |2/3/4 4.6 53 03 |2/3/4 4.6 | 53
D8. 1-D9. 9xD10x75 204 RO 5-R1. 5xDAx100 76 0.4 |2/3/4/5/6 4.6 | 53 0.4 |2/3/4/5/6 4.6 | 53
D10. 1-D11. 9xD12x75 29.0  RO.5-R2. 0xD6x50 7.6 0.5 | 2/3/4/6/8 46 | 5.3 0.5 | 2/3/4/6/8 4.6 5.3
121X 7XIY0)' 3012 WKL WY 0 fimm RO. 5-R2. 5xD6x75 10.7 0.6 | 2/3/4/6/8 4.6 | 53 0.6 |2/3/4/6/8 4.6 | 5.3
D1. 0-D3. 0xD4x75 6.0 RO.5-R2. 5xD6x100 12.6 0.7 | 3/4/6/8/10 4.6 | 5.3 0.7 | 3/4/6/8/10 4.6 | 5.3
D1. 0-D3. 0xD4x100 6.4 J2'IR 7R1TW 01 22121 IR WTY! RO| 25mm 0.8 | 3/4/6/8/10 4.6 5.3 0.8 | 3/4/6/8/10 4.6 5.3
D1. 0-D4. 0xD6x50 6.4 "Rax120 20.7 0.9 | 3/4/6/8/10 4.6 | 5.3 0.9 |3/4/6/8/10 4.6 | 5.3
D1. 0-D5. 0xD6x75 9.6 R4x200 43 6 1.0 | 6/8/10/12/15/20| 3.9 | 4.6 1.0 | 6/8/10/12/15/20| 4.6 | 5.3
D1.0-D5. 0xD6x100 | 11.9  ps o9 254 1.5 |6/8/10/12/15/20| 3.9 | 4.6 1.5 | 6/8/10/12/15/20| 4.6 | 5.3
52';5;')'(‘5“81 BEREE RS —— R5X200 40.3 2.0 | 8/10/12/15/20 3.9 | 46 2.0 |8/10/12/15/20 | 4.6 | 5.3
D4x15xD4x50 40 R6x120 42.6 2.5 |10/12/15/20 3.9 1 46 2.5 10/12{15/2? 7 4.76 g 5.3 ﬁ
" . T A AVORR 227N 910 UNYD TR 7OV TTINA AINY WOYNNIT M7
ggxggxggxgg 162 94 Egi%gg 18564 97 g&%gﬂﬁg;:ﬁm” e Mm: ‘wm‘cnx TCN’F ' Small Diameter Long Neck Round Nose Flat End Milling Cutter
DB40xD8x120 20,7 R10x200 222.9 Sicel Below 8O HRG e eroen ot s 1
D8x200 A3 6 TNV VYR WOKRP 2117 q10-1X79 WOYNK'T-KIP'M L1 o ﬂm_m
D10x30xD10x75 20.4 &?c;:ot-il())\;nl{gélr}}\(a?-%nd Milling Cutter Can Cut R‘I- - TiD=4mm DLs — "‘
D10x35xD10x75 20.4  SteelBelow 60 HRC N Vsl somm i D1 R L1 021'UNN
D10x50xD10x100 26.1 D1 T i) D=4mm ‘ ‘ D1RO. 1 4/6/8/10 10.3
D10x45xD10x120 32.4 LH*U L=50mm ot D1RO. 2 4;6;8/1/02 10.3
D10x200 64.3 D1.5R0. 1| 6/8/10/1 10.3
D12x35xD12x75 27.4 D'XNDF:'DD'{WO ”'XNE'S'E”DO INECRERGEY  D1.5R0. 2| 6/8/10/12 10.3
D12x50xD12x100 34.7 D2RO. 1 8/10/12/16 | 10.3
D12x45xD12x120 42.9 8 ZxDixS% 4.6 5.3 Rg. 125x24x80 5.4 D2R0. 2 8/10/12/16 | 10.3
D12x200 86.9 . 4xD4x5! 4.6 | 5.3 RO. 2xD4x5 5.4 D3RO.2 | 12/16/20 19.3
D13xD14x100 54.7 0. 5xD4x50 4.6 5.3 RO. 25xD4x50 5.4 D3RO. 5 12/16/20 19.3
D15xD16x100 66.7 0. 6xD6x50 4.6 5.3 RO. 3xD6x50 5.4 D3RO. 5 26/30 24.6
D16x50xD16x100 63. 1 0. 7xD6x50 4.6 5.3 RO. 35xD6x50 5.4 D4RO. 2 16/20 19.3
D16x200 154.7 0. 8xD8x50 4.6 5.3 RO. 4xD8x50 5.4 D4RO. 5 16/20 19.3
D20x200 222.9 0. 9xD8x50 4.6 5.3 RO. 45xD8x50 5.4 D4R0. 5 26/30 24.6

7RXON |IX W'OW 0D TTI7{707' 719 [2'IX.
TOIWITRINMYL 'K TUID [K'OZNOINI0 IN7INT.
yor ,ak19 1 arn vk 2k Email: eva@mzgtool.cn

http:// www.mzg.tw


http://www.mzg.tw

AWONRP YT'AIXR? TYVIYNYO

Cemented Carbide Cutter

AYORP 217 DR/ Y7 PR VISR
Single-Edge Acrylic / Aluminium Milling Cutter

3-IXVOAINV TN TWUKP 21'7'7'N WOKRL TYUTTY

770 55 qwoa1 Row [TY vayp TROY

21'7' VT 111NA-0 7'Vo |XUO02IXL

MYY [RYORFR T

Viyp
ove S| e M\ ling

3-Edged Taper Milling Cutter For Tungsten Cuﬁef Can Cut Steel Below 55 HRC
770 55 o1l IRow TV (Vayy '7Nl;h 1 . yohe, D2
D1Em—‘ D TaRwIyn't [riiq)e TIXwIyYn'T 7'"Mos Jj
L1 L D1 a° L1 D2D L 3F UsD D1 a® L1 D2D L 3F UsD TIRwINT 719
D1x0. 5°x4LxD1. 07xD4x50Lx3F | 6.9 D4x0.5°x15LxD4. 26xD6x50Lx3F |11.9 DIR D L UsD
D1x1°x4LxD1. 14xD4x50Lx3F 6.9  D4x1°x15LxD4. 52xD6x50Lx3F 11.9 D4x0.5HxD1. 5xD6x50 | 6. 4
TINWIYN'T W D1x1.5°%4LxD1. 21xD4x50Lx3F | 6.9  DAx1.5°x15LxD4. 79xD6x50Lx3F |11.9 D4x1HxD1.5xD6x50 | 6.4
General1' W' 7X D1x2°x4LxD1. 28xD4x50Lx3F 6.9 D4x2°x15LxD5. 04xD6x50Lx3F  |11.9 D4x1.5HxD1. 5xD6x50 | 6. 4
D1 L1 DL SRRURTE. D1x3°x4LxD1. 42xDAx50Lx3F 6.9 D4x3°x15LxD5. 57xD6x50Lx3F  |11.9 D4x2HxD1.5xD6x50 | 6.4
D1x5°x4LxD1. 7xD4x50Lx3F 6.9  D4x5°x15LxD6. 62xD8x60Lx3F 18.1 D4x3HxD1. 5xD6x50 6.4
D2x6xD3. 175x50 2.0 D1.5x0. 5°x5LxD1. 59xD4x50Lx3F| 6.9 D4x8°x14. 93LxD8xD8x60Lx3F  |18. 1 D6x0. 5HxD2. 5xD8x50 | 10. 4
D2x8xD3. 175x50 2.0 D1. 5x1°x5LxD1. 67xD4x50Lx3F | 6.9 D4x10°x15LxD9. 29xD10x75Lx3F [28.9 D6x1HxD2. 5xD8x50 | 10. 4
D2x10xD3. 175x50 2.0 D1. 5x1. 5°x5LxD1. 76xD4x50Lx3F| 6.9 D4x15°x14. 93LxD12xD12x75Lx3F|39. &6 D6x1. 5HxD2. 5xD8x50 | 10. 4
D2x12xD3. 175x50 2.0 D1. 5x2°x5LxD1. 85xD4x50Lx3F | 6.9 D6x0. 5°x20LxD6. 35xD8x60Lx3F |18. 1 D6x2HxD2. 5xD8x50 10. 4
D2x22xD3. 175x50 2.0 D1. 5x3°x5LxD2. 02xD4x50Lx3F | 6.9 D6x1°x20LxD6. 7xD8x60Lx3F 18.1  D6x3HxD2. 5xD8x50 10.4
D2. 5x8xD3. 175x50 2.0 D1. 5x5°x5LxD2. 37xD4x50Lx3F | 6.9 D6x1.5°x20LxD7. 05xD8x60Lx3F |18. 1 D8x0. 5HxD3. 5xD8x60 | 16. 9
D2. 5x15xD3. 175x50 2.0 D2x0. 5°x6LxD2. 1xD4x50Lx3F | 6.9 D6x2°x20LxD7. 4xD8x60Lx3F 18.1 D8x1HxD3.5xD8x60 | 16 9
D2. 5x22xD3. 175x50 2.0 D2x1°x6LxD2. 21xD4x50Lx3F 6.9 D6x3°x19LxD8xD8x60Lx3F 18.1 D8x1.5HxD3.5xD8x60 | 16. 9
D3. 175x12xD3. 175x50 | 2.0 4.0 4.3 D2x1. 5°x6LxD2. 31xD4x50Lx3F | 6.9 D6x5°x20LxD9. 5xD10x75Lx3F 26.9 D8x2HxD3. 5xD8x60 16.9
D3 175x15xD3. 175x80 | 20 | 4.0 | 45 D2x27x6LxD2. 41xD4x50Lx3F 6.9 D6x8°x20LxD11. 62xD12x75Lx3F [39. 6 D8x3HxD3.5xD8x60 | 16.9
2 UARICELIES, 1) Aok : : : D2x3°x6LxD2. 62xD4x50Lx3F 6.9 D6x10°x17LxD12xD12x75Lx3F  139. 6 D10x0. 5HxD4xD10x75 | 24. 6
D3. 175x17xD3. 175x50 | 2.0 | 4.0 | 4.3 pjy50,60 xD3. 05xD4x50Lx3F 6.9 DBx0.5°x25LxD8. 44xD10x75Lx3F|28. 9 D10x1HxDAxD10x75 | 24. 6
D3.175x22xD3. 175x50 | 3.1 | 4.3 | 4.7 D340 5°%10LxD3. 17xD4x50Lx3F | 6.9 D8x1°x25LxD8. 87xD10x75Lx3F |28.9 D10x1. 5HxD4xD10x75 | 24. 6
D3. 175x25xD3.175x50 | 3.4 | 4.3 | 4.7  D3x1°x10LxD3. 35xD4x50Lx3F | 6.9 D8x1.5°x25LxD9. 31xD10x75Lx3F|28. 9 D10x2HxD4xD10x75 | 24. 6
D3. 175x28xD3.175x50 | 3.9 | 5.7 | 6.1 D3x1.5°x10LxD3. 52xD4x50Lx3F | 6.9 D8x2°x25LxD9. 74xD10x75Lx3F |28.9 D10x3HxD4xD10x75 | 24.6
D3. 175x32xD3. 175x50 | 4.0 6.4 6.9 D3x2°x10LxD3. 69xD4x50Lx3F 6.9 D8x3°x25LxD10. 62xD12x75Lx3F [39. 6 D12x0. 5HxD5xD12x75 | 31.9
D3. 175x42xD3. 175x60 | 7.9 9.3 9.7  D3x3°x9. 5LxD4xD4x50Lx3F 6.9 DB8x5°x22.8LxD12xD12x75Lx3F |39. 6 D12x1HxD5xD12x75 31.9
D3. 175x52xD3. 175x70 | 10.3 | 12.1 | 12.6 D3x5°x10LxD4. 75xD6x50Lx3F  |11.9 D12x1. 5HxD5xD12x75 | 31.9
D4x12xD4x50 4.7 | 5.4 | 6.1  D3x10°x10LxD6. 53xD8x60Lx3F | 18. 1 D12x2HxD5xD12x75 | 31.9
D4x15xD4x50 4.7 54 6.1 D3x15°x13. 06LxD10xD10x75Lx3F|29. 0 D12x3HxD5xD12x75 31.9
D4x17xD4x50 4.7 5.4 6.1 AVORP 270 lﬁvl' YXOY [RVOAINY x)lﬁlrga]lmn :'ND)IIINT 2100 |KVOAINV VIKRKIA 7172 IROW [KVOAINUY
770 55 2o Ix0w T vy ahl YOI IROY [THIY VIV WORP 7NOW [TV [VIV7 WWONZ TWONKWY
Biggigiigg g' g g;‘ 2‘1 Tungsten sty le Inner R Milling Cutter Tongaton atyle Dovetall Groove Milling 58 AWONHRG (80 °190 1120
- . - Can Cut Steel Below 55 HRC Cutter Can Cut Steel Below 60 HRC Tungsten style Straight Groove
giiggigiigg 2 2 g l ; g R-, D Xﬂu D2 Chamfer Cutter Can Cut Steel
D4x42xD4x60 10.3 [12.1 [12.9 D@-ﬁ—-—"—-’”@ D1 %—ID Below BB HRCE s
D4x52xD4x70 13.3 |17.1 |17.9 —t :
Déx12xDéx50 9.3 | 10,0 [11.4 30" > T— 1 D
D6x15xD6x50 9.3 |10.0 [ 11.4 TaRvIN'T TSy mRUwn'T 2 ! L |
D6x17xD6x50 9.3 |10.0 [11.4 DIR.D.L UsD § Dia® D2L1DL
D6x22xD6x50 9.3 110.0 [11.4 D4RO0. 5xD4x50 6.7 D4x90°xD1.5x6xD4x50 | 6. 4 |NELIENEAERENENToRE LG
D6x25xD6x50 9.3 110.0 1 11.4 D4R0. 75xD4x50 6.7  D6x90°xD2. 5x8xD6x50 | 10. 4 D L
D6x28xD6x50 1.1 1121 113.6 D4R1. 0xD4x50 6.7  DBx90°xD3x6xD8x50 16.9  D1xD4x50L 46150
D6x32xDéx50 11.1112.9 [14.3 D6R1. 0xD6x50 11.9  D10x90°xD4x10xD10x60 | 24. 6 D2xD4x50L 4.6 5.0
D6x42xD6x60 15.7 (17.7 | 19.3 D6R1. 5xD6x50 11.9  D12x90°xD5x12xD12x60 | 31.9 D3x50L 46150
D6x52xD6x70 20.3 122.3 | 25.7 D6R2. 0xD6x50 11.9 D4x50L 46150
D6x62xD6x80 25.0 132.1 33.6 D8R2. 0xD8x50 20.0 D5x50L 8.69.3
D6x72xD6x90 31.4139.3 140.7 D8R2. 5xD8x50 20.0 D6X50L 8.69.3
D8x20xD8x50 19.7 133.3 [ 42.6 D8R3. 0xD8x50 20.0 D8x60L 13.6|14.3
D8x32xD8x50 19.7133.3 | 42.6 D10R4. 0xD10x60 29.1 D10x75L 20.0(21.1
D10x20xD10x50 35.3135.7 149.3 D12R5. 0xD12x60 40. 1 D12x75L 26.9(27.9
D1 0X32XD1 OXSO 35 3 35 7 49 3 [XUOAIRL IXD WK 21'7'n Y7Y'XYD0 ZRIT W' VI'19-0P'VOVYDOIND 7KUY [KVOAIND
D12x20xD12x50 46.9 |1 50.0 [53.6 DR 'TVRW'Y T'OWIN 7RO |T"IY |YIYP TWONNYL [IX 0I'ID VOF'D |19 X1
D12x32xD12x50 46.9 [50.0 [53.6 770 55 1011 70w [Ty Vv Fw58 wuai oy
Special Milling Cutter for Tungsten 7'00 |RVOAIXU Fixed-point Drill Dual
::g ;;:uuuujl\::s:;r_:: ;vwolci}r::;:m wx1190 77'17 7'00 [KVO0AIXD axa 7'oo |XRU0OAIXL (S:laenei:lgtvgr"leeedl é);zsv[;iseHFéaCme Use Of Fixed Point And Chamfer Can Cut
Spiral-Edged 700 |RUOAIXV ReameFungsten Steel Drills Tungsten Steel Bar SteelBelowsg HRE
Can Cut Steel Below 55 HRC D1IWID ———————— i
ZW}D . L ‘L—‘ ” $F§
Y — T | 118¢>o§-$“:30 LEJED ‘ ! ke .
TINWIYN'T ' TINWIYN'T
L L] 19 55° 60° R
D3x50xD3x100Lx4T | 7.6 rakwayn'T 9L TIRWIYNIT .
D4x50xD4x100Lx4T 8.1 USD USD_slSh Bﬁi%giﬁﬁi?go 11 1 % (Qoxz yaxiw J2wa) a-0inp
D5x50xD5x100LXx6T 1.1 D1.0-D1.5 1.9  D3x100L 2.4 3.6 D8x30xD8x60 12.1 TAINWIYN'T ALOA1'UN
D6x50xD6x100Lx6T | 13.3  D1.6-D2.0 2.4 D4x100L 3.91 6.0 D10x30xD10x75 20.4 DXL
D8x50xD8x100Lx6T | 21.1 D2.1-D2.5 2.6 D5x100L 6.1 1 7.4 D10x45xD10x100 26.1 D1xD4x50L 3.3]3.9
D10x50xD10x100Lx6T | 30. 7  D2.6-D3.0 3.3 Dé6x100L 7.4 8.6 D12x35xD12x75 27.1 D1.5xD4x50L | 3.3 | 3.9
D12x50xD12x100Lx6T | 40. 7 D3.1-D3.5 4.0 D8x100L 14.3121.17  D12x50xD12x100 34.7 D2xD4x50L 3.313.9
D3. 6-D4. 0 4.7 D10x100L 21.4132.4  D16x50xD16x100 57.9 D3xD4x50L 3.3 3.9
A" 7XOV [XOOAIRG TWTTY=Y 73 D4.1-D4.5 5.4 D12x100L 31.1(46.9 D3x100L 6.116.9
770 55 il txow | TMw (vavp . .
D4.605.0 | 6.9 e I 217 721 DAXSOL 33139
gg?‘gm‘giﬁ?%;ﬁﬁzﬁaRséee‘ Reamer gg 16:32 g ; Z :ﬁn 58 Wulll ‘7)|(ou| | TV VIV TWONRYO ggX;gEL 2 (1) 2 Z
TEE=—===sD 061065 1.1 Doiteens Tynasenste Pedent 0oL 12.1]12.9
D'”‘—" L1 L ‘ D6. 6-D7.0 12.9 Chamfer Can Cut Steel Below 58 HRC D6X50L 6.0 6.4
‘ ‘ D7.1-D7.5 16.9 D6x100L 12.1)12.9
TaNwayn'T D7. 6-D8. 0 18.9 D8x60L 11.1[12.1
DI L1DLT D D8. 1-D8.5 22.4 D8x100L 19.0]20.0
D3x50xD3x100Lx4T 6.0 D8. 6-D9. 0 24.7 D10x75L 18.9119.3
D4x50xD4x100Lx4T 6.4 D9. 1-D9. 5 28.3 D10x100L 27.1(28.3
D5x50xD5x100Lx6T 8.9 D9. 6-D10. 0 30.7 D L D12x75L 25.4|27.1
D6x50xD6x100LXx6T 9.6 D10.1-D10.5 35.7 D3x100L-DB 7.4 1 8.1 D12x100L 37.9138.9
D8x50xD8x100Lx6T | 14.6  D10.6-D11.0 | 37.4 D4x100L-DB 7.4 181 D14x100L 51.4]52. 6
D10x50xD10x100Lx6T | 22. 1 D11.1-D11.5 46.0 D5x100L-DB 14.3115.0 D16x100L 64.0|65.7
D12x50xD12x100Lx6T | 30. 0 D11.6-D12.0 50.0 D6x100L-DB 14.3115.0 D20x100L 94.6196.9

INYOK [IX WW'OW L0119 TTI7P0R! TH19 |2'IN.
TOI W TRIMWY 'K TMID [K'OFNOIXIV IRYINT.
yura,ax19 1 axn 1k 2k Email: eva@mzgtool.cn

http://www.mzg.tw


http://www.mzg.tw

Extrusion Screw Tap
Extrusion Screw Tap

1Yaviyn yo'os x DV

Extrusion Screw Tap A0 WO'S X DYIND . nyaxD yoril Kion DYIND yO'II

Extrusion Screw Tap IR FIALT))

(/'O LAYPIND)

M3. 0x0. 35 RH6 | B 70 | 7.9 M4x1.0 RH8 | B 26.1 | 28.9
M3. 0x0. 5 RH4 | P 4.7 | 5.4 M14x1.25 RH8 | B 26.1 | 28.9
RH4 | B 4.7 | 5.4 M14x1.5 RH8 | B 26.1 | 28.9
o RH5 | P 4.7 | 5.4 M14x2.0 RH8 | B 26.1 | 28.9
RH5 | B 4.7 |54 "MI6x1.0 RH8 | B 34.0 | 37.1
o i bl by s s
B [T - " RH6 | P 4.7 | 5.4 M16x1.25 RH8 | B 34.0 | 37.1
A RH6 | B 4.7 | 5.4 MI6x1.5 RH8 | B 34.0 | 37.1
Tin RH7 | P 4.7 | 5.4  MI6x2.0 RH8 | B 34.0 | 37.1
VA0V WO'S X DYTXD " RH7 | B 4.7 | 5.4
(/0'0 VIYFIND) HéBlon DVIND yorl RH8 | B 47 | 54  UNFO-80 RH4 | P 57 | 6.1
RH9 | B 4.7 | 54 RH4 | B 57 | 61
mg 2"8- ]§5 Y 191 -30 ]g) g M3. 0x0. 5-80L 8.9 UNCT—64 RA4 | B 57 61
H o 155 S o 231100 me.0x0.5-100L 9.7 |10.4 UNF1-72 RH4 | B 7.4 | 7.9
W0 a0 i 2o ) we.ox0. 51501 17.6 | 18.3  TUNC2-56 RH4 | P 57 161
MO 9x0. 25 RH4 | B 67 |74 M3. 0x0. 5L0'0 LWIRES | B 6.7 | 7.4 RH4 | B 57 | 6.1
: : - : M3. 5x0. 6-100L 9.7 [10.4 RH5 P 5.7 | 6.1
L0020 E:i g g :3; 2 8 M3._5x0. 6Lu1n uaupRE0 B 6.7 | 7.4 RH5 B 5.7 | 6.1
R 23100 Waoxo.3s RH6 | B 71 [ 7.9 UNC2-56-100L 10.0 | 10.7
: : bELES RH6 | B 7.1 | 7.9 UNF2-64 RH5 | B 6.7 | 7.9
T — — e ox0-2 RH5 | P 4.7 | 5.4 "UNC3-48 RH5 | B 57 [ 6.1
- 1x0. il I Y X RH5 | B 4.7 | 5.4  UNF3-56 RH5 | B 7.4 | 7.9
- - RH6 | P 4.7 | 5.4  TUNCA-40 RH5 | P 4.7 | 5.4
1. 2x0.25 E:i g g g 2- 8 RH6 | B 4.7 | 5.4 RH5 | B 4.7 | 5.4
I e RH7 | P 4.7 | 54 RH6 | P 4.7 | 5.4
R | g A I RH7 | B 4.7 | 5.4 RH6 | B 4.7 | 5.4
- - RHS | P 4.7 | 54 RH7 | B 4.7 | 5.4
M1 4x0. 2 RH4 | P 71 7.9
RHS | B 4.7 | 5.4  UNC4-40-100L 10.0 | 10.7
M1. 4x0. 3 Eﬂj g g g 2- 8 RH9 | B 4.7 | 5.4 UNF4-48 RH5 | P 7.4 | 7.9
RH5 P 5: 3 6: 0 M4. 0x0. 7-80L 8.9 9.7 - RH5 B 7.4 7.9
i 23100 Waloxo. 7-100L 9.7 | 10.4 "UNC5-40 RH5 | P 53 ] 6.0
W1 4x0. 3-80L a1 5% W oxo 7-1s00 17.6 18.3 RH5 | B 53|60
W-0.3 Sy 2 oo TiosoasiaRle | B 6.7 | 7.4 UNG5-40-100L 10.0 | 10.7
- 5x0. e TS o o TR B 74 [ 8.3  UNF5-44 RH6 | B 7.4 | 7.9
i 503 R 21 1.7 ke RH7 | B 57 | 6.9 TUNC6-32 RH5 | P 4.7 | 5.4
JOX RH4 | B 170 mg 6;5- §§ RH6 | B 7.4 183 RH5 | B 4.7 | 5.4
: : -Gt} RH6 | B 7.4 | 8.3 RH6 | P 4.7 | 5.4
M1. 6x0. 35 il IS g 6.9 - 8§8- : RH6 | P 53 | 6.1 RH6 | B 47 | 54
: : - O RH6 | B 53 | 61 RH7 | B 47 | 5.4
Eng g 2 g 2- 8 RH7 | P 5.3 | 6.1 UNC6-32-100L 10.0 | 10.7
: - RH7 | B 53 | 6.1  UNF6-40 RH6 | P 6.7 | 7.4
m ‘7”‘8- 25‘3°L g ‘;- ? 170-94 RHS | B 5.3 | 6.1 RH6 | B 6.7 | 7.4
M1 7x0. 35 RH4 | P 53|60 M5 0x0.8-80L 9.3 | 10.3\" I Ruo* | P 50157
RH4 | B 53|60 M5 0x0.8-100L 10.0441.0 Rio | B 50 &F
RH5 | P 53 | 6.0 M5 0x0 8-150L 185193 RH7 | P 3.0 N7
: : - G0 & RH6 | B 7.1 | 8.1 RH7 | B 50 |57
i 802 EEZ g ?f gg M5-0x0-8LOTO U WIRYT | 5 74 183  UNG8-32-100L 10.0 | 10.7
i 8"0- - g [ A M6. 0x0. 5 RH7 | B 7.4 183  UNF8-36 RH7 | B 7.4 | 8.1
o B0, s | B R Mé. 0x0. 75 RH6 | P 5.3 | 6.1 _UNS8-40 RH6 | B 7.4 | 8.1
o ST > —51 M6. 0x1.0 RH6 | B 5.3 | 6.1 UNC10-24 RH6 | P 5.3 | 6.0
- 0x0. : : RH7 | P 53 | 61 RH7 | B 53 |60
12, 0x0. 4 Enj E Z; g-z RH7 | B 5.3 | 6.1 UNC10-24-100L 10.0 | 11.0
oAk ria | B 47 |54 RH8 | B 53 | 6.1 UNGC10-24Lu'o wke7 | B 7.1 ] 8.1
RH5 P 4' 7 5' 4 M6, 0x1. 0-80L 9.3 110.3 UNF10-32 RH7 P 6.7 | 7.4
: : . Ox1. 0~ 10.0 | 11.0 RH7 | B 6.7 | 7.4
Eﬂg E j— ; g j mé- SX]- gjog'[ 18.3 [ 19.3  UNF10-32-100L 10.0 | 11.0
O eomomeewpee - WEDBLsowgwe
\ ) b e I . . _ . A
RH7 | P 47154 M7.0x0.5 RH7 | B 9.3 |104 UNE12724 RH7 | B 67 | 7.6
UNF12-28
E:; E i ; g i W7. 0x0. 75 RH7 | B 9.3 [10.4  yNg12-32 RH7 | B 6.7 | 7.6
SAEEIE 5 o3 I AR AT R AR Y
M2..0x0. 4=100L 9.7 110. 4 M8.0x0. 75 RH7 | B 9.3 | 10.4  UNG1,/4-20-100L 10.0 [11.0
M2. 0x0. 4Lu'o LVWIRYS | B 71179 M8.0x1.0 RH7 | B 9.3 |10.4 B 7.1 | 8.1
M2. 2x0. 45 RHA | P 53160 Mg oxl 25 RHO | B 55 104 UNot/a-20L00 owirfyld | 6.7 | 7.6
RH4 | B 53 160 131 | 14 ¢  UNF1/4-28 RH7 | B 6.7 |76
M2. 3x0. 4 RH5 | P 47154 N8 0x1.25-100L 18.9 |20.3 RH7 | B 7.1 | 8.1
RH5 | B 4.7 | 5.4 N ox1.25-150L | RH7 | B 11.0 | 12,4 UNF1/4-28L0'0 0Wir 9 | 6.7 | 7.6
M2 3x0 4l 0o my ﬁﬁg g ; ] ;g 8. 0xT. 25L0'0 07 iwe | B 0.4 [12.1  UNEF1/4-32 RH7 | B 6.7 | 7.6
M2. 5x0. 25 : : M9. 0x0. 5 RH7 | B 10.4 | 12.1 UNST/4-36 RH7 | B 9.3 | 10.4
M2. 5x0. 35 RHe B LT wei0x0.75 RH7 | B 104 [12.1  UNC5/16-18 RH7 | B 1.1 126
M2.5x0. 45 R4 | B 4y |2, M9.0x1.0 RH7 | B 10.4 [12.1 UNC5§16—18L0'0 VIPIRD 13.6 [ 15.0
: ’ M9. 0x1. 25 RH7 B 10.4 | 12.1 UNC5/6-18-100L RH7 10.0 | 11.1
i I SI T mox.s RH7 | B 104 [12.1 UNF5/16-24 RH7 1.0 ] 13.1
ael p 47 |54 M10x0. 75 RH7 | B 10.4 | 12.1 UNC3/8-16 15.3 [ 16.7
RG> P S5 moxd.o RH7 | B 10.4 | 121 UNC3/8-16-100L  RH7 | B 13.1 | 14.7
no | e Lol 2y miox12s RH7 | B 10.4 | 12.1 _UNC3/8-16Lu'0 0w ks | B 1.9 113.9
| B Lo moxis RH9 | B 10.4 |12.1  "UNC3/8-24 RH7 | B 14.6 | 16.4
A 59 24 15.3 | 16.7 _UNC7/16-14 RH7 | B 15.7 117.9
a0 | o5 mox1.5-100 20.3 | 21.7  TUNF7/16-20 RH7 | B 7.1 [19.7
M2. 5x0. 45-80L o7 |57 moxt s-1s00 RH7 | B 12.6 | 14,0 UNG1/2-12 RH7 | B 17.1 119.7
M2. 5x0. 45-100L B 7‘ 1 7 '9 M10x1. 5L 0 vayp hxGH7 B 1.9 113.9 UNF1/2=20
M2.5x0.45L015-93 -,-.-ir}'% - L — W1x1. 0 RH7 | B 1.9 [13.9 RH6 | P 53|60
M2. 6x0. 45 A SOl 2h w2xos RH7 | B 1.9 1139 W1/8-40 RH6 | B 53 |60
R e STl M2x0.75 RH7 | B 1.9 113.9 RH7 | B 53|60
il SOl 2a waxdo RH7 | B 11.9 113.9  W5/32-32 RH7 | B 53 |60
RH7 | B 47 |54 M12x1. 25 RH7 | B 11.9 113.9  W3/16-24 RH7 | B 54 | 6.7
Sl s mads RH7 | B 1.9 [13.9  W1/4-20 RH7 | B 9.3 |10.4
M2. 6x0. 45-100L ' ' M12x1. 75 RHS | B 11.9 1139 W5/16-18 RH7 | B 1.9 [13.9
19.7 [21.7  w3/8-16 RH7 | B 14.6 | 16. 4
M12x1. 75-100L 229 |25.0  W7/16-14 RH7 | B 17.1 [19.7
M12x1_75-150L RH7 | B 14.0 | 16,1 W1/2-12

M12x1. 75L0'0 DIVPIND
YNYON [IN W'0OW ,0"D TTIZPOP! 19 [2'IN.

TOIWATRIMYO 'R THID [K'OPROIRIV IRTINT.
voa k19 | axn ek anx Email: eva@mzgtool.cn http://www.mzg.tw


http://www.mzg.tw

9NV Oj7VON

21¥%7 10201Y7 WO'D X DYTRY

9NDL 0|7_\19N 21Y7 1VA0IVYY YO'D X DYTND Precision DVIND yO''II Tin (/ v'0 LIWPIXD)

Apex Tap

(/ 0'0 VIYPIND) Precision DYIARD yo''lI Tin

s - —) 70405 P2 6.7 | 7.9  UNG1/2-12 P3 1 115.3
i i M7. 0x0. 75 P2 67 | 7.9 UNF1/2-20 P3 14.6 | 16. 4
M7.0x1. 0 P2 6.0 | 7.4
yoii M8. 0x0. 5 P2 67 179 Wi/8-40 P1 4.7 |54
M8. 0x0. 75 P3 67 | 7.9 W5/32-32 P2 47 |54
RET— @ s 0x1.0 P3 6.7 | 7.9 W3/16-24 P2 4.7 | 5.4
\ PESSa—— M8. Ox1. 25 P3 6.0 | 7.4 Wr/32-24 P2 47 |57
Tin P4 6.0 | 7.4 W1/4-20 P2 4.7 | 5.7
R OB e ¥ W v8. 0x1. 25-100L 12.6 W5/16-18 P2 60 | 7.4
o vwrne) . Precision BYIKD w0l Tin Ry 18.3 W3/8-16 P2 7.9 | 9.6
M8. 0x1. 25 carce P4 433 WI/16-14 P3 11.9 [13.9
M1. 0x0. 25 P1 53160 “y9 0x0.5 P2 83 | 10  Wi/2-12 P2 13.1 | 15.3
M1.0X0. 25 Carbide P2 27. 6 M9 OXO 75 P3 8.3 10
M1.2x0. 25 P 53 160 - ox9- :
W 2x0.25 - 20 wMe.0xt0 P3 8.3 | 10
L R 20— W9.0x1.25 P3 7.9 | 9.6 PS1/8-28 canee P4 56.4
-2 . ol s Mok 2 83 [ 10 PS1/4-19 cave P4 91.7
- 4x0. - 23100 w0k 75 P3 8.3 | 10 PT1/8-28 casee P4 62.9
: : M10x1. 0 P3 83 | 10 PT1/4-19 cave P4 95.7
M1. 4x0. 3-80L 9.3
M10x1. 25 P3 8.3 | 10
M1. 4x0. 3 camice P2 22.4 M10x1.5 P3 7.9 | 9.6
M1.5x0.3 P2 57 [ 67 : H 70 1 96 NPS1/8-27 casice P4 56,4
M1. 6x0. 2 P2 67 | 7.4 _ NPS1/4-18 care
M10x1. 5-100L 14.6 P4 91.7
M1. 6x0. 35 P2 53 160 Miox1.5-150L 19.7 NPT1/8-27 cavise P4 62.9
M1. 6x0. 35-80L 9.3 M10x1. 5 cone P4 511 NPT1/4-18 cunae P4 95. 7
M1. 6X0. 35 Carbide P2 0. 0 21. 0 M11X1. 0 P3 10. 4 12' 6 :
M1.7x0. 35 P2 53 [ 60 405 = o
M1.7x0. 35 coee | P2 21, 0.1\ P o ARt
M1.8x0. 2 P2 67 7.4 : : :
M12x1. 0 P4 11.0 | 13.1
M1. 8x0. 35 P2 57 | 67
M12x1. 25 P4 11.0 | 13.1
M2. 0x0. 25 P2 67 | 7.4
2. 9x0.2 = ST 1Le wmaas P3 11.0 | 13.1
- UXE. P3 A7 e, M2x1.75 P4 10.4 | 12.6
o 2012 miax 751000 18.9
: : M12x1. 75-150L 22.4
M2. 0x0. 4-80L 8.3
M12X1. 75 Carbide P4 62.9
M2. 0x0. 4-100L 9.3 R o T
M2. 0x0. 4 carvie P3 19.7 : : '
M14x1. 25 P3 17.1 | 19.7
M2. 2x0. 25 P2 67 | 7.4
M14x1.5 P3 17.1 | 19.7
M2. 2x0. 45 P2 47 | 5.4
M14x2. 0 P2 15.7 | 18.3
M2. 3x0. 4 P2 47 (5.4
M16x1.0 P3 19.7 | 22.4
M2. 5x0. 35 P2 67 | 7.4
M. 21035 7 S0 miexos P3 19.7 | 22. 4
X P3 27 |2, Mmoext5 P3 19.7 | 22.4
51 PIl2E mexo P4 18.3 | 21
M2. 5x0. 45-80L 8.3 -
M2. 5x0. 45-100L 9.3 T 4 530
M2. 5X0. 45 Carbide P3 19. 7 UNF1 _72 P1 6- 7 7.4
M2. 6x0. 35 P2 6.7 | 7.4 ~Nopose = o R
M2. 6x0. 45 P2 4.7 | 5.4 £ A
M2. 6x0. 45-100L 9.3 e :
M3. 0x0. 35 ) 47 54 ﬂﬁgg_gﬁ (il o Z? >
M3. 0x0. 5 P2 4.0 | 47 a8 = S
ﬁj j- 8 j— ; UNF3-56 P2 6.7 | 7.4
: : UNC4-40 P2 47 (54
+0. 1 4.7 | 5.4 i IR
M3. 0x0. 5-80L 8.3 N a2
M3. 0x0. 5-100L 9.3 e : :
UNC4-40-100L 9.6
M3. 0x0. 5-150L 17.1 A o aod™y,
M3. OXO. 5 Carbide P3 19. 7 UNC5—40 P2 4' 7 - 4
M3.5x0. 6-100L 9.3 e : :
UNC5-40-100L 9.6
M4. 0x0. 35 P2 6.7 | 7.4 Unoe=32 5 e
M4. 0x0. 5 P2 47 |54 o R
M4. 0x0. 7 P2 4.0 | 47 By R
Ei j- 8 j- ; UNC6-32-100L 9.6
o SO Ll uNredo P2 6.7 | 7.4
: : : UNC8-32 P2 47 |54
M4. 0x0. 7-80L 8.3 o R
M4. 0x0. 7-100L 9.3 51 a2
M4. 0x0. 7-150L 17.1 TR o6 |
M4. 0x0. 7 carvie P3 19.7" " [RE R 2, 27 | 2
mg 8"8- g ﬁ; j- g g g UNC10-24 P2 47 |57
- 0x0. = S0 120 ucio-24-1o0L 9.6
5 SO0 uNEr0-32 P2 47 |57
o 29129 _uwr10-32-1000 9.6
: : : UNC12-24 P2 27 157
M5. 0x0. 8-80L 8.6 _
UNF12-28 P2 67 1 7.6
M5. 0x0. 8-100L 9.6 =
UNC1/4-20 P2 47 |57
M5. 0x0. 8-150L 17.9 o PR
M5. 0x0. 8 carnie P3 21.0 5 PP i
mg- 8"8- ?5 ﬁ; j- ; g ; UNG1/4-20~100L 9.6
MG, OX1- 0 P2 40 |2 UNcl/a-28 P2 6.7 | 7.6
aL2lle P3 40 |50 UNS1/4-32 P2 6.7 | 7.6
o 20120 uner1/436 P2 67 | 7.6
o 59129 Tunes/te-ts P3 60 | 7.4
: : : UNC5/6-18-100L 13.1
M6. 0x1. 0-80L 8.6 B
UNF5/16-24 P2 7.4 | 8.6
M6. 0x1. 0-100L 9.6 >
UNC3/8-16 P3 7.9 1 9.6
M6. Ox1. 0-150L 17.9 v
M6, Ox1. 0 carne P3 2.+ [ [
- Ot O caae 4 _UNF3/8-24 4 .
UNG7/16-14 P3 119139
UNF7/16-20 P3 12.6 | 14.7

7RXON |IX W'OW 0D TTIZ?P0R 719 [2'IN.
TOI W TXI'YO 'R TI9 [K'ONOIRIV IN7INT. -
yoa ,ax19 v axn vx 2tk Email: eva@mzgtool.cn http://www.mzg.tw


http://www.mzg.tw

9XD TYIIXXIA WU'IN1'90

Spiral Grooved Tap

§§ﬁ§ G ?‘S‘Qv“e”é'?‘a};” WO 0070 % BT pragision YOUIL Tin [ RYTHINN UOD M OIS oy oy i [T 000 OIS pron youIl Tin
M4. 0x0. 7 +0.1]4.7 [ 5.4 M2x0.5 P2 [11.0[13.1 UNF1/4-28 P216.7]7.6
mw-m_‘ P2 | 4 |47 M2x0.75 P2 |11.0[13.1 Pa|67 |76
D . P3 4 A7 M12x1.0 P2 111.0]113.1 UNF1/4-28-HT 1w 1B 7.4
yo'i P4 4 4.7 P4 {11.0(13.1 UNF1/4-28L0" N 'T’I?Fg 7.4 | 8.3
i M4. 0x0. 7-100L 9.3 M12x1. OLoo 0wirhwB2 | 126|147 (Nt raage > S | 6.7 | 7.6
m M4. 0x0. 7-150L 17.1 M12x1. 25 P2 110|181 yuca/aae P2 6.717.6
M4. 0x0. 7-AL P2 | 4 4 PA 11101131 \ING5/16-18 P2|6.0][74
Tin M4.0x0. 7-HT 1w | 1B | 4.7 | 6.1 m2x1.25L00 wmg% 12.6(14.7 P3|6.0|74
2209 WA0IVT YOS X DYTNS " . MA_0x0 7L nub R | 4.7 | 5.7 M12x1.5 11.0(13.1 P4| 6.0 7.4
(/0 owpanp)  Precision VOUIL T P2 4754 : P4 [11.013.1 13.1
M5. 0x0. 5 b3 laal s 5 112 6|14 5 UNC5/16-18-100L o2 |67
M1.0x0. 25 P1|5.3|6.0 P2 | 47154 M12x1.5L0'0 Uﬁ_\)ﬂmg_ 1111 0113 1 UNC5/16-18-AL 18170983
P2 5360 57 a0 M2x1.75 02 110 4015 6 UNC5/16-18-HT 11w : :
M5. 0x0. 5L0"0 LR, | © : \ : P21 7.4)18.6
P3|5.3]6.0 - 0x0. 821 47| 5.4 P3 [10.4]12.6 UNC5/16-18L0'0 Wi Wp| 7 4 | 8 ¢4
P4|53|60 M5.0x0.8 P2 | 4 |47 P4 |10.4|12.6 UNF5/16-24 pal 7486
M1.2x0. 25 P115.3|6.0 P3 4 | 4.7 18.9 B 10.0
P2|5.3|6.0 P4 | 4 |47 mgﬂ ;gjggt 22.4 UNF5/16-24-HTTw | po | 0 3 |10 4
M1, 4x0. 2 P1 6.7 7.4 M5 0x0.8-150L po | 4l 4 M2 T5HTTw | py |4y 1|4 5 UNG3/B-16 Ei ; g 3- 2
M1. 4x0. 3 P1]53 |60 M5 0x0.8-AL 1B | 4.7 | 6.1 WI2xT.75L0'0 OWRD | 17.1]19. 7 14.7]
P2 53|60 M5 0x0. 8-HTT'w P2 | 4.7 157 M4x1.0 P2 (17.1]19.7 UNC3/8-16-100L P2 |8 -3
P315.3]|6.0 M5.0x0.8LO'0O LW{PIRD | 4.7 | 5.4 M4x1.25 P2 [17.1(19.7 UNG3/8-16-AL 1B 9' 6110.4
P4 153|160 M6 0x0.5 P3| 4.7 |57 M4x1.5 P2 115.7]18.3 UNC3/8—16-HT 1w P2 19 6111.0
M1.5x0.3 Pl 6.7 7.4 P4 | 4.7 | 5.7 M4x2.0 P2 [19.7]22.9 L op2 | 93107
M1. 6x0. 2 Pl 6774 P2 [ 5.7]69 M6x1.0 P2 |19.7|22.9 UNG3/B-16L00 bwpwg | 73 |10 7
M1. 6x0. 35 P1| 53|60 M6 0x0.5L0'0 0WWIRD | 4.7 | 5.7 M1éx1.25 P2 [19.7]22.9 UNF3/8-24 Bl 121
P2 15360 M6 0x0 75 P3 | 4.7 57 M6x1.5 P2 [18.3]21.4 P 1110112 6
P3| 53|60 P4 | 4.7 | 5.7 -M6x20 UNF3/8-24-HT 1w | 00| o' 00
P4 |5.3]|6.0 P2 | 5.7| 6.9 P1 | 53] 6 TUNF3/8=24L0'0 UWJ KD |11 9|13 9
M1. 6x0. 35-HT 1w/ | 1B 6.9 M6.0x0. 75L0'0 VY AN 4.7 | 5.7 UNF0-80 P11 5.3 6 UNS3/8-32 P2 112. 61147
M1. 7x0. 2 PTL 67174 w6 0x1.0 P2 4 5 UNC1-64 Pl | 6.7 17.4 TNC7/16-14 P2 113.1115.3
M1. 7x0. 35 P1]5.3|6.0 P3 4 5 UNF1-72 PT 153 6 UNF7/16-20 P2 114 6116 4
P2 |5.3]6.0 P4 4 5 UNC2-56 P2 | 5.3 6 UNG1/2-12 ) )
P3| 5.3|6.0 9.6 P3 |53 ] 6 UNF1/2-20 P1147)54
P4 153160 mb 0x1.0-100L 17.9 P4 | 5.3 6 P2 4: 7 5: 4
M1.8x0. 2 PLI 67|74 N6 0x1.0-150L PL I 4 9.6 W1/8-40 P2l 47|54
M1. 8x0.35 P1 5.7 1 6.7 M6. Ox1. O—AL 1B | 4.7 | 6.1 UNC2-56-100L 1B | 6.1 6.9 W5/32-32 P2 147157
002 | PG T e b 2265 WG | 01 LA i |67 |87
M2. 0x0. 4 +0. 1) 5. - . ] : : 5 : W7/32-24
P lazlsa mé- 8)(:)' OLO'O VWPWD | 67 | 7.9 | Nc3-a8 Pt | 67|74 wras0 E% ‘7’- 8 (7)-2
p2 |4 7|54 M7.0x0.5 P2 | 6.7 7.9 TUNF3-56 PI | 4754 ws/16-18 P2 [11.9(13.9
P314.7|5.4 PA | 6.7 7.9 UNC4-40 P2 | 4.7 |54 W3/8-16 P2 13' 1 15' 3
P4 | 47|54 M.0x0.75 P21 7993 PRI AT wreta LN
- 9.3 . . . o
m'é’: gigﬁ ﬁ—J\EOL P1|4.7 |47 m; 8X?' 35Lu-u OWPmNS| 6 | 7.4 9.6 il 272- 94
M2.0x0. 4-HT Ty | 1B | 5.4 )67 SOXL g% (,7)‘71 gg UNG4-40-100L ?é gz o 7 PS1/8-28TWTRLOW'OMR7.9
MO O Al tatia amishnkd | 0.7 | 6.7 . . UNC4-40-AL . . PS1/4-144 R 9.3
MZ-OxO—4L0 00D 7717 4~ M7.0x1. 0LU'O LWHIRD | 6.7 | 7.9 | INGA=40-HT T Pl | 6.7 7.4 T ST :
M2. 2x0. 25 P1 4' 7 5' 4 M8.0x0.5 P2 | 6.7 1 7.9 UNFA-48 P2 4.7 |54 PS1/4~18 american standars 13.1
M2-2x0-45 Pl 47154 T P4 | 67179  UNCB-40 9.6 PS1/4-19 1TxTIxVO |[w'014. 6
M2. 3x0. 4 pi 57|67 M8 0x0.75 P2 7.9 9.3 | NOE—40-1001 P2 | 6.7 | 7.4 PS3/8-18 americen standars 17.1
M2-3x0- 40U U 67174 P2 | 6.7 7.9 "UNF5-44 P2 | 4.7 5.4 PS3/8-19TxTaxvo|wronal9-7
M2. 5x0. 35 10.1 53] 6.0 M8 0x0.75L0'0 vWiRRe| 67 | 79 UNG&-32 P3 | 4.7 | 5.4 PS1/2~14meran s 25.0
M2. 5x0. 45 b1l 47154 weoxto P2 |7.9|9.3 P4 | 4.7 | 5.4 PSt/2-14Tiggapo|wonayt
P2 | 4.7 5.4 +0. 1 6-67 ; 3 o Z (73 PS3/4-14 TRFi¥00|wrunn™
P31 4.715.4 M8.0x1.0L0'0 VWM : UNGC6-32-100L : PS1-11 TaXTIXVO WL
PA| 47|54 Mg ox1 25 86|75 UNC6-32-AL P24 07 pst11.1-2 .
9 3 P4 | 6 | 7.4 T P2 | 5.7 |67 g -
e UNC6-32-HT T S I 10.4
.50, 5L P11 4.714.7 ' HNC6=32E0T0 U WPTIR : 2~ PT1/16-28 TAXTINOO W' 15, 7
M2. 5x0. 45-AL 1B154]67 18.3 UNEeto VRP2 [ 4.7 5.4 135,
M2.5x0.45-HTT*w | p1 |57 | 6.7 Mg Ox1.25-100L | "2 . UNCE-32 P3 | 4.7 5.4 PT1/8728TRTIRO0 " 0N 15 7
W2.5x0. 45L0°0 oniiNs) 6.7 | 7.4 We.0x1.25-150L | L5 | 74| 1 PAl g 4|54 PTIZA9TIRTIROO 0N -
M2. 6x0. 35 P1|4.7]5 4 -M8-0xt-25-At P T79 06 P2 | 47 PT3/8-19 TAXTIXVO [W'0MQ ™"
M2. 6x0. 45 P2 | 4.7 |54 N8.0x1.25-HT T"'w d : o : PT1/2-14TWXTIXVO (W'D
P2 | 7.9 ] 9.6 UNG8-32-100L 1B | 5.4 6.7 7.9
P47 124 w8 0xt.25L00 0o 7.9 | 9.6  UNCB=32-AL P2 | 57|67 PI3/4-14TIRTINVO W00, 4
P4 g ; 5.4 M9.0x0.5 P2 | 10 |11.4 UNC8-32-HTT1"'w P2 | 6.7 | 7.4 PT1-11TXxTIXVO WivMa |15.7
. : M9. 0x0. 75 P2 | 7.919.6 UNC8-32LL'0 LWjKB2 | 4.7 | 5.7 19.7
M2.6x0.45100L | B |5 70/ 9. 0x1.0 P2 8.3 10 UNFB-36 P3 | 4.7 [ 5.7  NPTH/8-27 st 27.6
M2. 6x0. 45L0'0 LYTIND| 4. : M9. 0x1. OLL'V LAWFIRD | 8.3 | 10 UNC10-24 PA | 4.7 1 5.7 NPT1/4~18 smercon s 46.0
M3. 0x0. 35 P2 | 4.7 |54 ) : [ pa |83 10 ool American Standard
P3| 4.7 |54 M9-0x1.25 : : NPT3/8~18 anercan soncs
pi| 47|54 MOx0.5 P2 | 10 |11.4 P2 | 4.7 NPT1/2~14 preran sincra
P2 | 5.7 6.7 |MIOX0:75 P21 831 10 UNc10-24-100L 1B | 5.4 1 6.7 NPT1/4 duomin s
4.7|5.4 : UNG10-24-AL : -9 NPT1-11.1-2
M3. 0x0. 35Lu'u VY ﬁ"gt%é 4|47 M0x0. 7500 0WPIRD | 10| 11,4 UNG10-24-HT 1w P2 | 4.7 |5.7
3. 0x0.5 P2 | 4 |47 MOx1.0 18310 uneto-24r00 owinks | 5| 2]
PS4 47 5 | 50 |41 4 UNF10-32 ool
Pa| 4 L4 DI owre | % | ', 18 7.4
19731 : P2|7.919.6 urrn a0 son P2 | 7.48.3
M3. 0x0. 5-100L : : L P3 17996 g P2 | 4.7 5.7
MS.00.5190L | p2| 4 |40 WIOXI.25L000 OWPNED | S o | 0 0 UNFIO-32HTTW | po | 6 h | o g
M3. 0x0. 5-AL 1B 47161 MOx1.5 14.6 UNF10-32L0'0 DWPIRD | 6.7 | 7.6
M3—0x0-5—HT oy — 2 2/ 5.4 19.7 UNG12-24 P2 | 67176
W3- 0X0-SLOTOWRS [  TE v 79 R P2 47157
oy : : 1B ]9.3| 10 x P3 | 4.7 | 5.7
AEL 50 L P2 | 4.7 | 5.4 M0x1.5-100L P2 | 9.6 | 11 UNS12-36 P4 | 4.7 |5.7
M4. 0x0. 35 P3| 4.7 |5 4 ~MOXT5=150C P2 117 1131 UNC1/4-20 9 6
4. 0x0. 5 PA | 4.7 | 5.4 MOx1.5-AL P2 | 11 113 1 P2 | 47
P21 5.7 | 6.7 MOx1. 5-HT 1w P2 | 11 |13.1 UNGC1/4-20 1B 54|67
uA oo L M10x1. 5L0'0 LAWPIRB2 [10.4|12.6 UNG1/4-20-100L P2 |5.7]6.9
—0x0-5LG13 BN el NGt A O
M11x0. 75 UNC1/4-20-HT 11w
IRYENAR QVOW 01D TTIZ7077" T19 REHY4-20L 010 UKD
- ToI WhtrIXS'wU 'R 719 [K'OZNOINI0 INTINT.
yo ,ax19 [ axn vx 2tk Email: eva@mzgtool.cn http://www.mzg.tw


http://www.mzg.tw

[2INXLW X710 / DXV TINND

9NV V'l _]"ln on 22V7 1A0IYI YU'D X DUTRS o oy'T |7'l\)5"|7 INANVONWTTN 'T-IX 2257 1Va0IYY WO'S X DYTNS  External
: . /o Precision yo''il . . . o 3 yo''l
HT Straight Wire Tap l'o® Cegnie) AR-D Adjustable Circular Die (I 00 0w o) Diameter

UNFO-80 P1 4.3 UNFO-80 20 | 11.9
e UNC1—64 P1 .3 UNC1-64 20 | 10.4
UNF1-72 P1 5.0 UNF1-72 20 | 11.9
UNC2-56 P1 4.3 UNC2-56 20 | 10.4
UNF2-64 P1 5.0 UNC3-48 20 | 10.4
UNC3-48 P1 4.3 UNF3-56 20 | 11.9
UNF3-56 P1 5.0 UNC4—40 20 | 10.4
UNC4—40 P2 4.0 UNF4-48 20 | 11.9
2297 1203Y7 W'D X DYTRS " " P3 4.0 2107 12027 WO'S X DYTNS  E. | " UNC5-40 20 10. 4
(oo owpe) | Precision - VORI puyNCYERE P2 4.7 (oo owrwo)  oiameter V0" [RUIARSS 20 | 104
M1. 0x0. 25 P1 4.3 NG540 ° 9 1. ox0.25 20 33,1  UNF6-40 20 e
UNF5-44 P2 4.7 UNC8—32 20 | 10.4
M1. 2x0. 25 P1 43 S = S0 M.2x0.25 20 13.1 [ % | 119
M1. 6x0. 35 P1 4.3 o 2o W.4x0.3 20 13.1 [ % | 104
M1. 7x0. 35 P1 4.3 R o 47 M.5x0.3 20 13.1 [N 2% | «f\d
M1. 8x0. 35 P1 2.3 : M1. 6x0. 35 20 13.1 '
UNC8—32 P2 4.0 UNC12-24 20 | 10.4
M2. 0x0. 25 P1 2.7 M1.7x0. 35 20 13.1 ~
0.4 | 40 s B 0o wezds 2 | 1o
P3 40 “UNC10-24 P2 20  M2.0x0.25 2001 19 UNF1/4-28 20 | 11.9
P4 40 yNF10-32 P2 4.7  M2.0x0.4 2001 104 NSt /4-32 20 | 11.9
M2. 2x0. 25 P1 47 TUNCT2-24 P2 20 M2.0x0.4Lowo 080 | 1.9 NEF1/4-36 20 | 11.9
M2. 2x0. 45 P2 40 ynNF12-28 P2 4.7 M2.2x0.25 2001 119 UNes/16-18 25 | 11.9
mg gig- 315 E1z j—g UNC1/4-20 P2 20 D — ]8-2‘ UNF5/16-24 25 | 131
(R - UNF1/4-28 P2 4.7 x - UNC3/8-16 25 | 11.9
M2. 5x0. 35 P1 7.7 - M2. 5%0. 35 20 11.9 -
UNF1/4-32 P2 4.7 UNF3/8-24 25 | 13.1
M2. 5x0. 45 E% j— 8 UNC5/16-18 P3 53 M2.5x0.45 20 1?3 UNC7/16-14 25 | 11.9
: UNF5/16-24 P3 61  M25x045lwp s | 119 NE7/16-20 25 | 13.1
= E;‘ j— O UNEF5/16-32 P3 6.7 M2.6x0.35 20 ]g)z UNC1/2-12 25 | 11.9
v 2"8- Zg o i g UNC3/8-16 P3 69 _M2.6x0.45 20 1 UNF1/2-20 25 | 13.1
a (233 o 1o UNF3/8-24 P3 8.1  M3.0x0.35 20 o
o) 4o _UNEF3/8-32 P3 8.1 M3.0x0.5 20 e W/s-40 20 10.4
IR = 0 UNC7/16-14 P3 9.3 M3-0x0-5Levavh .‘ég o W5/32-32 20 10. 4
M3, 0x0. 5 % 55 UNF7/16-20 P3 10.4  M4.0x0.35 BN o Ws/16-24 20 10. 4
o 03 | 35 UNct/2-13 P3| 93 MAO0x0.5 2 17 w420 20 | 10.4
o S5 UNF1/2-20 P3| 10.4 M4 Ox0.7 28 10 We/16-18 25 | 11.9
M3 5X0 35 P2 4- 7 ) M4 \r)XG 7LU U Wy IK?O 11' 9 W3/8_16 25 11 9
M3: 5X0: 5 7 33 Tube Tapping M4. 5x0. 5 20 10. 4 W7/16-14 25 11.9
P3 33 PS1/16-28Twmnvo wony 67 WA BxU. 75 20 o W/22 25 1.9
P4 33 PS1/8=27 anercan s 6.7 M5.0x0.35 20 19
M4. 0x0. 35 P2 4.7 PS1/8-28 TAxmanvo wona | 67 M5. 0x0. 5 20 10. 4
M4. 0x0. 5 P2 | 47 PS1/A1 s oo 2.0 M5.0:0.8 20 | 1.9
M4, 0x0. 7 P2 3.3 PS1 /418 American stancara 79 “M5.0x0. 8LD'0 WK 1.9
P3 3.3 PS1/4-19 TAXTINVO W'0MA | 43 M6. 0x0. 5 20 1.9
P4 3.3 PS3/8~18 anercan sansars 131 M6.0x0.75 20 10.4
M4. 0x0. 75 P2 4.7 psS3/8-19 TanTinvo wuna| 47 4 M6.0x1.0 20 11.9
M4.5x0. 5 P2 4.7 PS1/ 214 pmerion stoncions 171 M6. 0x1. OLL'O LWPINDS 13.1
M4. 5x0. 75 P2 3.6 PS1/2-14TAXTINVO W' | 22, 4 M7.0x0. 5 25 13.1
M5. 0x0. 35 P2 4.7 i o | M7.0x0.75 25 11.9
M5. 0x0. 5 p2 | 47 PS¥/4-t4mmnoowoma| 381 gy 25 | 131
M5. 0x0. 8 P2 36 PSI-MTwTEBEB wona | 381 petgas 25 | 131
P3| 3.6 PSI-11.1-2 67  M8.0x0.75 25 | 13.1
P4 3.6 : M8. Ox1. 0 25 11.9
6. 0x0. 35 P2 5.3  PT1/16-28 T\NTINVO W'0™Y g" Z M8. 0x1. 25 25 13.1
M6. 0x0. 5 P2 4.7 PT1/8-28TINTINVO W'OMA| 44 4 M8.0x1.25L0'0 LIRS 13.1
M6. 0x0. 75 P2 A7 PT1/4-19TxTinvo w'ona| 183 M9.0x0.5 25 13.1
M6. 0x1. 0 Eg g 2 PT3/8-19 TWxTaxvo wroma| 25.0  M9.0x0.75 gg ]? ;
P4 3¢ PT1/2-14mxmxvo woma| 4.9 J’ﬁfg 8“1 25 25 131
- . UXT. A
M7. 0x0. 5 P2 6.1 PT3/4-14TXTIRVO W'D 6.7 M10x0. 5 25 13.1
M7.0x0. 75 P2 6.1 PT1-11 TAOXTINVO W'U'M2 8 6 M10x0. 75 25 13.1
s SR A mme |z n
-G : 18.3 x1. :
uh B8 N TN (A V4: o Je— 25.0 M0x1.5 25 1 13.1
M8. 0x0. 75 P2 6.1 NPT1/4_18AmeNc§\‘r§%‘1§%‘d 41: 9 M10x1. 5Lun VP hno25 1.9
Lt 051 (0 P2 61 NPT3/8~18 e M11x1.0 25 | 23
A el 22 P2 53 NPT1/2-14 s M12x0. 5 25 1!
5 0s0 B 5S NPT1/A 4 M12x0. 75 2N
H9. 0x0.5 P3Ol BT NPT 12 M12x1. 0 g5 >
M9. 0x0. 75 P3 8 1 T 25 13.1
M9. Ox1. 0 P3 8.1 : 25 11.9
M9. Ox1. 25 P3 6.9 m %Xl: ?75 25 13.1
100 75 P | a1 W21, 75000 owpwd | 52 g
M10x1. 0 P3 8.1 mi"}- gs 38 | 250
M10x1. 25 P3 8.1 Mmi‘.' - 38 23.6
M10x1. 5 P3 6.9 g 38 | 25.0
P4 6.9 mgxf- g 38 | 25.0
M11x0. 5 P3 10. 4 M1 6X1~ 25 38 25.0
M11x0. 75 P3 | 10.4 WMo 38 | 23.6
M11x1.0 P3 | 10.4 :
M11x1.5 P3 9.3 M16x2. 0
M12x0. 5 P3| 10.4
M12x0. 75 P3 | 10.4
M12x1. 0 P3| 10.4
M12x1. 25 P3 | 10.4
M12x1.5 P3 | 10.4
M12x1. 75 P3 9.3
P4 9.3
M14x2. 0 P3| 10.4
M16x2. 0 P3| 13.1

YNYOKX [IN WW"'0OW ,0'D TTIZPOP' T'I9 |Q'IN.

TOIWITRIMYO 'R THID [R'UPNOIRID IRYINT.
yua,ak1s v axn vk aax Email: eva@mzgtool.cn http://www.mzg.tw



http://www.mzg.tw

YT7'2 LPITRID

VI'XX{?'9'XV90

Turning Inserts
Turning Inserts

AWT7'A VPITROD

VIXKXP'D'XVYD0

CCGT060202 CBN1 0.2 6.9
CCGT060204 GBN1 0.4 | 69 6 CNMG120402 CBN1 0.2 | 6.9
CCGT060208 GCBN1 0.8 6.9 CNMG120404 CBN1 0.4 6.9
CCGTO9T302 CBN1 0.2 | 69 h CNMG120408 CBN1 0.8 | 6.9
3221831283 ggm 8 g 2 Z VAV ATRD (1% [T 07R0YYA
CCGT120402 CBN1 0.2 | 69 DD [T CTROSOND
VAYIN7AIND JIN JTUN VINVYY2 CCGT120404 CBN1 Oj 4 6: 9 k
AN 7T O7RWIN CCGT120408 CBN1 0.8 6.9 Q CNMG120402 PCD1 0.2 | 6.9
CNMG120404 PCD1 0.4 | 6.9
(CGT060202 PCD1 0.2 | 6.9 CNNG120408 PCDT 0.8 | 6.9
| CCGT060204 PCD1 0.4 6.9 . o
! CCGT09T302 PCD1 0.2 | 69 pramize JIx 1791y
4 CCGT09T304 PCD1 0.4 6.9 .
CCGT09T308 PCD1 0.8 6.9 Py
CCGT120402 PCD1 0.2 6.9 *‘ CNMG120404-TM ZG25 0.4 | 2.6
DTN (IR AYSIR CCGT120404 PCD1 0.4 6.9 § S CNMG120408-TM ZC25 0.8 | 2.6
Finish Machining CCGT120408 PCD1 0.8 6.9 f*i Senn CNMG120412-TM ZC25 1.2 2.6
CHMBEN BN | (1 ] meesesaen
CCGT060208-AL ZKO1 0.8 1.1 5
CCGT09T302-AL ZK01 0.2 1.4 Cy CNMG120408R-X ZG25 0.8 2.6
CCGT09T304-AL ZKO1 0.4 1.4 h CNMG120408L-X ZC25 0.8 2.6
CCGT09T308-AL ZK01 0.8 1.4
CCGT120402-AL ZKO1 | 0.2 2.3 X L-X
DITYN DIMII7N [IN V917 CCGT120404-AL ZKO1 0.4 2.3 7NLY |19 21'0V0X19 VOKIY
Finish Machining CCGT120408-AL ZKO1 0.8 2.3
CNMG120404-TM ZC35 0.4 | 2.6
CCMT060204 ZM30 0.4 1.6 CNMG120408-TM ZC35 0.8 | 2.6
CCMT060208 ZM30 0.8 1.6
CCMT09T304 ZM30 0.4 1.7 Medium. Finish
CCMT09T308 ZM3O O 8 1 7 I'))II’NJI U !In 211NN
CCMT120404 ZM30 0.4 2.4 =7
CCMT120408 ZM30 0.8 2.4 [ -~
A1'OVYONID 7KLY LPY79XKAN] } - (j CNMG120404-HA ZKO01 0.4 2.0
o CNMG120408-HA ZKO1 0.8 2.0
iy - DITYN DI 1K IR
F Finish Machining
J ~ \ CCMT060204-FG ZN60 | 0.4 1.7
s CCMT09T304-FG ZN60 | 0.4 1.9
_ CCMTO9T308-FG ZN60O 0.8 1.9 CNMA120404 ZK50 0.4 | 2.6
CNMA120408 ZK50 0.8 | 2.6
Cermet Medium and Fine Steel
J2'TIV 013 [AXA YARD
[N VOXR? (1D AT TR BT DI'TYN
CCMT060202-HQ ZN60 | 0.2 1.7
CCMT060204-HQ ZN6O | 0.4 | 1.7 8“”8]%8283 %ﬁgg 8; g-g
CCMT09T302-HQ ZN60 | 0.2 1.9 : :
CCMTO9T304-HQ ZN60 | 0.4 1.9
Cermet Medium and Fine Steel IXQ' DOKR7 |19 A1'WKNA |?'TIV DITTIN
_I'TIV 01 I YIRS
;f i - CNMG120408-HS ZM30 0.8 | 2.6
G0N COMT060204-MT ZN6O | 0.4 | 1.7
_ CCMT09T304-MT ZN6O | 0.8 1.9 A2'OYDRID THOY DFY9NANI
CCMTO9T308-MT ZN60 | 0.8 1.9
CerlmetMed\um and Fine Steel P@’ CNMG120404-MA ZM30 0.4 2.6
[i7'T1Y O1A [ARN YIRD LA CNMG120408-MA ZM30 | 0.8 | 2.6
T_ 5 A1'OYCRID PRUY URY7INANI
; g : CCGT060202EL-U ZN90O | 0.2 4.0
A CCGT060204EL-U ZN90 | 0.4 | 4.0 SRS e o N, 4
i CCGTO9T302EL-U ZN9O | 0.2 4.0 sl et C os | e
CCGTO9T304EL-U ZN9O | 0.4 | 4.0 CNMG120408-MS ZM30 : :
Cermet Fine Steel
|7'TIV VI [ARD YIND
CNMG120404-HQ ZN60 0.4 2.3
e CNMG120408-HQ ZN60 0.8 2.3
CCGT060202ER-U ZN9O 0.2 4.0 Cermet Medium and Fine Steel
CCGT060204ER-U ZN9O | 0.4 4.0 W e
PR CCGTO9T302ER-U ZN9O | 0.2 4.0 j e
| — CCGTO9T304ER-U ZN90 | 0.4 | 4.0 Q CNMG120404-TS ZN60 0.4 | 2.3
A CNMG120408-TS ZN60 0.8 2.3
Cermet Fine Steel
||7'-”” vIa Ian YWNQ Cermet Medium and Fine Steel

YNYON [IN W'0W ,0"9 TTIZPOP! 119 [2'IN.
TOIWA'TRIMYO 'K T'ID [K'OPKOINIV INTINT.

yoa k19 [ ann 1k 2k Email: eva@mzgtool.cn http:// www.mzg.tw


http://www.mzg.tw

Turning Inserts

Turning Inserts

AYT7'2 VPITRID

VAI'IATIRD |IR TR 0TROW

AV TWRA 7' TIV ORIV ORND

12DCGT11T308

VIXKX?'9'XVYD0

DCGT070202 CBN1
DCGT070204 CBN1
DCGT070208 CBN1
DCGT11T301 CBN1
DCGT11T302 CBN1
DCGT11T304 CBN1
CBN1

DCGW11T308 CBN1

oo AN =0 AN B

DI'AIYR |IX VDI
Finish Machining

DCGT070201
DCGT070202
DCGT070204
DCGT070208
DCGT11T301
DCGT11T302
DCGT11T304
DCGT11T308

PCD1
PCD1
PCD1
PCD1
PCD1
PCD1
PCD1
PCD1

POLOOOORe PO eo

OAN—=00AN—

e A SN Al e e e A AR SN AN SR N R o

VOV OVOVOVOVOVOOV || VOVOVOVOOVOVOO

!.‘/
e

DI'TYA DINT'AITR (IR YOI

DCGT070202-AL
DCGT070204-AL
DCGT11T302-AL
DCGT11T304-AL
DCGT11T308-AL

ZKO01
ZKO01
ZKO01
ZKO01
ZKO01

DO OOoo
©ANAN

RN NN N
[e N e N A

Finish Machining

21'OYORID THOW UV 79K1Y

Nl

DCMT070204-MV
DCMT11T304-MV

ZM30
ZM30

oo

~N o

A1'OYORTID THOW UV 79K

Nl

DCMT11T304 ZM30
DCMT11T308 ZM30

oo

[ooJi=N

~N -~

Cermet Medium and Fine Steel
112' 71V V12 |]AXN YIXO

DCMT070204-FG ZN60
DCMT11T302-FA ZN60
DCMT11T304-FG ZN60

ceg
ANN

O O~

{ &

cermet Medium and Fine Steel
2'TIY DIA |AXD YIAXD

DCMT070202-HQ ZN60
DCMT070204-HQ ZN60
DCMT11T302-HQ ZN60
DCMT11T304-HQ ZN60

Cooo
ANAN

OO NN

Cermet Fine Steel
121 T8 1A 20 YD

DCGT11T302FL-U ZN90
DCGT11T304FL-U ZN90

e

AN

oo

Cermet Fine Steel

|73V 012 J2RD YIRD

DCGT11T302FR-U ZN90
DCGT11T304FR-U ZN90

e o
AN

[eNe)

VT2 LPITRID

-~

VI'XX{?'9'XV90

DNMA150404 CBN1 0.4 |6.9
DNMA150408 CBN1 0.8 | 6.9
VAIIATHD [IX TR D7RLYY2A
2'WHN [P'TIY OIRIVON
DNMA150404 PCD1 0.4 | 6.9
DNMA150408 PCD1 0.8 | 6.9
DINITK IR VDI
Finish Machining
a\_/f DNMG150404-HA ZKO1 | 0.4 | 4.3
,;,(ff' DNMG150408-HA ZKO1 0.8 | 4.3
e DNMG150604-HA ZKO1 0.4 | 4.9
DNMG150608-HA ZKO1 0.8 | 4.9
DI'TYR DITAITR [IX Y9I
Finish Machining

DNMG110404-FG ZN60 0.4 |26

Cermet Medium and Fine Steel

21TV 012 JAND YIND
DNMG150404-HQ ZN60 0.4 | 2.6
DNMG150408-HQ ZN60 0.8 | 2.6

Cermet Medium and Fine Steel

1TV 013 AN YIRS
DNMG150404L-VF ZN60 | 0.4 | 2.6

Cermet Medium And Rough Steel

— TN 0DIA lﬁNn Y‘IN‘-)
DNMG150404R-VF ZN60 | 0.4 | 2.6

Cermet Medium And Rough Steel
[?'TAY V1A AR YIXD

YNYON [IN WIOW ,01MD TTIZPOR! T11D [AIX.
TOI WA TRIMYO 'K THID [K'OZROINIV INTINT.

yora k19 1 jaxn 1k 2k Email: eva@mzgtool.cn

http://www.mzg.tw


http://www.mzg.tw

Turning Inserts
Turning Inserts

AYT7'2 LPITRID V'XN{7'9'¥Y90 AYT?'A VPITRID

h SNMG120404 CBN1 0.4 6.9
SNMG120408 CBN1 0.8 6.9
VIWITTITRD {IK |TN 0780wV
21'1'WUANN [7'TIV 07X IWONN
"
SNMG120404 PCD1 0.4 6.9
SNMG120408 PCD1 0.8 6.9

DINI'AITR (IR VDI
Finish Machining VAVII7AIRD IR TR VIROYYA

VIXNj7'9'XY90

TBGT060102 CBN1
TCGT110302 CBN1
TCGT16T302 CBN1
TCGT16T304 CBN1
TCGT16T308 CBN1
TPGT080202 CBN1
TPGT080204 CBN1
TPGT090202 CBN1
TPGT090204 CBN1
TPGT110202 CBN1
TPGT110204 CBN1
TPGT110302 CBN1
TPGT110304 CBN1
TPGT110308 CBN1

Py

~ AY'1'YUNND |P'TIY 07N'YLNN

4 _‘ SNMG120408L-S ZC25 0.8 2.6

IR0Y |19 22'0VOXID ULOKID

n SNMG120408L—-S ZC35 0.8 2.6

7R0W WY |19 22'0VOX1D 1WIKN

DInMITX [IR VOIp
Finish Machining

TBGT060102 PCD1
TCGT110202 PCD1
TCGT110204 PCD1
TCGT110304 PCD1
TCGT16T302 PCD1
TCGT16T304 PCD1
TCGT16T308 PCD1
TPGT080202 PCD1
TPGT080204 PCD1
TPGT090202 PCD1
TPGT090204 PCD1
TPGT110204 PCD1
TPGT110302 PCD1
TPGT110304 PCD1

COOOR/LLOLOLCROL (COTOO0OOCOPROCC
ANBAANANORANARANN|[OANANANBNOANNN

SOOI OOOO
0 "0 "0 ~0 0 *0 0 0 ~0 0 ~0 0 0 O [ 0 0 0 ~0 0 0 0 0 0 0 0 0 0 0

SNMG120408R-S ZC25 0.8 2.6

i j TBGT060102L ZN90O 0.2 3.4
N0V [19 2'0VOX1D VOXID ~ TBGT060104L ZN90 0.4 3.4
TCGT110202L ZN9O 0.2 3.4
TCGT110204L ZN9O 0.4 3.4
} TPGH080202L ZN90 0.2 3.4
SNMG120408R-S ZC35 0.8 2.6 j i TPGH080204L ZN90 0.4 3.4
JP— TPGH090202L ZN90O 0.2 | 3.4
TPGH090204L ZN90 0.4 3.4
YXOW WY [19 21'0VOXID VAN TPGH110302L ZN90O 0.2 3.4
TPGH110304L ZN90 0.4 3.4
Cermet Medium and Fine Steel
SNMG120408-TM 2C25 | 0.8 | 2.6 LTI DR YIRS
,.“_ TBGT060102L-W ZN90 0.2 3.4
;fx\\g TBGT060104L-W ZN90 0.4 3.4
; TPGT080202L-W ZN90 0.2 3.4
: ; TPGT080204L-W ZN90 0.4 3.4
_ i p— TPGT090202L-W ZN90 0.2 3.4
oAMG120d00 A 2KO1 1 0.2 | 20 TPGT090204L-W ZN9O | 0 4 | 3 4
; ’ ’ Cormet e o Fina.Stedl TPGT110302L-W ZN90 0.2 3.4
erme edium an ine eel ]
Q1T DIRIT (K Wi [7*TIY 013 |ANA YIND TPGT110304L-W ZN90 0.4 3.4
Finish Machining
TCMT090202-HQ ZN6O | 0.2 | 1.7
. TCMT090204-HQ ZN60 0.4 1.7
SNMG120408-MA ZM30 0.8 2.6 e TCMT110202-HQ ZN60 0.2 1.7
TCMT110204-HQ ZN60 0.4 1.7
B :ﬁ.\ TCMT110208-HQ ZN60 0.8 1.7
21'0V0X19 7R0W LFV7OXIANI B s TCMT16T304-HQ ZN60 0.4 2.4
 a———
Cermet Medium and Fine Steel TPMT110304-HQ ZN60 0.4 7
SNMG120404-MS ZM30 0.4 26 |7' T2V V12 ARN YIRD TPMT110308-HQ ZN60 0.8 .7
TCGT090202-AL ZKO1 0.2 1.4
£ TCGT090204-AL ZKO1 0.4 1.4
== TCGT110202-AL ZKO1 0.2 1.4
SNMG120404-HQ ZN60 0.4 2.3 () 4\1 TCGT110204~AL ZKO1 0.4 1.4
SNMG120404-HQ ZN6O | 0.8 | 2.3 < 17 TCGT110302-AL ZKO1 0.2 1.6
gl TCGT110304-AL ZKO1 0.4 1.6
— TCGT16T302-AL ZKO1 | 0.2 | 1.7
TCGT16T304-AL ZKO1 0.4 1.7
TCGT16T308-AL ZKO1 0.8 1.7
SCMT09T304-MT ZN60 0.4 1.9 DIrTyn Q'u'n|7NJ|N wolp
Finish Machining
y |
Cermet Medium and Fine Steel
|2' 71V VI |AND YIND
SCGT09T304-AL ZKO1 0.4 1.4 TCMT110204 ZM30 0.4 1.6
SCGTO9T308-AL ZKO1 0.8 1.4 TCMT110208 ZM30 0.8 1.6
i SCGT120404-AL ZKO1 0.4 1.9 TCMT16T304 ZM30 0.4 2.3
& ; SCGT120408—-AL ZKO1 0.8 1.9 TCMT16T308 ZM30 0.8 2.3
DI'TYN DIMIMIZR [IX DI
Finish Machining A'OYGKTI 7KUY U7y 75KIN1

YNYON [IN WW'0OW ,0'"D TTIZPOP! T'I19 [2'IN.

TOIWATRIMWO 'R TID [K'OPROIRIV IRTINT.
yura,ax19 1 jaxn Atk 2k Email: eva@mzgtool.cn

http://www.mzg.tw


http://www.mzg.tw

Turning Inserts
Turning Inserts

AYT7'2 VPITRID

VIXKX?'9'XVYD0

VT2 LPITRID

VIXX{?'9'XV90

® \ TNMG160404L-C ZN60 | 0.4 .9
TNMA160402 CBN1 0.2 6.9 @ TNMG160408L-C ZN60 0.8 .9
TNMA160404 CBN1 0.4 6.9 —
TNMA160408 CBN1 0.8 6.9 TNMG160404R-C ZN60 0.4 .9
OWIITRWD |1 ””f UTRowY: Cerme:t(l;\/\edium and Fi’ﬁ;gteel TNMG160408R-C ZN60 0.8 -9
210NN 17ITIN 0TNIIMONND 17TV 013 [ANA YIXD
Q TNMG160404L-S ZN60 0.4 .9
TNMA160402 PCD1 0.2 6.9 TNMG160408L-S ZN60 0.8 .9
TNMA160404 PCD1 0.4 6.9
TNMA160408 PCD1 0.8 6.9 TNMG160404R-S ZN60 0.4 .9
DII]ID_IL”{ IIN j.U9||7 Cerrﬁe?%edlum and F%ggteel TNMG160408R_S ZN60 O' 8 : 9
Finish Machining 12" TIV 013 (AN YIND
A i EY 3
" 3 \\_; L=l TNMG160404-CQ ZC25 0.4 2.3 & Yy TNMG160404L-VF ZN60 0.4 .9
/‘H/‘. 2, ’&Q A TNMG160408-CQ ZC25 0.8 2.3 R B TNMG160408L-VF ZN60 0.8 .9
ko — TNMG160404-HQ ZC25 0.4 2.3 ﬁ h TNMG160404R-VF ZN60 0.4 .9
CQ HQ TNMG160408-HQ ZC25 0.8 2.3 -VF L-VF TNMG160408R-VF ZN60 0.8 .9
Cermet Medium and Fine Steel
R [1D A" I'UND IR'TIM D'TUN 12TV D13 JAXRD YIND
TNMG160404L—-S ZC25 0.4 2.3 TNMG160404L-FS ZN60 0.4 .9
TNMG160408L-S ZC25 0.8 2.3 TNMG160408L—-FS ZN60 0.8 .9
TNMG160404R-S ZC25 0.4 2.3 TNMG160404R-FS ZN60 0.4 .9
R-S L-S TNMG160408R-S ZC25 0.8 R - - TNMG160408R-FS ZN60 0.8 29
7X0WY |19 21'0YONID LONID e e "
TNMG160404L-S ZC35 0.4 2.3 A ‘
WHHGIGO40BLESIZG3SHY) 0.8 | 2.3 d TNMG160404-HQ ZN6O | 0.4 9
TNMG160404R-S 2C35 | 0.4 | 2.3 L ey 08| 1.9
R-S L-3 TNMG160408R-S 2C35 | 0.8 | 2.3 Cormet mogium oAt
IR0 WY 119 21'0MONTD AVAKD h—;n-nu 113 I'\x—) }l'\xr.\
A
e TNMG160404-TM ZC25 0.4 | 2.3 ~
- TNNGT60408-TH 2625 | 08 | 2.3 [ e e 04| 7
N e TNMG160412-TM ZC25 1.2 2.3 _ ) \
Cermet Medium and Fine Steel
7XOW |19 A1TWKA {11V DIrTvn I2' TV D12 1AND YVIND
TNMG160404-TM ZC35 0.4 2.3 TNMG160404-TS ZN60 0.4 .9
TNMG160408-TM ZC35 0.8 2.3 AW TNMG160408-TS ZN60 0.8 .9
Iy
Mediura Finish Cermet Medium and Fine Steel
N0 VI D 221UND HATI DR ANA- YIRS
£ q B TNMG160402-HA ZKO01 0.2 1.9
g TNy TNMG160404-HA ZKO1 0.4 1.9
ﬁ TNMG160408-HA ZKO1 0.8 1.9
DITYA DI''AITR IR YOI
Finish Machining
TNMA160404 ZK50 0.4 2.3
TNMA160408 ZK50 0.8 2.3
TNA g | TNMGTé0404 ZKSO 0.4 ) 2.3 - .| TNGG160402L-P ZN9O | 0.2 | 3.6
TNMG160408 ZK50 0.8 2.3 —~ =
Medium Rough Medium Finish O: (&) TNGG160404L—P ZN90O 0.4 .6
|l‘| ]’Il'lll)H\!n .L.IQ AN MY o =
Q TNGG160402R-P ZN90O 0.2 .6
TNMG160404-HA ZM30 0.4 2.3 R-P L-p TNGG160404R-P ZN9O 0.4 6
TNMG160408-HA ZM30 0.8 2.3 Cermet Fine Steel
TNMG160404-MA ZM30 | 0.4 | 2.3 [P*TIV 013 |7 YIRS
WA TNMG160408-MA ZM30 0.8 2.3
21'0¥0X19 7TX0W DEV7INANI
TNMG160404-MQ ZM30 0.4 2.3
TNMG160408-MQ ZM30 0.8 2.3
N | TNGG160402L-S ZN9O | 0.2 .6
21'040NND THUY OpY79NINI 4 @ ; e b TNGG160404L-S ZN90 0.4 -6
A H TNGG160402R-S ZN90O 0.2 .6
R-S L-S TNGG160404R-S ZN90O 0.4 6
TNMG1 60404_MS ZM3O 0.4 2 3 Cermet Fine Steel
TNMG160408-MS ZM30 0.8 2.3 |{7'TIY VIA [ARD YIND
21'0YORTD 7KUY UPY7DKRANI

YNYOKX [IN WW"'0OW ,0'D TTIZPOP' T'I9 |Q'IN.
TOI W' TXRIMYO 'K THID [K'OPROINIV INTINT.

yora,ax19 1 axn 1k 2k Email: eva@mzgtool.cn

http://www.mzg.tw



http://www.mzg.tw

Turning Inserts

Turning Inserts

AT VPITROD V'¥N[j?'9'¥VD0 R uUsD AT LRITRID V'XN?'9'¥XV90

VBMT110302 CBN1 0.2 | 6.9 -
VBMT110304 CBN1 0.4 | 6.9
VBMT 160402 CBN1 0.2 | 6.9 VNMG160404 CBN1 0.4 | 6.9
8 VBMT160404 CBN1 0.4 | 6.9 VNMG160408 CBN1 0.8 | 6.9
. VBMT160408 CBN1 0.8 6.9 DO TATINRD (1R TR 07RO A
VCGT110302 CBN1 02 | 69 D o
VCGT110304 CBN1 0.4 | 69
VCGT110308 CBN1 0.8 | 6.9
VCGT160402 CBN1 0.2 | 6.9 = SNl 00 0.2 \8%.9
VCGT160404 CBN1 0.4 | 6.9 VNMG160404 PGD1 0.4 | 6.9
VCGT160408 CBN1 0.8 6.9 VNMG160408 PCD1 0.8 6.9
VWII'7AIND [IN TN VINLYYA N N = |?
AVURD (PTIY 0IXAYORD VCGT160412 CBN1 1.2 | 6.9 DIVNITN IR VD17
inish Machining
VBGT110301 PCD1 0.1 | 6.9
xggmgggﬁ Egg} 8‘21 2-3 VNMG160404-TM ZC25 | 0.4 | 2.7
i os | o9 VNMG160408-TM ZC25 | 0.8 | 2.7
VBGT160402 PCD1 0.2 | 6.9
VBGT160404 PCD1 0.4 6.9 DRIDW 1D A1 WHA [P TIY Ol TYA
VBGT160408 PCD1 0.8 | 6.9
‘ 382111838; Egg} 812 2'3 VNMG160404-TM Z€35 | 0.4 | 2.7
VCGT110304 PCD1 0: 4 6: 9 VNMG160408-TM ZC35 0.8 2.7
VCGT110308 PCD1 0.8 | 6.9 Mo e
VCGT160401 PCD1 0.1 | 6.9 5
VCGT160402 PCD1 0.2 | 69 IMOY P 11D ApTeNRD
VCGT160404 PCD1 0.4 | 6.9
VCGT160408 PCD1 0.8 | 6.9
DINMITR [IX WOIR VCGT160412 PCD1 1.2 | 6.9 VNMG160404-AL ZKO1 0.4 | 2.3
Finish Machining VNMG160408—AL ZKO1 0.8 2.3
VBGT110302-AL ZKO1 0.2 | 1.1 DTV DRI |IX VDI
VBGT110304-AL ZKO1 | 0.4 | 1.1 Finieh Mashigng
VBGT160402-AL ZKO1 0.2 | 2.0
VBGT160404-AL ZKO1 0.4 | 2.0
VBGT160408—-AL ZKO01 0.8 2.0 VNMG160404 ZM30 0.4 2.7
VNMG160408 ZM30 0.8 | 2.7
VCGT110302-AL ZKO1 0.2 | 1.1
VCGT110304-AL ZKO1 0.4 | 1.1
VCGT160402-AL ZKO1 0.2 | 2.0 AT OVOKIY THOW U7y 79NANN
VCGT160404-AL ZKO1 0.4 | 2.0
DI'TYA DI'I'AITH (IR VDI
M "l VCGT160408-AL ZKO1 0.8 | 2.0
VNMG160404-HS ZM30 | 0.4 | 2.7
VNMG160408-HS ZM30 | 0.8 | 2.7
xgmnggigg:mx %mgg 8 g g ; AVOVORID THOW DU TDRIAI
VNMG160404-MT ZN60 | 0.4 | 2.3
VNMG160408-MT ZN6O | 0.8 | 2.3
VBMT110304-HQ ZN60 0.4 2.7 Cerlmetlvledlum and Fine Steel
VBMT160404-HQ ZN60 0.4 3.4 [7'TIV 013 [ARD YARD
Cermet Medium and Fine Steel
|'TIV UIA [AXD YIRD
VBMT160404-MT ZN60 | 0.4 | 3.6
Cermet Medium and Fine Steel
17" TV VI [AND YIND
o VBGT110302L ZN90 0.2 | 47
- = | VBGT110304L ZN90O 0.4 | 4.7
Cermet Fine Steel
|'TIY 0IA JAXN YOIXS
P
L‘ v VBGT110302R-Y ZN90 | 0.2 | 4.7
VBGT110304R-Y ZN9O | 0.4 | 4.7
Cermet Fine Steel
7' T1Y 0I2 |ARD YIRS

YNYON [IN W'0W ,0"9 TTIZPOR! 119 [2'IN.

1 1 TOIWATRIMYO 'R THID [R'OPROINI0 IKTINT.
yoa k19 | ann 1k anx Email: eva@mzgtool.cn http://www.mzg.tw


http://www.mzg.tw

Turning Inserts
Turning Inserts

AYT7'2 VPITRID VIXKX?'9'XVYD0 VIXX{?'9'XV90

VT2 LPITRID

@ OB oa oo Do &2 WNMGOBO404—MA ZM30 | 0.4 | 2.6
‘ WNMGOB0412 CBNT 1.2 | 6.9 WNMGOBO40B-MA ZWs0 | 0.8 | 2.6
VWI?ATIRD |17 [T BIROWYA
AN 17TV OINIIVOND
Ll Al ROV PR 62 WNNGO80404-MQ ZM30 | 0.4 | 2.6
Ll osuaghes N 0.4 169 WNMGO0408-MQ ZM30 | 0.8 | 2.6
WNMA080408 PCD1 0.8 6.9 ‘ '
DI'I'RITR IR WSIp
Finish Machining A1'0VOX19 7XVW LPY79XRANI
T _
@k . WhMGOB0404-CO 2625 | 0.4 | 2.6 WNMGOBOA04-MS ZM30 | 0.4 | 2.6
/ N WNMG080408-CQ ZC25 0.8 2.6
N0V |19 21 )'YUNN |P'TIY DIPTYN A1'OVYONKIS ZRLVY UrI,U‘7DNJYJI
' c
2’7/"‘ l\ P
< ) ;& WNMG080404-HQ ZC25 0.4 2.6 X WNMG080404—-HS ZN60 0.4 2.3
WNMG080408-HQ ZC25 0.8 2.6 ﬁ’B ’ WNMGO80408-HS ZN60 0.8 2.3
w Cermet Medium and Fine Steel
Y] [19 21"1'e/X 12 TIV DTN [77'TIY 012 ]ARN YIXND
7 < 0
A @ WNMG080404L-S ZC25 0.4 2.6
H fo=22 e 0.8 | 2.6 L= X WNMGOB0404-Ha ZN6O | 0.4 | 2.3
v --.-» WNMGOBO404R-S 2025 | 0.4 | 2.6 ?“ & WNNGOBO408~Ha ZNé0 | 0.8 | 2.3
WNMGO80408R-S ZC25 0.8 2.6 Cermet Medium and Fine Steel
VNOU |IE> ' OJIONWD UONWB ]i7'TIY 012 JANDN YIXD
WNMG080404L-S ZC35 0.4 2.6 / \ WNMG080404L-X ZN60 0.4 2.3
WNMGO80408L-S ZC35 | 0.8 | 2.6 QSS 220 WNMGOBO408L-X ZN6O | 0.8 | 2.3
WNMG080404R-S ZC35 0.4 2.6 WNMGO80404R-X ZN60 0.4 2.3
WNMG080408R-S Z(C35 0.8 2.6 cermetiSsium And Rough Steol WNMGO80408R-X ZN6O 0.8 2.3
'7N07\’J ')J)IIEJ 119 22! OMON'ID VAN [7'TIY VIA ]ARN YIXD
,E ] WNMGOSO404:TM 2025 0.4 2.6 G\, WNNMGOBO404-MT ZN6O 0.4 23
e VA ) WNMGO80408-TM ZC25 0.8 2.6
B WNMG080408-MT ZN60 0.8 2.3
WNMG080412-TM ZC25 1.2 2.6 [t
TM ZC25 TM ZC35 Cermet Medium and Fine Steel
ROV |19 21''WUKRN |P'TIV DIFTYN |7'TIV 0IA [ARD YIXD
WNMGO80408-CM ZC25 0.8 2.6 WNMG080404-TS ZN60 0.4 2.3
WNMG080412-CM ZC25 1.2 2.6 WNMG080408-TS ZN60 0.8 2.3
Cermet Medium and Fine Steel
|?'TIY 012 2NN YIXD
WX WNMG080402-HA ZKO1 0.2 2.3
- WNMG080404-HA ZKO1 0.4 2.3
w WNMG080408-HA ZKO01 0.8 2.3
DI'TYR BI'I'ARITR [IR YOI
Finish Machining
WNMG080404-HA ZM30 0.4 2.6
¢ WNMG080408-HA ZM30 0.8 2.6
21'0YOKR1D 7R0OW LPY79XANI
WNMA080404 ZK50 0.4 2.6
WNMA080408 ZK50 0.8 2.6
|XQ' UONP |19 22')'URN QRO DI'TYN|
WNMG080404 ZK50 0.4 2.6
WNMG080408 ZK50 0.8 2.6
X' VON{ |19 21'1'WUKNN [7'TIY DI'TYP

INYON |IN WW'OW ,0'D TTIZZ0P TMI9 |2'IN.

TOIMVITTRIMYO 'K T''D |K'OPNKOIXRTV ARTINT.

yoa ,ax19 | axn vk anx Email: eva@mzgtool.cn

http://www.mzg.tw



http://www.mzg.tw

210 22'2110 DYTNRD

Thread Turning Tool

AYT7'2 DPITRID V'XK{7'9'XY90 AYT7'2 DPITRID V'XKX{7'9'XYU50
o 16ER 050180 ZP10 0.50 | 2.0
Machining 16ER 0751S0 ZP10 0.75 2.0
16ER 1001S0 ZP10 1.00 2.0 16ER 2TR ZP10 2.0 2.0
16ER 1251S0 ZP10 1.25 2.0 16ER 3TR ZP10 3.0 2.0
16ER 1501S0 ZP10 1.50 2.0 30 ° VKY DVTYD 7K T'RTUONI0
16ER 1751S0 ZP10 1.75 2.0 DIN103 y'0'n01x10
16ER 200'30 ZP10 2 00 2 0 21'0VYONND DUTMA P'TUO'INTIID
16ER 2501S0 ZP10 2.50 2.0
PCD1 16ER 3001S0 ZP10 3.00 2.0
D_I_']'YJI'??{ [I® Ay 16ER 3501S0 ZP10 3.50 2.0 161R 2TR ZP10 2.0 2.0
Finish Machinny 16ER A60 ZP10 0.5-1.5 2.0 16IR 3TR ZP10 3.0 2.0
16ER AG60 PCD1 0.5-3.0 | 6.9 30 ° 150 DY TYD TRTRIVONE
16ER AG60 ZP10 0.5-3.0 2.0 DIN103 y'0'oIx10
. 16ER G60 ZP10 1.5-3.0 2.0 22'0V0OXID DYTRS VINN WY
2 22ER 3501S0 ZP10 3.50 531 ZP10
22ER 4001S0 ZP10 4.00 5.1 General
- 22ER 5001S0 ZP10 5.00 5.1 Machining 16ER 11W ZP10 Tinch1 1100t 2.0
60° 7' TIO'NTIIO 0¥y 22ER 6001S0 ZP10 6.00 5.1 16ER 14W ZP10 1inch14T00th 2.0
21'OYOXID DYTND 22ER N60 ZP10 3.5-5.0 5.1 16ER 19W ZP10 1inch19Tooth 2. 0
.. 16ER 24W ZP10 11nch24T100th 2.0
SER1616H16 - 7.1 e 16ER 8W ZP10 1inch8Tooth | 2.0
SER2020K16 - 7.1 Finish Machinmé_ 16ER A55 ZP10 0.5-1.5| 2.0
SER2525M16 - 9.3 g 16ER AG55 PCD1 0.5-3.0| 6.9
SER2020K22 A 9.6 o 16ER AG55 ZP10 0.5-3.0| 2.0
SER2525M22 - 13.1 é 16ER G55 ZP10 1.5-3.0 2.0
oo ser | SERS23P2) = | 2 ‘_& 28R N65 P10 [35-5.0| 5
B-SEL1212H16 - 9.6 55 ° p'T10MNTAID W
B—SEL1 61 6H16 — 9 6 21'0YONID DY TKS
B-SEL2020K16 - 9.6 ZP10
REue o prmonn> ERERESE R - E Maohining 06IR A55 ZP10 0.5-1.25| 4.7
ZP10 061R A60 ZP10 0.5-1.25 | 4.7 08IR A55 ZP10 0.5-1.5| 4.1
General 08IR 1501S0 ZP10 1.50 4.1 111R 19W ZP10 11nch19To0th 2. 0
Machining 08IR A60 ZP10 0.5-1.5 4.1 161R 11W ZP10 Tinch117o0th 2. 0
111R 1501S0 ZP10 1.5 2.0 16IR 12W ZCO1 11nch12T00th 2. 0
111R 200180 ZP10 2.0 2.0 16IR 14W ZP10 11nch14700th 2. 0
111R A60 ZP10 0.5-1.5 2.0 PCD1 161R 19W ZP10 Tinch19T00th 2.0
16IR 0501S0 ZP10 0.50 2.0 DINMIZR [IX Y 161R A55 ZP10 0.5-1.5| 2.0
161R 075180 ZP10 0.75 2.0 Finish Machining ] 161R AG55 PCD1 0.5-3.0| 6.9
161R 1001S0 ZP10 1.00 2.0 161R AG55 ZP10 0.5-3.0| 2.0
161R 1251S0 ZP10 1.25 2.0 2 161R G55 ZP10 1.5-3.0| 2.0
PCD1 i
161R 150180 ZP10 1.50 2.0 . = R 221R N55 ZP10 3.5-5.0| 5.1
DINMITX I YOI 55 ° K7 QW1 w1
Finish Machinilng ! 12:2 ;Sg:gg %E}g ; gg % 8 A1'OWTMTD DUTHY
R g0Is0 2t0 | 250 | 20 R 1200 P10 (o] 20
16IR 350180 ZP10 350 2.0 16ER 14UN ZP10 11nch14700th 2.0
16IR A60 ZP10 0.5-1.5 | 2.0 }2&5 ]gﬂu %E}g ]'"ﬂg“m 38
161R AG60 PCD1 0.5-3.0 6.9 16ER 20UN ZP10 1'”“20“"’”‘ 20
161R AG60 ZP10 0.5-3.0 2.0 60 ° PRIWOOPY TWIRPIVIX fnch£UTooth 2.
161R G60 ZP10 1.5-3.0 2.0 AOYONID DYTHY
221R 3501S0 ZP10 3.50 5.1
221R 400180 ZP10 4.00 5.1 16IR 12UN ZP10 11neh12700th 2.0
221IR 5001S0 ZP10 5.00 5.1 161R 14UN ZP10 Tinch14t00th 2.0
60 ° X7 vt paoyn 221R 6001S0 ZP10 6.00 51 16I1R 16UN ZP10 Tinch16Tooth 2.0
21'0V0X19 DYTXS 221R N60 ZP10 3.5-5.0 5.1 16I1R 18UN ZP10 1inch18T00th 2.0
SROOOSKOEAT2 o 60w s s | T61R 20UN ZP10 Tinch20Toot] 2. 0
"~ - . A'QVOKNTD QYIRS
SNR0007J08 - 5.1
SNROOO8SKO8 . 5 1 16ER 11BSPT ZP10 Tinch1 1700t 2.0
16ER 14BSPT ZP10 1inch14700th 2.0
SNROO10K11 - 1 16ER 19BSPT ZP10 Tinch 19700t 2.0
SNROO12M11 = 5 4 16ER 28BSPT ZP10 11nch28To0th 2.0
QU0 TUHHDTHATINI Y01 D0
SNROO1 3N1 6 - 6 1 21'0YOXRTD DDTNQFE\'T]U'DU\D DYTXS
SNROO14N16 - 6.7
SNR0O016Q16 - 6.7
SNROO20R16 - 7.1 16IR 11BSPT ZP10 Tinch11700th 2.0
SNR0025S16 S 1.7 16IR 14BSPT ZP10 1inch14700th 2.0
SNR0032T1 6 - 20 3 BSPT 7% 110D w1 Taper
Tube Th d 9 '
SNROO20R22 - 10.2 OYOKAD BYTRS A |
| SESE S|
21'0YOKRID DYTNRD 16ER 11.5NPT ZP10 Tinen11. Bre| 2.0
16ER 14NPT ZP10 Tinech14700th| 2. 0
TKFT. . o TIP.. 16ER 18NPT ZP10 Tinoh18Tcotn| 2.0
’0 TKFT6001 ZP15 0.5-3.0 | 5.9 DYTRS 919 09)
21'0YONXI9 DYTXD P'TI0'NTIID
) B ; TTP6001 ZP15 0.5-3.0 5.9 /ze
0w B0 15 2 0Y0R7D
YD [P DU TR
TP 161R 11.5NPT ZP10 ineh11. BTooth 2. 0
o 161R 14NPT ZP10 Tinch14100th| 2.0
pums®  TTPR12 - 9.3
TTPR16 - 11.7 VIKA WL DYTRY 515 092
A1'OYONID DVTXS

7RXON |IX W'OW 0D TTI?707%' 719 [2'IX.

- TOIMWI'TNRIMYLO 'K T |XR'OPXOIXROL ART7INT.
yoa ax1e v axn vx 2tk Email: eva@mzgtool.cn http://www.mzg.tw



http://www.mzg.tw

[0 "7 119 222710 21X /22X pYIIR [TMY

Cut-Off/Grooving/Back Turning Of Small Parts

AYT7'2 DPITRID VIXN?'9'XV90 Width USD AYT7'2 UPITROD V'XN{7'9'XY90 Width USD
T16E100 ZP15 1.0 3.0 o TKF12R100-S ZP15 1.0 5.9
T16E150 ZP15 1.5 3.0 - TKF12R150-S ZP15 1.5 5.9
T16E160 ZP15 1.6 3.0 Vd B\ TKF12R200-S ZP15 2.0 59
T16E200 ZP15 2.0 3.0 ( ) TKF16R100-S ZP15 1.0 6.6
| T16E250 ZP15 2.5 3.0 \ / , TKF16R150-S ZP15 1.5 6.6
: T16E300 ZP15 3.0 | 3.0 prmeos e 10| TKF16R200-S ZP15 2.0 | 6.6
Taner TKF12R100-816R ZP15 | 1.0 | 5.9
U"?I) WAIJ:)AQQJ "\ND]WI]‘”U 53 mt’;\ f]'k} R ‘.;2 2 mm| o TKF1 2R1 50_31 6R ZP1 5 1 p 5 5 9
[T'MIY "70IKAY90IR0 |M'T VIV 7K'IYONRN 7KIVIVA /E TKF1 2R200_S16R ZP15 2 0 5 9
4 ( ) TKF16R100-S16R ZP15 1.0 6.6
. \L ,/ TKF16R150-S16R ZP15 1.5 6.6
SER1616H16 - 7.1 o TKF16R200-S16R ZP15 | 2.0 | 6.6
SER2020K1 6 - 7.1 21'0VONID PVIIR-0IP YIND |77
SER2525M16 - 9.3 {
T11N100 ZP15 1.0 | 3.0 ‘ USRS R
' T11N150 ZP15 1.5 | 3.0
/ T11N200 ZP15 2.0 | 3.0 YIRS ("7 119 2277 RN
: T16N100 ZP15 1.0 3.0
4 T16N150 ZP15 1.5 3.0
' T16N160 ZP15 1.6 3.0
‘ T16N180 ZP15 1.8 | 3.0
T16N200 ZP15 2.0 | 3.0
T16N230 ZP15 2.3 3.0 KTKFSL1010JX12 - 11.9
012 707w9w IR 0.5-3 mm q'0 Ix 1-2.2 mm T 6N250 ZP15 2.5 3.0 KTKFSL1212JX12 B 11.9
MY 0IXY90IX0 |7 v INIVOKND 7RIV T1 6N300 ZP1 5 3 0 3 0 KTKFSL1 21 2JX1 6 ) 1 1 N 9
SNROO10K11 - 5.1
SNROO12M11 - 5.4 KTKFSL. .
SNROO13N16 - 6.1
SNROO14N16 - 6.7
SNRO016Q16 \ 6.7 KTKFRO810JX12 i 1.9
SNROO20R16 - 7.1 KTKFR1010JX12 - 9.4
SNR0025S16 - 1.7 KTKFR1212JX12 - 9.4
KTKFR1616JX12 - 9.4
16° CTP10FR ZP15 1.0 5.9
T"{E?" P CTP15FR ZP15 1.5 5.9 KTKFR1010JX16 - 9.4
Ve \“ CTP20FR ZP15 2.0 5.9 KTKFR1212JX16 - 9.4
( ) CTPA10FR ZP15 1.0 6.6 KTKFR1616K16 - 9.4
) / CTPA15FR ZP15 1.5 6.6 KTKFR. . KTKFR2020JX16 - 10.7
CTPA20FR ZP15 2.0 6.6
2'0V0 RIS FUIR-DIF YIRD |77
CTP10FRN ZP15 1.0 5.9
X CTP15FRN ZP15 1.5 5.9
/ \ CLEZORTHE 2l 20 o7 FVC1604R150 ZP15 1.5 4.3
[ | CTPA10FRN ZP15 1.0 6.6
' " ’ ’ FVV1604R300 ZP15 3.0 4.3
e it | CTPA20FRN ZP15 2.0 | 6.6
CTPSL10 - 10.7
CTPSL12 N 1.9 21'1'UNN A1'INIA 910
CTPASL10 - 10.7
CTPASL12 - 11.9
ThRsL CTPASL16 - | 143
CTPRO8 - 11.9
CTPR10 v 9.4 SVQCR2020K16-NJ - 11.9
CTPR12 - 9.4
CTPR16 - 9.4
CTPR20 - 10.7
CTPAR10 - 9.4
CTPAR12 i 9.4
CTPAR16 = 9.4
CTPR/CTPAR. . CTPAR20 - 10.7
CTPAR25 - 14.3
VC1604R250 ZP15 2.5 4.3
VC1604R300 ZP15 3.0 4.3
TTB6001 ZP15 - 5.9
21'1'UNN A1'INIA 910
YIND ['™77 19 211710 Py
TBPR10 - 9.4
TBPR12 o 9.4 SGIVFR16Q16 - 14.3
BEE o SGIVFR20Q16 \a 14.3
TBPAR10 - 9.4 SGIVFR25R16 - 16.7
(- TBPART2 - |94
TBPAR16 - 9.4 SGIVFR. .

ZXYON [IN WW'OW 0119 TTIZP0[R! T19 |2'IN.
TOI WITRIMYO 'R THID [R'OPNOIRI0 IRYINT.
yura,ax19 1 ann 1k 2k Email: eva@mzgtool.cn

http://www.mzg.tw


http://www.mzg.tw

VT2 VPITRID

012 7079w kLI 0.3-3.2mm
0V"'79'0 22'OKRP H'VPY7Y0 0.8-4 mm
|VIV7 TR'IVONN ["NYATR
|T"Y *2U0WIITIROL T

V'XKX?'9'XYVYD0

TGF32R050 ZP15
TGF32R080 ZP15
TGF32R100 ZP15
TGF32R110 ZP15
TGF32R120 ZP15
TGF32R125 ZP15
TGF32R130 ZP15
TGF32R140 ZP15
TGF32R150 ZP15
TGF32R160 ZP15
TGF32R170 ZP15
TGF32R180 ZP15
TGF32R190 ZP15
TGF32R200 ZP15
TGF32R210 ZP15
TGF32R220 ZP15
TGF32R230 ZP15
TGF32R250 ZP15
TGF32R260 ZP15
TGF32R270 ZP15
TGF32R280 ZP15
TGF32R290 ZP15
TGF32R300 ZP15

-

WNNNNNNPONNN = =S =

bl % Lt

O\OCD\IO\LDW!\)AOOCD\IO\W#@&I\)—\OWU'!

Width USD

NINBINRND NN MR N RN R MBI NN NN N
[o Yo NY'e N N Nfe N Yo NYo Yo NY'e N’ N« Ni'e N N N NYe NYe Ni'e Ni'e N NIG N

AYT7'2 VPITRID

- B
012 707V9Y KLY 0.3-3.2mm
0''79'0 21'UKRP 'OPYT7V0 0.8-4 mm

VIV TXMIVORND |"'YATR
|TW V0WIHTIROO [T

External Cylindrical 710 2212710 22'1IXX2
External Cylindrical Grooving Turning Tool

V'XKP?'9'XYVYD0

TGF32L050 ZP15
TGF32L080 ZP15
TGF32L100 ZP15
TGF32L110 ZP15
TGF32L120 ZP15
TGF32L125 ZP15
TGF32L130 ZP15
TGF32L140 ZP15
TGF32L150 ZP15
TGF32L160 ZP15
TGF32L170 ZP15
TGF32L180 ZP15
TGF32L190 ZP15
TGF32L200 ZP15
TGF32L210 ZP15
TGF32L220 ZP15
TGF32L230 ZP15
TGF32L250 ZP15
TGF32L260 ZP15
TGF32L270 ZP15
TGF32L280 ZP15
TGF32L290 ZP15
TGF32L300 ZP15

Width USD

WNRNRNNRNNNNNNN—E s

NN = Y =)

O\OCO\IO\(ﬂ(AJI\)—\O\OCO\IO\U'!b(AJEN—\OmU'\

MRV NN RPN D DR N ESN
eNFoNI'< NI N N NYe NYe Yo NFoNFe ' NI’ Ni'e Ni'e N NYe NYe o NFe N NI NEe N

KTGFR1010H16 - 6.9 KTGFL1010H16 ~ 6.9
KTGFR1212H16 - 6.9 KTGFL1212H16 - 6.9
KTGFR1616H16 - 6.9 KTGFL1616H16 - 6.9
KTGFR2020K16 - 6.9 KTGFL2020K16 - 6.9
KTGFR2525M16 - 9.0 KTGFL2525M16 - 9.0
KTGFL.
KTGFR1010H16F - 6.7 KTGFL1010H16F - 6.7
KTGFR1212H16F - 6.7 KTGFL1212H16F - 6.7
KTGFR1616H16F - 6.7 KTGFL1616H16F - 6.7
KTGFR2020K16F - 6.7 KTGFL2020K16F = 6.7
KTGFSL1010H16 - 6.9 KTGFSR1010H16 - 6.9
KTGFSL1212H16 5 6.9 KTGFSR1212H16 2 6.9
KTGFSL1616H16 > 6.9 KTGFSR1616H16 v 6.9
KTGFSL2020K16 - 6.9 KTGFSR2020K16 - 6.9
KTGFSL2525M16 - 9.3 KTGFSR2525M16 - 9.3

KTGFSL. .

KTGFSR. .

S. . —-KTGFL.

S16N-KTGFL16 - 9.3 S16N-KTGFR16 - 9.3
S20Q-KTGFL16 - 1.0 S20Q0-KTGFR16 - 1.0
S25R-KTGFL16 - 13.1 S25R-KTGFR16 - 13.1

S. . -KTGFR.

7NXON |IN WWIOW 079 TTIZPOR THI19 |2IN.
TOIWI'TRIMYO 'R THI9 [R'OZNROINI0 IRTINT.
yua ,ak19 1 jaxn 1k 2k Email; eva@mzgtool.cn

http://www.mzg.tw


http://www.mzg.tw

710 212710 22'IRRIA YIRD WL/ IRPTI7'0 ' TI0 N TAID
External Cylindrical/Inner Hole Grooving Turning Tool

YT LPITRID

V'XNP?'9'XVYD0

Width USD

GBA43R250 ZP15 2.5 6.1
GBA43R300 ZP15 3.0 6.1
GBA43R350 ZP15 3.5 6.1
GBA43R400 ZP15 4.0 6.1
GBA43R450 ZP15 4.5 6.1
012 7079w RN 1.0-4.8mm
0"'79'0 210X 11'VRY7Y0 2.0-5.0 mm
VIV IRMIVONRND |"'NYATR
| T"IW *7U0WITIRND 1T
CGBR. .
CGBR1616H43 - 9.3
CGBR2020K43 - 13.1
CGBR2525M43 - 16.4
CGBSL2020K43 - 12.4
CGBSL2525M43 - 19.0
SGBR1616H43 - 6.7
SGBR2020K43 - 6.7
SGBR2525M43 - 9.0
SGBSL. .
SGBSL2020K43 - 10
SGBSL2525M43 - 14
GBA43L250 ZP15 2.5 6.1
GBA43L300 ZP15 3.0 6.1
GBA43L350 ZP15 3.5 6.1
GBA43L400 ZP15 4.0 6.1
GBA43L450 ZP15 4.5 6.1

| B
02 ‘7!;}9?) MINVIVIN' 1.0-4.8mm

0''79'0 A1'UN} 11'OPY7V 0 2.0-5.0 mm
[VIVP IRMIVORN [''MYATR
|TIW 2D 0WIHTIROO |1'T

T\

CGBL.
CGBL1616H43 = 9.3
CGBL2020K43 - 13.1
CGBL2525M43 - 16.4
CGBSR2020K43 = 12.4
CGBSR2525M43 - 19.0
SGBL1616H43 - 6.7
SGBL2020K43 - 6.7
SGBL2525M43 - 9.0
SGBSR2020K43 - 0.7
SGBSR2525M43 - 14.3

YT LPITRID

Grooving Machining

Spring Steel

V'XN?'9'XVYD0

GER100-A ZP15
GER150-A ZP15

SI1GER0606A-EH
SI1GERO808A-EH
Spring Steel

S|1GERO808A-EHT

Width USD

RGN
oo

bl
~N~

19.0
1.9

1.9

Grooving Machining

Spring Steel

GER100-B ZP15
GER150-B ZP15
GER200-B ZP15
GER250-B ZP15
GER300-B ZP15

SIGER1010B-EH
SIGER1210B-EH
Spring Steel
SIGER1010B-EHT
SIGER1210B-EHT

DN = =
ocuvwouwo

e
ENENENENEN

Grooving Machining

u
Spring Steel

GER100-C ZP15
GER150-C ZP15
GER200-C ZP15
GER250-C ZP15
GER300-C ZP15
GER350-C ZP15

S1GER1412C-EH

SIGER1616C—-EH
Spring Steel

SI1GER1412C-EH

WWNN ==

oo ouoo

PRARMN
NNNNNN

Grooving Machining

SI1GER. . Spring Steel

GER100-D ZP15
GER150-D ZP15
GER200-D ZP15
GER250-D ZP15
GER300-D ZP15
GER400-D ZP15

S1GER2020D-EH
SI1GER2525D-EH

AN~

oo Uouo

goao oo
GO

o>
~w

L
—

Grooving Machining

7GR100 ZP15
7GR150 ZP15
7GR200 ZP15

SNGR08J0O7

SNGR10K07
Spring Steel

SNGR10K07

N — —

[@N¢, Ne)

Ho NI
oo o

.
oo

—

Grooving Machining

SNGR. .  Spring Steel

8GR200 ZP15
8GR300 ZP15

SNGR10K08
SNGR12M08
Spring Steel

SNGR10K08

wnN

oo

~O O

©
oo

Grooving Machining

9GR100 ZP15
9GR200 ZP15
9GR250 ZP15
9GR300 ZP15

SNGR12M09
SNGR16Q09
SNGR20R09

whN =

oo o

wwww
cococo

AA
w=22
-0 °

7RXON |IX W'OW 0D TTI?{707' 719 [2'IX.
TOI W' TNRIMYO 'R TH19 [K'OZNOINI0 IN7INT.

yor ,ak19 | arn 'k 2k Email; eva@mzgtool.cn

http://www.mzg.tw



http://www.mzg.tw

710 211110 |UR7VA0'IN-OKP? / 22" 1IXROA

Grooving/Cut-Off Turning Tool

VT2 OPITRID

VIAVIITAINRD [IX TR VIROWYA
2'1'UNRN [7'TIY 07X'MVUNN

V'XKP?'9'X¥VYD0

MGMN150 CBN1
MGMN200 CBN1
MGMN250 CBN1
MGMN300 CBN1
MGMN400 CBN1
MGMN500 CBN1

ahrwbND =

Width USD

DI'IMI?X [IN VDI
Finish Machining

MGMN150 PCD1
MGMN200 PCD1
MGMN250 PCD1
MGMN300 PCD1
MGMN400 PCD1

podpN~

oo oOm ocoocuUo,m

ocoooo (OO0 O

NV OVOVOVOY | OVOOVOVOVOO

c/ W \\
.ﬁ \l/

A1'OYONID PVIIR-0X? / 21 1KY

MGGN300 ZP15
MGGN400 ZP15

na

Rl

[eNe)

= N
~N o

o |
8° Taper\\ /“

AV'OYORTID-DIWONIT

MGGN200-Q ZP15
MGGN300-Q ZP15

w N

oo

~N~

< W
y\i/

Copper ar Aluminum
A1'OMOH D PUIR-URE / AVTIRRIA

MGGN200 ZKO1
MGGN300 ZKO01
MGGN400 ZKO1

prownN
coco

(O e BN

S
\i/

ATOMORID FM\IN*UNF/ 2'1IRKI2

MGGN150 ZP30
MGGN200 ZP30
MGGN250 ZP30
MGGN300 ZP30
MGGN400 ZP30
MGGN500 ZP30

oo~

NN = =

1

8° Taper
A1'OVYOKAD-0"IWONIT

MGGN150R-8 ZP30
MGGN200R-8 ZP30
MGGN250R-8 ZP30
MGGN300R-8 ZP30
MGGN40OR-8 ZP30
MGGN500R-8 ZP30

ahrwbdD =

ocooocuoOm ocooocuowm

WNN ===

_hOVO~NN NO NN

B
(W)
8° Taper\i/

A1'QYOXID-DIYIAIT

MGGN150L-8 ZP30
MGGN200L-8 ZP30
MGGN250L-8 ZP30
MGGN300L-8 ZP30
MGGN400L-8 ZP30

PN~
cowvwow

NN ===

OO

Copper or Aluminum
A1 OV O R e IR AT | R

MGMN150-G ZKO01
MGMN200-G ZKO1
MGMN200-M ZKO1
MGMN300-M ZKO01
MGMN400-M ZKO1

podpN~
cococow

N ==

ONNNN

Cermet Medium and Fine
17'TIV LIA [ARN YIXD 7KLY

MGMN200-G ZN60
MGMN300-M ZN60
MGMN400-M ZN60
MGMN500-M ZN60

Dok W

[eofeoNoNe)

NN = —

~owh

v

_I:J‘ 100 LPYIDRIAL
20 OVORIS PR L A1 R

MGMN200-T ZP30
MGMN300-T ZP30
MGMN400-T ZP30

MGMN300-H ZP30

2

rown
coco

[=Ne e

-M
AVEAIA THOY

1O YONIO-UNIUIOYT

MGMN200-G ZP20
MGMN250-G ZP20
MGMN250-M ZP20
MGMN300-M ZP20
MGMN400-M ZP20

ponpbdN
couumo

N ==

[=Ne e e e

-G -M
AVTINRTIA TR0 WY
/21'0Y0X19-0IWIIT

MGMN150-G ZP30
MGMN200-M ZP30
MGMN200-G ZP30
MGMN250-M ZP30
MGMN250-G ZP30
MGMN300-M ZP30
MGMN400-M ZP30
MGMN500-M ZP30

ORrONDNON =

oo UUooOm

NN = = o

~N~Noo oo oo

VT2 VPITRID

V'XKP?'9'XYVYD0

Width USD

MRMN200-G ZP30 R1.0 1.6

MRMN200-M ZP30 R1.0 1.6

MRMN300-M ZP30 R1.5 1.6

-G -M MRMN400-M ZP30 R2.0 2.0
ATIRTA 'R ATWTD

YIRD TR 1D A1 T aRID

VIVII7AIRD IR TR VIRVYYA
2'1'UNRN [TV 07R'IVUNND

MRMN400 CBN1 R2.0 6.9

PYIR-OXP [ 22'1R2 IR T'7'0

MGEHR1010-1.5
MGEHR1010-2
MGEHR1212-1.5
MGEHR1212-2
MGEHR1212-3
MGEHR1616-1. 5
MGEHR1616-2
MGEHR1616-2. 5
MGEHR1616-3
MGEHR1616-4
MGEHR2020-1. 5
MGEHR2020-2
MGEHR2020-2. 5
MGEHR2020-3
MGEHR2020-4
MGEHR2020-5
MGEHR2020-6
MGEHR2525-1. 5
MGEHR2525-2
MGEHR2525-2. 5
MGEHR2525-3
MGEHR2525-4
MGEHR2525-5
MGEHR2525-6
MGEHR3232-2
MGEHR3232-3
MGEHR3232-4
MGEHR3232-5
MGEHR3232-6

CORWNOCORAWNNCOORARWONNARAWNNSWOND=SND =
CO0O00O0O0O0OUDUOOOOUIOUOOUIOUTOOUTO U

VOO0V 0VOVPrTOTOTOTOTOTOOOO0 00000
COO0O0O0OWNNNNNNNNNNNOoOOoOoOoO

-
AR ARl
N N N N N

Spring Steel

PYIR-ORP [ 221k 7R 170

MGEHR1010-1. 5T12
MGEHR1010-2T12
MGEHR1212-1. 5T12
MGEHR1212-2T12
MGEHR1616-1. 5T13
MGEHR1616-2T16
MGEHR1616-2. 5T18
MGEHR1616-3T12
MGEHR1616-3T20
MGEHR1616-4T20
MGEHR2020-1. 5T13
MGEHR2020-2T16
MGEHR2020-3T20
MGEHR2020-4T20
MGEHR2525-3T20
MGEHR2525-4T20

ALOphONS,ROWWONN=SN=ENS
cCoocOCcOoOUOOOUOUOUIOO

_\
o
~N~

S0 00®00000 G000
leNleNloNlo oY oY oN R oRoNoNIoNE

PYNR-OKP / 221X IRpTI'7'0

MGEHL1010-1.5
MGEHL1010-2
MGEHL1212-1.5
MGEHL1212-2
MGEHL1616-1. 5
MGEHL1616-2
MGEHL1616-2. 5
MGEHL1616-3
MGEHL1616-4
MGEHL2020-1. 5
MGEHL2020-2
MGEHL2020-2. 5
MGEHL2020-3
MGEHL2020-4
MGEHL2020-5
MGEHL2525-2
MGEHL2525-2. 5
MGEHL2525-3
MGEHL2525-4
MGEHL2525-5
MGEHL2525-6
MGEHL3232-3
MGEHL3232-4
MGEHL3232-5
MGEHL3232-6

COUORWOONRWNNORAWNNSARWNN=SN=NDS
COO0O0O0O0O0OUOOOOUOUIOOUIOUTO IO O

2353290000000 0000O0000
CoocOoONNNNNNNNNNNOOOO

Noooo
R NIFNE NN

IRXON [IN W'OY 019 TTI7ROR! 19 |2IN.
TOIWITRIMYO 'R THI9 [R'OZNOINI0 IXTINT.

yoa ,ak19 1 arn 1k 2k Email; eva@mzgtool.cn

http://www.mzg.tw


http://www.mzg.tw

710 22'2110 22'1IXKIA Y7RN W'/ YOKRD 910
End Face/lnner Hole Grooving Turning Tool

YT VPITRD V'¥N[?'9'XVY90 Width USD AYT7'2 LPITROD V'YN[?'9'XVY90 Width USD
MGIVR2016-1. 5 1.5 9.3
MGIVR2016-2 2.0 9.3
MGHH320R-35/48 3.0 19.0 MGIVR2016-2. 5 2.5 9.3
MGHH320R-48/66 3.0 19.0 MGI1VR2016-3 3.0 9.3
MGHH320R-64/100 3.0 | 19.0 MGIVR2520-1.5 1.5 11.0
MGHH320R-98/160 3.0 19.0 MG1VR2520-2 2.0 11.0
MGHH320R-160/400 3.0 19.0 MGI1VR2520-2. 5 2.5 11.0
MGHH325R-35/48 3.0 | 28.6 MGIVR2520-3 3.0 11.0
MGHH325R-48/60 3.0 | 28.6 MGIVR2520-4 4.0 11.0
MGHH325R-60/75 3.0 28.6 MGIVR3125-1.5 1.5 13.1
MGHH325R-64/100 3.0 | 28.6 MGIVR2925-2 2.0 13.1
MGHH325R-100/140 3.0 | 28.6 MGIVR3125-3 3.0 13.1
MGHH325R-160/400 3.0 28.6 MGI1VR3125-4 4.0 13.1
MGHH325R-200/800 3.0 | 28.6 MGIVR3125-5 5.0 13.1
MGHH420R-48/60 4.0 19.0 MGIVR3732-3 3.0 26. 1
MGHH420R-60/75 4.0 19.0 MGI1VR3732-4 4.0 26.1
MGHH420R-64/100 4.0 19.0 MGIVR3732-5 5.0 26.1
MGHH420R-98/160 4.0 19.0 119 21" 1'UNN MGIVR3732-6 6.0 26. 1
MGHH420R-160/400 4.0 |19.0 Inner Hole Grooving
MGHH425R-48/66 4.0 28.6
MGHH425R-64/100 4.0 | 28.6 Soring Steel
MGHH425R-100/140 4.0 |28.6 pring stee
MGHH425R-160/400 4.0 28.6
MGHH425R-200/800 4.0 | 28.6
PV 19 21 1'URN
YOS 910 9'IXR A1'1X1A MG [ VR2520-3T8 3.0 15.4
Spring Steel MGIVR2520-4T8 4.0 15.4
MGHH320R13-30/50 3.0 21.9
MGHH320R15-50/80 3.0 21.9
MGHH320R17-80/160 3.0 21.9
e MGHH320R18-160/400 3.0 21.9
5 MGHH325R18-160,/400 3.0 | 23.9 [19 A2'TURND
MGHH420R15-30/50 4.0 | 21.9 Inner Holg Grooving
MGHH420R18-50/80 4.0 21.9
_ MGHH420R20-80/160 4.0 | 21.9 MGIVL2016-1.5 1.5 1 9.3
MGHH425R15-30/50 4.0 | 23.9 MGI1VL2016-2 2.0 1 9.3
MGHH425R18-50/80 4.0 | 23.9 MGIVL2016-2. 5 2.5 1 9.3
MGHH425R20-80/160 4.0 | 23.9 MGIVL2016-3 3.0 | 9.3
MGHH425R20-160-400 | 4.0 | 23.9 MGIVL2316-3 3.0 | 9.3
PV7UR 19 21 1'UNND MGIVL2520-1. 5 1.5 11.0
YOND 910 9'IX 21'I1X12 MG IVL2520-2 2.0 11.0
Spring Steel MGI1VL2520-2. 5 2.5 11.0
MGIVL2520-3 3.0 11.0
MGIVL2520-4 4.0 11.0
MGIVL2925-2 2.0 13.1
MGIVL3125-3 3.0 13.1
MFH216R08-20/140 2.0 16.7 MGIVL3125-4 4.0 13.1
MFH320R10-25/140 3.0 21.4 MGIVL3125-5 5.0 13.1
MFH325R10-25/140 3.0 24.6 . MGIVL3732-3 3.0 26.1
MFH420R12-25/140 4.0 | 21.4 e MG IVL3732-4 4.0 | 26.1
MFH425R08-25/140 4.0 | 24.6 nnerrole Brooving MG IVL3732-5 5.0 | 26.1
MFH425R10-25/140 4.0 24. 6
7OVY7TR 19 2111'UNN
VYOKXO 910 9'IX 21'IXIA
MGEVR1616-2 2.0 8.6
MGEVR1616-2. 5 2.5 8.6
MGEVR1616-3 3.0 8.6
MGEVR1616-4 4.0 8.6
MGEVR2020-2 2.0 8.6
MGEVR2020-2. 5 2.5 8.6
MGEVR2020-3 3.0 8.6
MGEVR2020-4 4.0 8.6
MGEVR2525-3 3.0 1.0
Cylindrical Grooving
MGEVL1616-2 2.0 8.6
MGEVL1616-2. 5 2.5 8.6
MGEVL1616-3 3.0 8.6
MGEVL1616-4 4.0 8.6
MGEVL2020-2 2.0 8.6
MGEVL2020-2. 5 2.5 8.6
MGEVL2020-3 3.0 8.6
MGEVL2020-4 4.0 8.6
MGEVL2525-3 3.0 11.0
Cylindrical Grooving

INYOK [IX WWIOW 01 TTI7P0R' T19 [N,
TOI MW TRIMWY 'K TMID [K'OFZNOIXIV IRYINT.
yora k19 1 axn 1k 2k Email: eva@mzgtool.cn http://www.mzg.tw



http://www.mzg.tw

710 21710 27

CNC Turning Tool

VT2 DPITRID VT2 VPITRID

5.4
5.3
5.4
6.0
8.3
3232P 14.7 KTGFRI/L..
4040R 21.9 ZQ.. 710 22710 PYIX-OKR? 9'0 710 2127110 21'IINXIA D'V
1616H 6.7 SPB226 11.9 KTGFRI/L.. 1010 1.9
2020K 6.7 SP.. SPB32¢ 11.9 710 22'2710 22'IRKIA 9'0 1212 1.9
2525M 8.6 Y\ SPB426, 11.9 1616 1.9
3232p | 14.7 - SPB232 14.3 - 2020 | 131
4040R 29.0 SPB332 14.3 - 2525 15.4
SPB432 14.3
M 710 211110 7Rj'1T'7'0 9'0 SPB.. 710 211110 PYIIR-OXR}P 9'0 Spring Steel
1616H 6.7 SLTBN.. 1616 | 22.6 1010 7.1
2020K 6.7 ; 2020 22.6 1212 7.1
2525M | 8.6 [ 2525 | 22.6 1616 7.1
3232P 16.4 - 3232 29.7 2020 7.1
4040R 32.4 2525 9.3
KTGFSRI/L..
W 710 21710 7871 T2'7'0 ©'0 210 22'2710 22'1IXKI2 9'0
1616H 9.3 MGEHRI/L.. pyix-vij7 90 1010 7.1 1616 6.7
2020K 9.3 /710 2112710 22'HRKIA 1212 7.1 2020 6.7
2525M 1.0 1616 6.4 y ; 2525 8.9
3232P 14. 6 2020 6.4
4040R 36.0 MGMN.. 2525 8.9
3232 16.4 SGBRI/L..
D 710 2112710 7R T17'0 910 710 22'2110 22'IKXRIA 9'0
S 21¥Y3 IR Y7XD WD 90 S06K 5.4 MGEHR/L.. pyix-vi7 90 1010 9.6 1616 9.0
SO7K 4.6 /210 2312710 221IRKAA 1212 9.6 2020 9.0
S08K 4.6 1616 8.9 ) 2525 1.9
S10K 4.6 MGMN... 2020 9.6
S12M 5.0 2525 11.0
S14N 5.4 s Steel SGBSRI/L..
g}gg 231 pring Stee 10 2112710 22 1IXKIA 910
. 1616 8.6
SR | 6.4 202 | 86 I I
S258 9.7 2525 1.0 '
$32T 14. 6 2525 16.4
MGEVR/L.. CGBRI/L..
210 2212110 22'1INKIA 9'0 710 222110 A2'1IXKDA D'V
S 2% NN VIR WA 910 S07 5.4 Spring Steel 16 9.3 1616 11.9
- S08 5.4 20 11.0 2020 14.3
S10 5.4 25 13.1 2525 17.9
S12 6.9 32 25.7
S16 8.6 40 54.3
$20 9.7 Spring Steel CGBSRIL..
MGIVR/L Type Inner Hole
Spring Steel Y10 N.n,\lffn.,,,{m) 20 15.4 210 2212110 221INKIA 90
H arxpa 80 v7XN ' 910 S06 14.6 CGWSRI/L.. pvir-0ii? 910 1616H 9.6 QE..R/L.. pyur-vip 910 1616H 9.3
S07 14. 6 /210 2211710 A1HIRKA 2020K 10.7 /710 221710 2211IKRIA 2020K 11.0
S08 14.6 2525M | 12.6
$10 16.4 3232P 20.0
S12 18.1 .
S14 20.0
S16 21.7
S18 34.6 1616 10.3 DGTRI/L.. pvix-0Ij7 9'0 1616 15.3
S20 43. 6 2020 10. 3 /710 2211710 22 1INKDA 2020 16.9
S25 65.0 GY2M.. 2525 11.9 2525 | 20.4
DGN.
ox0w b1 N GYHR/L.. PYIIR-0I 9'0
: /710 222710 A2'1INXIA 3
C 2''xV2 XN Y7RN W' 910 C04G 19.0 KGMRI/L.. pulir-vij 90 1010 10.3 FGHH..R/L. . 1616 28.6
C05G 19.0 /710 2212710 22 XK 1212 10.3 [ 2020 28.6
C06J 19.0 " 1616 9.3 2525 32.4
CO7K 19.0 2020 11.0
CO8K 22.6 GMN.. 2525 12.9 FMN.. Color Have
C10K | 26.1 GMG.. 3232 20.0 0D qI0  |erim iy
C12M 33.3 Grooving Machining
C14N 52.4 TTER/L.. pynx-vig o'o 1010 10.3 1616 35.7
Cc16Q 69.0 /710 219710 A1 NRKTA 1212 10.3 2020 38. 1
c18a | 81.0 1616 9.3 2525 | 42.9
C20R 95.3 2020 11.0
€258 204.7 2525 12.9
Cemented Carbide B Ty 3232 20.0 0'0 qI0
Grooving Machining
S16Q 8.3 TTIR/L.. Type Inner Hole 16 14.3 X 1616 23.9
S20R 8.6 210 212710 A3 HHKIA 20 16.7 ﬁ 2020 21.9
233? 12-2 25 19.0 o 2525 | 23.9
S40T/U | 28.9 RICMN.3
\ S50V 72.1 ,
S..M.. a1'yya RN Y9N W2 910 Spring Steel Groo?ing Mlllc?ming

ZXYON [IN WWIOW 01D TTI7OR' T19 [2'IR
TOI WITRIMYO 'R THID [R'OZNOINI0 IXTIRT.
yor ,1ak19 1 ann 1k 2k Email; eva@mzgtool.cn http://www.mzg.tw


http://www.mzg.tw

YIXD 710 2212710 717

210 22110 77 PartS

MC0903 | 0.4 M-9NKT{? 9'0 HL1810 0.4
MC1204 0.6 HL1814 0.4
MG1604 1.1 HL1917 0.4
5 MC1904 1.6 HL2114 0.4
ik i | o4
HL22175%%5 1.0
C-0'Y 9'0 HL2414 0.4
2 MD1103 | 0.4  M-1IVI{70 ONKIF 90 ML520 0.3
. ,- MD1504 | 1.0 ML620 0.3
’ MD1506 A ML625 0.3
ML630 0.3
ML830 0.8
D-D0'¥ 9'0
MS0903 0.6 w-9nN71 9'0 WT16 0.4
e MS1204 0.6 Wwos 0.4
P MS1504 1.1
¢ MS1904 1.6
S-0'W 9'0
MT1603 | 0.3  W-HVIj70 BOKT}7 9, WC0525E | 0.4
MT1604 1.1 WC0625E 0.4
<« WT2204 | 1 1
T-D'Y ©'0
MV1603 0.6 D-9AK77 9'0 DC12 1.0
DD15 1.0
DT16 1.0
DV16 1.0
DW08 1.0
y-0'¥ 9'0
! MWO603 0.4 D-11YI70 9NX7{? 9'0 DL525 0.7
- MW0804 0.6 . DL625 0.7
W-0'e/ 8'0
— [smmer | 0.3 DDC12 0.5
T al | STM16L 0.3 DDD15 0.5
o e STM22R 1.0 DDT16 0.5
STM22L 1.0 DDV16 0.5
R L DDW08 0.5
STM-D'W 9'0 D-D'Y 9'0 Screw
CTM510 0.2 L-1v121X90 [XAXOPYN W' 9'0 L1.5 0.2
CTM513 0.2 L2.0 0.2
CTM613 0.2 L2.5 0.2
CTM617 0.2 L3.0 0.2
CTM619 0.2 L4.0 0.2
CTM515-T 0.2 L5.0 0.3
CTM618-W 0.2
g¥%g§§ :!:" 8 3 T-1y11x90 [XAROPYN VI 9'0 ¥t; (5) } (o)
CTM1022 0.3 TL2.5 1.0
CTM1022":5| 0.7 TL3.0 1.0
- TL4.0 1.0
T/W TL5.0 1.0
11YIj70 7VY1'® Ty0IVY =
M2. 0X5 0.1 Y D79 UMW |ND T6 0.2
M2. 2X5 0.1 T7 0.2
M2. 5X5 0.1 . T8 0.2
M2. 5X6 0.1 T10 0.2
M2. 5X8 0.1 T15 0.2
M3. 0X8 0.1 T20 0.2
M3. 5X10 0.1
M3.5X12 | 0.1 A7 0'179 0V9M'Y-|ND 16 0.8
M4. 0X8 0.1 17 0.8
M4. 0X10 0.1 T8 0.8
M4. 5X12 0.1 T10 0.8
M5. 0X10 0.1 T15 0.8
M5. 0X12 0.1 T20 0.8
Y0IYIII D179 9'0-N TT6 1.0
TT7 1.0
TT8 1.0
TT10 1.0
TT15 1.0
TT20 1.0
170 A''¥Y2 DXOONX"72] D'17¢

YNYOKX [IN WW"0OW ,0'"D TTIZPOP! T'I19 |Q'IN.

TOI WITRIMYO 'R TMID [R'OPNROIRID IRYINT. 20
yura,ax19 1 jaxn Ak 2k Email: eva@mzgtool.cn http://www.mzg.tw



http://www.mzg.tw

AYOKRP 22'7'1 7722111 VOV TIYNYTIR-|'URN

Machine-Clamped Right-Angle Milling Cutter

AVOKP 22'7'0 Q10 7{72'11-0"1 910 URKUV AV'FK?  IWTIRNIRRO WORP 22'77'0 910 V72IR-0'") TUTIRZO'T
T 0PITRID V'X¥Nj7'9'XV90 R USD \ Ao ! ' ! 1 !
Locking Tooth Type Right-Angle End Milling Cutter Discarded Right-Angle End Milling Cutter Toolholder

S iy
: APKT113502 CBN1 0.2 | 69 D} 7 o b ¢
APKT113504 CBN1 0.4 6.9 ‘ T !
19BN APKT113508 CBN1 0.8 6.9 TN -
0'7?('"\)10?{)2\ TTAXD |IX X' VONP dxDxL usD
M BAP300R C10-10-120-1T 3.3
APKT160402 CBN1 0.2 6.9 BAP300R G10-11-120-1T 3.3
APKT160404 CBN1 0.4 6.9 VI¥R'9'NYD0 W BAP300R C12-12-130-1T 3.3
APKT160408 CBN1 0.8 6.9 DxTxM gﬁggggg g}i—}i—lgg—g i-g
|19 A1 s _ _ _ —_ —_ — .
OYRMYNA TTIXD (11 [#71 DOKT gﬁgg_};_}i_mg ;’3’, g BAP300R C14-14-150-2T 4.6
_ | : BAP300R C15-15-150-2T 4.6
APKT113502 PCD1 0.2 6.9 ~ BAP3-15-2T-M8 239 BAP30OR C15-15-200-2T 5.4
APKT113504 PCD1 0.4 | 6.9  BAP-16-2T-M8 280 BAP30OR C15-16-150-2T | 4.6
ey APKT113508 PCD1 0.8 | 69  BAP-17-2T-M8 8.6 BAP30OR 15-16-200-2T 5.4
119 A2t eras BAP3-20-2T-M10 31.0
Copper and Aluminum BAP3-21-2T-M10 31' 0 BAP300R C15. 6-16-150-2T 4.6
o ISR Sy 5 BAP30OR C15.6-16-200-2T | 5.4
j : BAP300R C16-16-120-2T 4.6
' APKT160402 PCD1 0.2 6.9 BAP3-25-4T-M12 357 BAP30OR C16-16-150-2T 4.6
APKT160404 PCD1 0.4 6.9  BAP3-26-2T-M12 333 BAP300R C16-16-200-2T 5.4
APKT160408 PCDT 0.8 | 69 [NEEaEuliaHE 333 BAP3OOR G16-16-250-2T 9.6
|19 21'w1'9 BAP3-26-4T-M12 35.7 —17-120—
BAP300R C16-17-120-2T 4.6
Copper and Aluminum BAP4-25-2T-M12 33.3 BAP30OR C16-17-150-2T 4.6
B 2e21 2 3577 BAPSOOR C16-17-200-2T 5.4
APKT1135PDER-AL ZKO1 | 0.8 1.4 = ) BAP300R C16-17-250-2T 9.6
DT o G| BAPSOOR C16-18-150-2T 5.4
APKT1604PDER-G2 ZKO1 | 0.8 1.9 BAPA-32-3T-M16 40 4  BAPSOOR C16-18-200-2T 6.1
|12 2'w'1'9 DI'TYN e : BAP300R C19-20-150-2T 5.4
Copper and Auminu’ BAP4-35-3T-M16 42.9  BAP300R €19-20-200-2T 6.1
BAP Steel Right Angle BAP300R C20-20-120-2T 5.4
; 6 aLINT IO e e BAP300R C20-20-150-2T 5.4
APKT1604-AL ZKO1 0.2 | 1.9 FndMilingCuter gﬁggggs g%g:ég:ﬁggig ol
| am——— '
BAP300R C20-21-120-2T 5.4
. [12 ”;i’l'l'g BAP300R €20-21-150-2T 5.4
AN S BAP300R €20-21-200-2T 6.1
BAP300R C20-21-250-2T 9.6
APMT1135-TG ZN60O 0.8 1.4 BAP300R 24-25-150-3T 10.3
BAP300R (24-25-200-3T 11.9
APMT1604-TG ZN60 0.8 1.9 BAP300R (24-25-250-3T 14.3
Cermet Medium and Fine Steel BAP300R €24-25-300-3T 20.4
13271V 012 [AND YIND BAP300R (25-25-150-3T 10.3
BAP300R (25-25-200-3T 11.9
V'¥N'9'¥VD0 BAP300R (25-25-250-3T 14.3
APMT1135PDER-M2 ZP25 | 0.8 1.1 DxdxT BAP300R (25-25-300-3T 20. 4
BAP300R 40-22-4T 11.9  BAP30OR C25-25-150-2T 7.4
APMT1604PDER-M2 ZP25 | 0.8 1.9 BAP300R 50-22—4T 153  BAP30OR C25-25-200-2T 8.9
BAP300R 63-22-6T 20. 4 BAP300R ($25-25-250-2T 1.9
BAP400R 40-22-3T 10.3 BAP300R (25-25-300-2T 19.0
BAP40OR 50-22-4T 10. 3
APMT1135PDER-H2 ZP25 | 0.8 1.1 BAP400R 63-22-4T 11.9 BAP400R C24-25-150-2T 7.9
27— 20,4  BAP400R C24-25-200-2T 9.6
APMT1604PDER-H2 ZP25 | 0.8 1.9 Eﬁﬁiggs ?&ﬁ;zf}ﬁ 32‘ 4 BAP4OOR C24-25-250-2T 1.9
BAP400R 125-40-7T 51.0 BAP400R (24-25-300-2T 19.0
M edium Raugh Machining BAP400R 160-40-8T 61.1 BAP400R €25-25-150-2T 7.9
BAP40OR 200-40—10T 119 0  BAP40OR €25-25-200-2T 9.6
_ BAP400R 250-40-12T 187.1  BAP400R (25-25-250-2T 1.9
: ” 5 APMT1135PDER-XM ZP25 | 0.8 1.1 BAPAOOR 300-60—14T S 1 BQPZ{SSR 3%5_%‘2_?08_? 190
: APNT1604PDER-XM ZP25 | 0.5 | 1.9 BAPATOR 20723447 i A L3/
N OND "BYRK [ 21/00kaS BAAOOR B0 2 4T | 229 Babiook Gasestoal | 190
aab ~ — BAP400R C25-30-150-2T 10.3
g APMT1135PDER ZM90 0.8 2.0 ;’108'27;;" n t"o‘R"-”h”;\U : E”dnh:;"? 9"03"”‘ BAP400R C25-30-200-2T 11.9
-| uminum Right-Angle En illing Cutter
BAP400R (25-30-250-2T 16.9
APMT1604PDER ZM90 0.8 2.7 BAP40OR (25-30-300-2T 20. 4
BAP400R C32-32-150-3T 13.6
° 62 710 1¥ 21'0YOXI® ORITIXD 1IN BAP400R (32-32-200-3T 15.3
BAP400R C32-32-250-3T 18.9
; . ] APMT1135PDER ZP20 0.8 1.6 BAP400R C32-32-300-3T 23.9
— BAP400R (32-32-350-3T 27.1
S APMT1604PDER ZP20 0.8 2.3 BAP400R C32-32-400-3T 35.7
— BAPAOOR C32-35-150-3T | 13 6
7N'MVUONA ["AVATH 'K 21'0YORID BAP400R (32-35-200-3T 15.3
o BAP400R C32-35-250-3T 19.7
VRRD'9 W90 BAP40OR €32-35-300-3T | 23.9
APMT1135PDER ZP30 0.8 1.6 BAP400R C32-35-350-3T 271
AL-BAP400R 50-22-4T 16,9 BAP400R €32-35-400-3T 35.7
APMT1604PDER ZP30 0.8 2.3 AL-BAP400R 63-22-4T 22.1 BAP400R C32-40-150-3T 15.3
7N'IYUNA |"AYATH 'K A1'OYOKID AL-BAP40OR 80-22-6T 30.7  BAP40OR €32-40-200-3T 17.6
- AL-BAP400R 100-22-6T 546 BAP40OR C32-40-250-3T 22.1
q APMT1135PDER ZP60 0.8 1.4 AL-BAP400R 125-27-7T 85.0 BAP400R C32-40-300-3T 25. 4
AL-BAP400R 160-27-8T 95.3 BAP400R C32-40-350-3T 30.7
— APMT1604PDER ZP60 0.8 1.7 AL-BAP400R 200-27-10T 204.0 BAP400R C32-40-400-3T 39.0
AL-BAP400R 250-32-12T 272.1 BAP400R C32-50-150-4T 221
INMIVORA [TAYATR 'R A1'OYORID AL-BAP400R 300-32-14T 340. 3 BAP400R C32-50-200-4T 27.1

INYON [IN YUYW 01D TTIZPOR! T1'I19 |AIX.

TOIWITRIMYY 'R TYI9 [R'OFZNOINTI0 INTINT.
yoa ,ak19 1 axn 1k 2k Email; eva@mzgtool.cn http://www.mzg.tw


http://www.mzg.tw

AYONP 22'7'1 TX) wny7p |'uRn

Machine-Clamped Round Nose Milling Cutter

AYOKXP 22'7'0 910 TR TR YD'0 NOURKL AV'PR7  AWTIRNIXRL WOKP 22'7'0 910 TR TR T TIRFO'T
Locking Tooth Type Round Nose End Milling Cutter Discarded Round Nose End Milling Cutter Toolholder

T OPITRID V'XNj7'9'XV90

b u} - ...__._.__._Id
RDMW1204MOT—-PM ZP30 | Ré 1.7 ;HL |
— VIXKX7'9'XV90 T'"I9
RDMW1605MOT-PM ZP30 | RS 2.4 NI beh
IR'IYORN "'MYAIX 'R 21'0YORID EMR C10-4R10-120-1T 33
~ EMR C12-4R12-130-1T 3.3
ﬁ EMR C16-4R16-120-71 20
& 4 RPGT1003-AL ZKO1 R5 1.9 EMR C16-4R16-200-2T 6.1
oomo
19 A1'¢'S 0l"Tyn VIXKXP'9'XVO90 B — = .
"o s bjoisierie gl -
Eﬂﬁﬁi‘l?‘ﬂ‘ﬂﬁ gg-g EMR C20-4R20-150-2T 6.1
n -17-2T- . EMR C20-4R20-200-2T 6.9
RPMW1003M0 ZN60 RS 1.6 EMRR4-20-2T-M10 31.0  EMR C20-4R20-250-2T 11.9
RPMW1003 ZN60won cranering RS 1.3 EMRR4-21-2T-M10 31.0  EMR C20-4R21-150-2T 6.1
— RPMT1204M0 ZN60 R6 1.9 EMRR4-25-2T—M12 333 EMR C20-4R21-200-2T 6.9
Cermet Medium and Fine Steel EMRR4-26-2T-M12 33.3 EMR C19-5R20-150-2T 6.1
[7' T2y 012 |AXD YIXD EMRR4—25-3T-M12 35.7 Emg g;gjggggjggjg P
5l R 2o 2 57 EMR 620-5R20-200-2T 7.4
- —20-2T- : 20-5R20-250-2 11.9
EMRR5-25-2T-M12 33.3  EMR C20-5R21-200-2T 7.4
RPMT10T3-JS ZP25 RS 1.4 EMRR5-26-2T-M12 33.3  EMR C20-5R21-250-2T 11.9
EMRR5-30-2T-M16 38.1  EMR C20-5R25-150-2T 7.9
IN"MYONND |"YJU2'7)( |'"X 22'0YOXR1D EMRR5_32_2T_M16 38 1 Ems g%g:gg%g:ggg:g; 191 69
e ENRWRS—30-317M12 404 EMR G20-5R30-110-2T 7.9
. EMRWR5-32-3T-M16 40.4 WERIES I @) ee 7
* EMRWR5-35-3T-M16 42.9 54-BRI5-200—2 &6
RPMT1204MO ZM90 R6 2.0 EMRWR6-25-2T—M12 33 3 Ems 324—2522—228—& %6
\-/ Emgwgggg-g-mz gg? EMR C24-5R25-300-2T 19.0
8 . : . -30-2T- : EMR C25-5R25-150-2T 7.9
62 2N I¥ 22'0YOXID OKITIXD 'l EMRWR6-32-2T-M16 38 1 EMR G25-5R25-200-2T 9 6
EMRWR6-35-3T-M16 42.9  EMR C25-5R25-250-2T 13.6
025-5R25-300-2T 19.0
RPMT1204M0 ZP30 R6 1.7 g%g:gs%g:;gg:g ;-Z
R C25-5R26~250-2T 13.6
IN'IWLONN |"Y]J}J'7N ['X 21'OVOKRID g%g:g§%8:?28:%¥ :llg g
= 025-5R30-200-2T 11.9
4 025-5R30-250-2T 13.6
: ] 025-5R30-300-2T 19.0
j RPMT1204M0 ZP60 R6 1.7 ©32-5R35-150-3T 13.6
v €32-5R35-200-3T 15.3
032-5R35-250-3T 18.9
YN'IYOKRN 'YX 'K A1'0YORID 032-5R35-300-3T 23.9
032-5R35-350-3T 28.9
~ ey
~5R40~150~ 5.
T ¥ RPMT1204-XM ZP25 R6 1.3 C32-5R40-200-3T 189
v ©32-5R40-250-3T 20. 4
©32-5R40-300-3T 23.9
YN'MIWOKRN ["NYA7R 'K A1'OYORID C32-5R40-350-3T 30.7
©32-5R40-400-3T 39.0
€32-5R50-150-4T 23.9
[ > —5R25-150— 7.
RPMW1003MO ZM90O R5 1.7 DxdxT SD 025-5R25-200-2T 9.6
EMR 5R50-22-4T 10.3  EMRW 055—5R25—$50—§T 18%
° 62 72N 1¥ 22'0YORID OXKITIND '] EMR 5R63:22:4T 1.9 Emsw 822—25%8—288—2; 11 9
EMR 5R80-27-6T 20. 4 ~9R30-200~
ENR 5R100-32-6T 3, . EMRW C25-5R30-250-2T 16.9
: EMRW C32-5R35-150-3T 13.6
a 28 Al 510" ENRW €32-5R35-200-3T 15.3
RPMW1003M0 ZP20 R5 1.3 EMR 5R160-40-8T 61.1 EMRW C32-5R35-250-3T 18.9
-’ Emg gggg—gg. i—:g 113 EMRW C32-5R35-300-3T 27.1
-25. 4- 5. EMRW C25-6R32-150-2T 10. 3
YX'IVOKRN [''VATX 'K 21'0YONID EMR 5R80-25. 4-6T 23.9 EMRW C25-6R32-200-2T 11.9
ENRW ORS0-22-4T 100 ENRW 032-6R32-150-2T 13,6
L) et V7 ENRW C32-6R32-200-2T 153
RPMW1003MO ZP30 R5 1.3 Emga 25?86225621_ ggj EMRW C32-6R32-250-2T 189
=32- : EMRW C32-6R32-300-2T 23.9
EMRW 6R125-40-7T 51.0 EMRW C32-6R32-350-2T 27.1
IRMIYONN |MNYAINR 'K 11'OYOXRID EMRW 6R160-40-8T 61.1 EMRW C32-6R32-400-2T 30.7
_ EMR 6R200-40-10T 119.0  EMRW C32-6R35-150-2T 15.3
EMR 6R250-40-12T 187.1 Emsw gg%—gsgg—%gg—g ; S'Z
” EMR 6R300-60-14T 238. 1 -6R35-250- .
] RPMW1003MO ZP60 R5 1.3 EMRI ORB025. doaT U ENRW 03%:6R3g:300:%T %J;
INMIVONN 'YATR 'R A1'OVOXRID EMRW 6R80-25. 4-6T 23.9 EMRW C32-6R40-150-3T 16- 9
' ' Y EMRW 6R100-31. 75-6T 357 EMRW C32-6R40—200-3T 197
EMRW C32-6R40-250-3T 221
NTIDIVYS EMRW C32-6R40-300-3T 27.1
RPMW1003-XM ZP25 R5 | 1.3 oMo VENITOWYBOACRR et | EyRW (32-6RA0-350-3T 307
RC../RD..|AY1D YU'1 ,|9VVY |IX YAy 01! EMRW C32-6R40-400-3T 39.0
;hce A/b;\l/je y|IXNtI7l9;th9d? Ar‘e RP.. Imsert? EMRW C32-6R50-150-4T 23.9
|7N"\UUNYJ |"YJ,\JJ‘7N |'N 21'0VOR1D . . Inserts an andle, please Inquire EMRW 032_6R50_200_4T 27 1

YNYOKX [IN WW"'0OW ,0'D TTIZPOP' T'I9 |Q'IN.
TOI W' TXRIMYO 'K THID [K'OPROINIV INTINT.

yua,ak1s v axn vk aax Email: eva@mzgtool.cn http://www.mzg.tw

N
N



http://www.mzg.tw

AYOKRP 21'7'n 2'9V77 |'UNN

Machine-Clamped Milling Cutter

Product V'¥R'o'xyo0 USpDJ Product V'¥Xj'9'xV90 USD

Product VIYNP'9'¥VU90  USD Product V'¥XR7'9'¥¥90  USD { picires Pictures

Pictures Pictures

IR DORP [19 22'Y'1'D

07NV TTIND [IX P3200-R4 ZP10 7.4

P3200-R5 ZP10 8.3 LNMUO303ZER-MJ 800-08A
! P3200-Ré6 ZP10 8.3
£ ’ SEHT1204AFFN CBN1| 7.1 P3200-R8 ZP10 9.9
) P3200-R10 ZP10 11.9
P3200-R12.5 ZP10 20.3

” |19 21'wn'S : Profile Fine Miling of | P3200-R15 ZP10 31.1 PNMUO905GNEN-MJ 800-08T308M-C-G

! | Copper and Aluminum |7N'7.UONYJ vin '132R0‘R16 ZP10 40.3

PNMUO905XNER-GM 800-08T308M-1-G

AROA

| | SEHT1204AFFN ZKO1| 1.7 Cutting Below HRC55 SNMU130508EN-GM 800-09T308H-P-G

BNM120 ZM55 17.
BNM160 ZM55 18.
BNM200 ZM55 23.
BNM250 ZM55 32.
BNM300 ZM55 41.

|19 21'0YOKRID LOXID

WNMUOBO60OSEN-SM R390-11T308-PM

Cutting Below HRC55
SEHT1204AFFN PCD1| 7.1 ZPFG100 ZM55 17
ZPFG120 ZM55 17.
ZPFG160 ZM55 20.
- |19 22'Y'1'S DI'TYn ZPFG200 ZM55 23.
- Copper and Aluminum ZPFG250 ZM55 32.
ZPFG300 ZM55 51.

ohrvVO =

uNN m"nmgx

INIY
SECA1204AFTN ZP30| 3.1

3PKT100408R-M
3PKT150508R-M
3PKT190608R-M

AVYUKR{P 22'77' 910 Y'IYD0 9'0 |KX A1'NRT

Locking Tooth Type Spherical End Milling Cutter SCMTO9T308-MM

A'TYURN |7 1AV 70N
IRMYORN "MV 1P

|| SEHT1204AFSN ZM90 XJMG1204 é $-R215. 44-15T364M
AWK [TV 7PN HNGX0906~-FF S5 |ran31020
7X"VOKRN |"ny1‘7x3||5 V'¥R{7'D'¥VYD0
SEKT1204AFTN ZM90 DxM
T2139M-5R-M5 : WNMX060312ZNN-HM GRIP3003Y
T2139M-6R-M6 31.0 WNMXO9T316ZNN-MM m GR1P4004Y
o,
o -10R-| 5.7
IWOLN[P 227" 019 © 45 7'00 Dy T2139M-12. 5R-M12 38. 1
KM Steel 45° Face Milling Cutter T2139M-15R-M16 40.4 gnggggggggg:m LNKX1506-G
AVTIRNPIRRO 22170 910 WIY90 TYTIRPO'T _—
Discarded Spherical End Milling Toolholder CNHX100508T "‘- WXCU080612T
0T g - = CNHX131108T P 4
| |
L LNKX1005-Y
H LNKX1206-Y
VI¥N{7'9'¥YD0 719 AXITOS0208R-EM E. LNKT1507
dxDxLxT usbD
12139 C10-4R-100-1T 8.9
12139 C12-4R-130-1T 8.9 BLMPO603R-M - $229.0300. 32
72139 C16-4R-150-1T 10.7
V'¥N{7'9'¥YD0 12139 C10-5R-120-1T 8.9
DxdxT 12139 C12-5R-150-1T 8.9
12139 C16-5R-150-1T 10.7 BLMPO904R-ML SOEX090408-13
KM12-50-22-4T 72139 C12-6R-130-1T 8.9
KM12-63-22-4T 153 12139 C12-6R-150-1T 8.9
KM12-80-27-5T 25. 4 %gg g}g—gg—;gg—ﬂ 1(2). 7
KM12-100-32-5T 35.7 —6R-200— 12.6
RIS 20 %} gg g}g_gs_% SS‘H 1(1)'8 BLMP1205R-M ° HNPJ130720ANSN-HD
KM12-160-40-6T 61.1 ~8R-200- e
KM12-200-40—8T 136 0 12139 620-8R-200-1T 16.7
KM12—250-40-10T 204 0 12139 G25-8R-250-1T 19.7
K120 3005602121 955 0 12139 G20-10R-150-1T 13.9 BLMP1306R-M SPIRH5-LT-L
: 12139 C20-10R-200-1T 16.0
KM12-50-25. 4-4T 13.6° 12139 €25-10R-250-1T 19.7
—-80-25. 4— . T 5-12. 5R-150-1T 16.7 T
KM12-100-31. 75-5T 390 12139 €25-12. 5R-200-1T 19.6 TNGXZ207PNTN - SPIRHSLTD
12139 €25-12. 5R-250-1T 22.1
KM Aluminum 45° Face Milling Cutter 12139 ©25-12. 5R-300-1T 25.0
KM Aluminum 45° Face Milling Cutter ;%}gg gg%_]lgRs'}ggo?;ﬂ— %g g ZNHU080-08 - APNT1003-NN
D . - = .
12139 €32-15R-200-1T 21.0
. 12139 €32-15R-250-1T 23.9
12139 G32-15R-300—1T 26.7 3
12139 €32-15R-350-1T 30. 4 SNMX1205XTN « } SEKN1203AFTN-NN
12139 €32-16R-150-1T 18.3
12139 €32-16R-200-1T 21.0
12139 G32-16R-250-1T 23.9 —
12139 €32-16R-300-1T 26.7 ‘
12139 €32-16R-350-1T 30.4 2831828%82:8{3 SEKR1203AFTN-NN
GEe s 23.9 SONT070306-DP
C16-8R-200 29' 7 SOMTO08T306-DP
_10R= : SOMT09T308-DP
et o A
025-12. 5R-150 39.7
V'¥N{'9'¥VD0 €25-12. 5R-200 49.6
AL-KM12-50-22-4T 16.9° ABPF €32-15R-200 51.7
AL-KM12-63-22-4T 22.1 ABPF €32-15R-250 59.6
AL-KM12-80-22-5T 30.7 _ ABPF (32-15R-300 79.3
AL-KM12-100-22-5T 54.6 InsertBNM.. | RPHX1204M6EN-M31 SPMT120408-PM
AL-KM12-125-27-6T 85.0 EWE gg—gs—gg—ﬂ Hg >
AR oo eT i BNML C16-8R-150-1T 15.0
M e o : BNML C16-8R-200-1T 17.9 XNEX080608-MD15 ONHU060408~PM
AL-KM12-250-32-10T 2121 BNML G20-10R-150-1T 21.0 ONHUOBT508-PH
AL-KM12 300-32-12T 340.3 BNML G20-10R-200~1T 23.9
Aarercn |50 mEewsen, | oy
~KM12-63-25. 4~ . -12. 5R-150— 5.
AL-KM12-80-25. 4-5T 32.4  BNML 025-12. 5R-200-1T 29.7 u ROUXISCE0S IS ’ 8.8
AL-KM12-100-31. 75-5T 54.6  BNML C25-12.5R-250-1T 33.3

YNYON [IN W'OY 01D TTIZZ0P! TI9 |2,
TOIWITRIMYO 'R TH19 [R'OZROINI0 INTINT.
yo ,ak19 1 arn 1k 2k Email; eva@mzgtool.cn http://www.mzg.tw


http://www.mzg.tw

9'0 VY01 Quick Drill

Insert Type Quick Drill

AVOKP 22'7' 910 7{72'11-0'") 9!

Locking Tooth Type Right-Angle End Milling Cutter

0 URND 22'7X7

AVUKRP 21'77'0 910 WIY90 9'0 |KY A1 KT

Locking Tooth Type Spherical End Milling Cutter

VT2 LPITRID

VIXN?'9'XV90

WCMX030208 zP25 0.8 1.4

WCMX040208 ZP25 0.8 1.4

\M WCMX050308 ZP25 0.8 1.7

WCMX06T308 ZP25 0.8 1.9

v 9 1'6VOKTD 41777 WCMX080412 ZP25 1.2 2.6

2NOUONN PIUNIATNR

© Insert: R390-11T3.. y WCMX030208 ZP30 0.8 2.3

V'¥Nj7'D'¥Y90 19 V'¥N{7'9'¥Y90 wgm%ggg%gg %Egg 8 g % ‘31

— — — i WCMX06T308 ZP30 0.8 | 2.6

R39011-16-2T-M8 28.6 BNM-10-R5-M5 35.7 119 21'0YONID 11177 WCMX080412 ZP30 1.2 3.7
R39011-17-2T-M8 28.6 BNM-12-R6-M6 35.7 07X'IWLNN OKITIXD YD

R39011-20-2T-M10 31.0 BNM-16—R8-M8 38.1 SPMG050204 ZP25 0.4 1.4

R39011-21-2T-M10 31.0 BNM-20-R10-M10 38.1 SPMG060204 ZP25 0.4 1.4

R39011-25-2T-M12 33.3 BNM-25-R12. 5-M12 40. 4 SPMGO7T308 ZP25 0.8 1.7

R39011-26-2T-M12 33.3 SPMG090408 ZP25 0.8 1.9

R39011-30-2T-M16 35.7 ||9I,?J'O))ONTD“AJ'7"|‘I SPMG110408 ZP25 0.8 2.3

R39011-32-2T-M16 35.7 —

R39011-33-2T-M16 35.7 SPMG050204 ZP30 0.4 2.7

R39011-35-2T-M16 42.9 SPMG060204 ZP30 0.4 2.9

SPMGO7T308 ZP30 0.8 2.9

AVONP 'm qio I7|7)'II-U"1 9'0 DXXL J)'ﬁN'? 017 2''XY2A [RY'IQMI-'0IR IR0Y |XV02IXL gﬁmg??gjgg %Egg (O) g g 2

Locking Tooth Type Right-Angle End Milling Cutter ~ Tungsten steel anti-vibration tool rod 19 22'0VOXI9 21" T \ )
O.JN,WUM 0XTI0 110 SPMG140408 ZP30 0.8 5.4

YA PR 9'0 DAVOI VYTRIP

WC Insert Type Quick Drill

Insert: JDMT0702..

.U'XNP'D'X_UQO T
DxTxM
JOMTO7-11-2T-M5 35.7 8 12 XCMT040104 | 61.7| 91.4 - 8
JDMTO7-12-2T-M5 35.7 10 12 XCMT050204 | 57.1| 85.0 - -
JDMT07-12-2T-M6 35.7 12 16 XCMT060204 | 47.1| 65.3 - -
JDMT07-13-2T-M6 35.7 14-14.5 | 20 WCMX030208 | 25.3| 32.9 | 37.6] 67.1
JDMTO7-14-2T-M6 35.7 15-20 25 WCMX030208 | 25.3| 32.9 | 37.6| 67.1
JDMT07-16-3T-M8 42.9 VIXR'9'XUD0 P 20.5-24.5| 25 WCMX040208 | 35.3| 42.6 | 50.3] 72.9
JDMT07-17-3T-M8 42.9 dxDx L I 25 32 WCMX050308 | 35.3| 42.6 | 50.3| 72.9
T 25.5-30 | 32 WCMX050308 | 42.6| 45.3 | 52.9| 80.0
WFLO808~100-M4 75 30531 | 32 WCMX050308 | 57.6| 59.6| 72.9|100.4
—10-100— 31.5-40 | 32 WCMX06T308 | 57.6| 59.6| 72.9 ] 100.4
MEHSJS_}gg_mg gg'g’ 41 32 WCMX06T308 | 69.0| 76.7 | 96.0| 125.7
AVOK{T 21'7'0 910 771'1-0" D'V RNV A1'7XRT : 42 40 WCMX06T308 69.0 76.7 96.0 | 125.7
Locking Tooth Type Right-Angle TWOX A1'7'0 910 G 43-45 40 WCMX080412 | 69.0| 76.7 | 96.0 125.7
. MEH;}%_}gg_mg 17052' 04 46-50 40 WCMX080412 | 75.4| 93.3 | 102.9] 137.1
MEL12-12-200-M6 135 7 5155 40 WCMX080412 | 85.0| 109.7| 130.3| 148. 6
XM ' 56-57 40 WCMX080412 | 89.0| 112.4| 171.4] 165.7
58-59 40 WCMX06T308 | 89.0| 112.4| 171.4] 165.7
MFL15-15-150-M 131.0
MFL1§_1§_288_M2 178 6 6063 40 WCMX06T308 |  93.3| 123.3| 197.9| 201.1
MEL16-16-100-M8 1145 6465 40 WCMX06T308 100.3 137.1| 224.0| 231.0
Q MEL16-16-150-M8 1310 6668 40 WCMX06T308 101.7 151.0| 228.6| 240.0
Insert: AXMT0602.. MFL16-16-200-M8 178 6 69-70 40 WCMX06T308 102. 160.0 240.0| 262.9
V'¥Nj?'9'¥V20 MFL16-16-250-M8 226.1
DxTxM SP AV P'1IpP 9'0 LAWVOY! ~
AXMTO6-11-2T-M5 35.7  MFL19-19-150-M10 204.7 sp Insert Type Quick Dril
AXMT06~12-2T-M5 35.7  MFL19-19-200-M10 273.9
AXMT06-12-2T-Méb 35.7  MFL19-19-250-M10 326.1
AXMT06-13-2T-M6 35.7  MFL20-20-100-M10 154.7
AXMT06-16-3T-M8 429 MFL20-20-150-M10 204. 7
AXMT06-17-3T-M8 429 MFL20-20-200-M10 273.9
MFL20-20-250-M10 326.1 e
Lackiog oo Type Fesk W ON 2170 Q10 | vt 1 3759 T43-14.5 | 20 | SPNGO50204 | 30.4| 35.7 | 44.7| 78.6
IWONRRP 217 910 71YW 9'0 VIV A1 e 15 25 SPMG050204 | 30.4| 35.7| 44.7| 78.6
o2 2759 15520 | 25 | SPMGO60204 | 30.4| 357 | 4.7 /8.6
: MFL24~24-250-H12 Jh0 o _20.5-21.5] 25 SPMG060204 | 41.9| 47.6| 60.7| 83.3
% el : 22-24.5 | 25 SPMGO7T308 | 41.9| 47.6| 60.7| 83.3
M LA AL 5357 25-27.5 | 32 | SPMGO7T308 | 50.3| 54.7 | 654 91.4
MFL25-25-150-M12 273.9 : : : : :
MFL25-25-200-H12 Soe 28730 32 SPMGO90408 | 50.3| 54.7 | 654 91.4
288 : 30.5-33.5| 32 SPMG090408 | 66.9| 72.9 | 88.1| 108.6
o LA 450.0° 34740 32 SPMG110408 | 66.9| 72.9 | 88.1] 108. 6
MFL25-25-300-M12 535, 7 : : : ’
MFL25-25-350-H12 T 4 32 SPMG110408 | 79.0| 88.1 | 105.4| 137.1
DRI LA : 42-45 40 SPMG140512 | 79.0] 88.1 | 105.4] 137.1
XTx o onn 46-50 40 SPMG140512 | 88.1| 98.9 | 125.7| 148.6
AJX06-16-2T-M8 31.0 W a0 2007 Mo bLa3 75155 40 | SPMGO7T308 | 94.3| 111.0] 144.0| 171 4
AJX06-17-2T-M8 31.0 [y st ity 0167 56 40 SPMGO7T308 | 98.9| 123.9| 208.1| 228.6
AJX08-20-2T-M10 33.3  \ri39-39-350-M16 V150 s 57759 40 SPMGO90408 | 98.9| 123.9| 208.1| 228. 6
AJX08-21-2T-M10 33.3  WEL32-32-400-M16 s 6063 40 SPMG090408 103.3 136.9| 250.0| 271.4
AJX09-25-2T-M12 35.7 O 64-66 40 SPMG090408 111.0 161.9| 280.0| 300.0
AJX09-26-2T-M12 35.7 S o 67-68 40 SPMG110408 T11.0 161.9| 280.0] 300.0
AJX09-28-2T—M12 35, 7 oo ans e yoa ¥ TN 6970 40 SPMG110408 | 114.¢ 173.9| 290.0| 328.6
AJX12-30-2T-M16 40. 4 F—— o :
AJX12-32-2T-M16 40 4 Gt tosth typs too stock Speci caticy are complewPIus WDXT ../ GPMT ... y2'11j72* 1¥ D'X2N D210 ,'0 TRANKP WA 211 PRVO 9'0!
AJX12-35-2T-M16 47.6  piease inquire for W'Y R?'D'XVUDO0 not listed.  Plus WDXT../GPMT... Type Stock Quick Drill Commodity, Welcome To Inquire!

INYOK [IX W'OW 011D TTIZP07' TH19 [N,
TOI W TRIMWY 'K TMID [K'OFNOIXI0 IRYINT.
yura k19 [ axn 1k 2k Email: eva@mzgtool.cn

http://www.mzg.tw


http://www.mzg.tw

A''XV2a VITI]

Boring Tool

YT7'2 OFITRIBYNZ'O'YYSONO. 02 D NBH2084 2''¥VA V1T T A T An 1S A
i i : i (07 YITI1:8-280mm) &/ QYUK )Fine-Tuning Accuracy,0.002mm)
YITY-"11Y 72ROV TN RBH19C LBK1 19-25 28. ! ’ ’ B .‘. - -
Rough Boring Cutter | ppy75G || BK2| 25-33 | 28. —t ?,f..
T =g
\ S >

Indexable Two-Edge RBH32C LBK3 32-42 31 .’ 1 W N ? Mol &
NBH2084 Boring Tool / // f- [ HBOR Fine-Tuning Boring A 1 \

g 1| Cutter (Fine-Tuning & ‘ A
= 2 3 .

Rough Boring Cutter
(07 VITI1: 8-280mm) e
Fme-lrumngAccuracy 0.01mm Accuracy 0.002mm)

RBH40C |LBK4| 40-55 | 40.
RBH52C |LBK5| 562-70 | 61.
RBH68C |LBK6| 68-92 | 83

wohoo o

/,{

RBH90C |LBK6| 90-122 |102.4 VI¥N{?7'9'¥VY90 v'pg D T"9
REHT20C |LBKS | 120164 | 119.0 T mo o HBOR25  8oring Cuter
RBH200C | BST | 200-310 |273.9  SBJ2008-32 8-11 8.6  HBOR25M(29-38) oring head 29-38 | 666.7
RBH300C | BST | 300-410 |544.0  SBJ2010-40 10-13 8.6  HBOR25M(29-38) ack Boring 29-38 | 666.7
Insert:CCMT RBHA00C | BST | 400-510 |583.3  SBJ2012-53 12-17 | 8.6  BT30-HBOR25P 857.1
RBH500C | BST | 500-610 | 681.0  SBJ2016-68 16-21 8. 6  BT40-HBOR25P 857. 1
Precision Boring Cutter| CBH25 LBK2 25-33 154. 7 1 20-130 8.6 - .
Indexable Fine-Tunablg . SBJ2020-125 20-130 20.4 HSK63A-HBOR25P 976.1
Precision Boring Cutted GBH32  1LBK3| 32-42 1163. 1 5By2020-150 20-130 | 23.9  CA0602-09Tcarice soring 2-3.2 | 59.6
CBH40 ~ |LBK4| 40-55 1181.0  $BJ2020-200 20-130 | 28.6  CA0603-16Tcarbide Boring 3-4.2 | 59.6
CBH52 JLBKS| 52-75 1204.7 B J2025-96 25-135 | 8 6  CA0604-22Tcarmide Boring 452 | 59.6
CBH68  |LBK6[ 68-102 1238.1  gpj2025-144 25-135 | 20.4  CA0605-27Tcaride Boring 5-6.2 | 59.6
CBH100 |LBK6f 100-152 1273.9  gBj2025-150 25-135 | 23.9  CA0606-32Tcarice Boring 6-7.2 | 59.6
CBH150 |LBK6[ 150-202 1323.9 5B j2025-200 25-135 | 28.6  CB06050-21 ( 6C03) | 5-6 | 123.9
CBH200 | BST | 200-310 | 714.3  gBJ2030-115 30-140 | 8.6  CB06055-26 0C03) | 5.5-6.5 | 123.9
CBH300 | BST | 300-410 1821.4  ¢Bj2030-173 30-140 | 23.9  CB06060-26( €C03) 6-7 123.9
CBH400 | BST | 400-510 1919.0  $BJ2030-200 30-140 | 28 6  CB06065-31 ( €C03) | 6.5-7.5 | 123.9
CBHS00 | BST | 500-610 1023.9  gB2020-L 120-280 | 8. 6  CB06070-31( cco4) | 7-8 | 123.9
EWN20 | oK1 | 20-36 |123.9 _ SBJ2020-150L 1207400 | 239  1EOR32 Boring Cutter
B oGl 2 155 amwawTnwow HBOR32M (36-52) sornoneas | 36-52 | 800
EWN41 CK4 41-74 1 63. 1 ggHﬁgﬁggosrzg hsesd 8-280 138.1 HBOR32M (36_52) Back Boring 36-52 800
Fine-Tuning _ ’ —| = 8-280 233.3 -
Accuracy 0.01mm Ewmgg gEg 6583—19550 1;3 2 NT30-NBH2084-8P 8-280 | 233 3 HBORA4O0 Boring Cutter
EWNTOO | K6 | 100-203 |214 3 ~ NT40-NBH2084-8P 8-280 | 233.3  HBORAOM (44-68) Boring head 44-68 | 833.3
e TN . . g;ig—mgngggj—gg 8-280 | 309.6  HBOR4OM (44-68) Back Boring 44-68 | 833.3
PNR7 A EWN1-1 20-25 | 13.1 - - 8-280 | 233.3 -
A1YY2 VAT Clamp| CBH1-2 25-31 | 13.1  BT50-NBH2084-8P 8-280 | 273.9 HBORS0 2amxuauiTn|7pov
*| CBH1-3 30-36 | 13 1 SK40-NBH2084-8P 8-280 | 278 6 HBOR50BM (57-90) soringhead | 57-90 | 742.9
CBH2-1 25-33 | 13 1 SK50-NBH2084-8P 8-280 | 309 6  HBOR50BM(57-90) BackBoring | 57-90 | 742.9
CBH2—2 32-40 |13 1 — BT30-HBOR50 (06-90) 6-90 | 857.1
CBH2-3 39-47 | 13 1 NBJ16 A''¥V2A YITID BT30-HBOR50 (06-90) —14P 6-90 1190. 4
CBH3-1 32-42 13.1 (V"7 Y1T11:8-50mm) % Ry BT40-HBOR50 (06—90) 6-90 857.1
CBH3-2 21-51 |13 1 S BT40-HBOR50 (06-90)-14P | 6-90 | 1190.4
CBH3-3 50-60 | 13 1 @ . BT50-HBOR50 (06-90) 6-90 | 904.7
CBHA—1 21-54 | 13 1  NBJ16 Boring Tool \\\ .. BT50-HBOR50(06-90)-14P | 6-90 |1273.9
,{.'.q CBH4-2 50-63 | 13.1 (0''{? V1TI2: 8-50mm) LY SK30-HBOR50 (06-90) —14P 6-90 1273.9
A S :;j‘ CBH4-3 61-74 13.1 Fine-Tuning Accuracy 0.01mm SK40_HBOR50 (06_90) -14P 6-90 1273.9
= CBH5-1 53-70 | 13 1 SK50-HBOR50 (06-90) 6-90 | 904.7
CBH5-2 65-82 | 13 1 VINN{?'9'¥VU90 R AR DR SK50-HBORS0 (06-90) —14P 6-90 1273.9
CBH5-3 78-95 | 13 1 T Y-——— HSK63A-HBOR50 (6-90) -14P|  6-90 | 1309.6
CBHO-1 16080_110503 g 1 SBJ1606-24 6-9 8.6 HBORG3 a''xyayaTi |7yow
CBH6-2 94-126 | 131 SBJ1608-32 8-11 8.6 HBOR63BM(70-110) Boring head | 70-110 | 804. 7
126-179 | 13 1 SBJ1610-40 10-13 8.6 HBORG63BM(110~150) soringnees | 110-150 | 804. 7
CBH6-3 118-150 | 13.1 SBJ1612-53 12=18 8.6 HBOR63BM (70—1 10) Back Boring 70-110 804.7
Insert TP 150-203 | 13 1 SBJ1614-60 14-17 8.6 HBOR63BM(110-150) sackeorng | 110-150 | 804. 7
: SBJ1616-68 16-21 8.6 NT40-HBOR63 6-150 |1071.4
BEO9A M5 167 SBJ1620-83 20-26 8.6 NT40-HBOR63 (6-150)-15P | 6-150 | 1381
BE10. 5A M5 167 SBJ1620-150L 20-26 | 23.9  NT50-HBOR&3 6-150 | 1119
BEANXVAVIT | e oy Mo 167 SBJ1620-200L 20-26 | 28.6  NT50-HBOR63 (6-150)-15P | 6-150 |1428.6
St Boring Too BE14A M6 16 7 SBJ1625-90 25-31 8.6  BT40-HBOR63 6-150 |1071.4
¢ BE16A M6 167 SBJ1625-150L 25-31 | 23.9  BT40-HBOR63 (6-150) 15P 6-150 | 1381
BE18A W0 167 SBJ1625-200L 25-31 28.6  BT50-HBOR63 6-150 1119
BE20A W0 16 7 SBJ1630-90 30-36 8.6  BT50-HBOR63 (6-150) 15P 6-150 |1428.6
BE22A Wo 167 SBJ1630-150L 30-36 | 23.9  SK40-HBOR63 (6-150) 15P 6-150 | 1381
BE24A 10 167 SBJ1630-200L 30-36 | 28.6  SK50-HBOR63 (6-150) 15P 6-150 |1428.6
BE26A W10 167 SBJ1635-90 35-41 8.6 HSK63A-HBOR63 (6-150) 15P| 6-150 | 1452 4
BE28A M10 16. 7 SBJ1635-150L 35-41 23.9 Boring Accessories
BE30A M10 16‘ 7 SBJ1635-200L 35-41 28. 6 Boring Accessories
BE32A 10 190 SBJ1640-90 40-46 8.6  BR1606-21 (WBGT0601. . L) 6-9 23.9
BE34A Wo 190 SBJ1640-150L 40-46 | 23.9  BR1608-28 (TBGT0601..L) 8-11 23.9
BE36A Mo |23 9 SBJ1640-200L 40-46 | 28 6  BR1610-35(TBGT0601..L) | 10-13 | 23.9
BE38A W10 239 SBJ1645-90 45-51 8.6 BR1612-42(TP..09..L) 12-15 | 23.9
BEAOA Wo 239 SBJ1645-150L 45-51 23.9  BR1614-50(TP..09..L) 14-17 | 23.9
- SBJ1645-200L 45-51 | 28.6  BR1616-60 ETP. . 09.. Lg 16-20 | 23.9
G Convorcigh Sloove - BR1620-65 (TP. . 11. . L 20-24 | 23.9
Eg]gﬁ’g - ]j- g ANYYA V1T [7V0W BR1624-68 (TP. . 11..L) 24-28 | 23.9
EC Conversion Sleeve EC1612 _ 14 3 BM5 35.7
EC1614 _ 14' 3 NBJ1éBoung head 8-50 138.1 SRTP2938 (TP .09.. L) 28-38 35.7
; mgg—ggj}g—gg—gg 8-50 | 233.3  SRTP3652(TP..09..L) 36-52 | 35.7
; - =65~ 8-50 | 233.3  SRTP4468(TP..09..L 44-68 | 41.7
’ O aing o MO | sT0B-W5-100L M5 1596 BT30-SBJ16-55-12P 8-50 | 233.3 BM8 ( ) 26
Tungsten Steol S or e o2 BT40-SBU16-55-12P 8-50 | 309.6  SRTP7O110(TP..11..L) | 70-110 | 47.6
9 W6~ : BT50-SBJ16-65-12P 8-50 | 233.3  SRTP110150(TP..11..L) | 110-150 | 47.6
ST12-W6—-150L M6 107.1 SK30-SBJ16-60—-12P 8-50 273.9
e | O[14WOTOO0L | M6 119.0 SK40-SBJ16-60-12P 8-50 | 278.6
ST16-W10-160L|  M10 135.7 SK50-SBJ16-65—12P 8-50 309. 6
ST16-W10-180L] M10 |150.0

YNYON [IN WWIOY ,01MD TTIZZOR! TH1D QK.

25 TOI W TXIMWY ' T [X'OZNROINI0 IRYINT.
yura k19 1 jaxn A aax Email: eva@mzgtool.cn http://www.mzg.tw


http://www.mzg.tw

A''XVYa VITI

Boring Tool

A''yyaanl/ voa LBK Toolholder

CK Toolholder

Rough Boring Cutter Holder

BSA Rough Boring Cutter
BSA Rough & Rough Boring Cutter Holder BST/NBH / LBK Toolholder
Boring Cutter, o | . Toolholder

W/

TBS910-36-L TP09 11.9  BT30- NBH2084 5.7 \
rooawso o RREAE AR HEA o R
BT40-BSA25-120 | 47.0  IBS913-6-L 11nit) 1.9 o Ronioee 327 BT30-LBKI-55 | 21.0 BT30-CK1-55 35.7
BT40-BSA30-150 | 47.6  1pZl078em- | ol 1 NT50-NBH2084 71 4 BT30-LBK1-70 21.0  BT30-CK1-70 35.7
BT40-BSA38-165 | 50.0  qgso19-70-L |Tc16| 190  SK40-NBH2084 35.7  BT30-LBK2-80 21.0  BT30-GK2-80 35.7
BT40-BSA42-165 | 50.0  1BR019-90L |Tc1e| 10 0  SK50-NBH2084 71.4  BT30-LBK3-80 21.0  BT30-CK3-80 35.7
BT40-BSA50-165 | 53.6 TBS919-85-L | TC16| 19 0 Eg{ggzngngggi ;?3; BT30-LBK4-70 21.0  BT30-CK4-70 35.7
BTA0-BOKT2-180 | /1 4 ToSpsedonl |1clo 10 CATONeNSE | w0l BROBG L | 20 braooked |
BT40-BSA90-180 89.3 TBS925-135-L |TC16| 38.1 HSK63A-NBH2084 154.7
BT50-BSA25-135 | 81.0 HSK100A-NBH2084 214.3  BT40-LBK1-75 21.0  BT40-CK1-75 35.7
BT50-BSA30-165 | 81.0 1S040-NBH2084 46.4  BT40-LBK1-105 | 21.0  BT40-CK1-105 35.7
BT50-BSA38-180 | 83.3 1 S050-NBH2084 92.9 BT40-LBK1-130 | 28.3  BT40-CK1-130 44.7
BT50-BSA42-210 | 83.3 Ry 01 BTAO-LBKI-165 | 35.7  BT40-CK2-75 35.7
BT50-BSA50-180 | 86.9 TBS910-36-R MT4-NBH2084 42 9 BT40-LBK1-195 59.6  BT40-CK2-115 35.7
BT50-BSA50-240 | 92.9  TBS910-45-R MT5-NBH2084 52.4  BT40-LBK2-85 21.0  BT40-CK2-130 44.7
BT50-BSA62-195 | 95.3  TBS913-48-R MT6-NBH2084 66.7  BT40-LBK2-115 | 21.0  BT40-CK3-80 35.7
BT50-BSA62-270 | 107.1  TBS913-65-R mggzngngggj fé- g BT40-LBK2-130 | 28.3  BT40-CK3-100 35.7
BT50-BSA72-195 19351 . 30 }ggg} g:ggzg MBS _NBHa0ad 25, BT40-LBK2-165 | 357  BT40-CK3-135 44.7
BT50-BSA72-285 . TBSI1680R MTBA-NBH2084 26 7 ~ BT40-LBK2-200 | 59.6  BT40-CK3-155 44.7
s | R L o | D Tk |00 mween | o
BT50-BSA90-300 . = - ‘ -LBK3~ _ -CK4- 5.7
BT50-BSA105-195| 297. 6 15719785 R BT40-NBH2084-S0L | 90,4 BTAO-LBK3-165 | 357 BT40-CK4-150 | 44.7
sToo-sscs o| 10 o o5 st o | 0 goteea | o s ) o
BSA Rough Boring Cutter TBS925-135- BT50-NBH2084-150L 90. 4 . .
BT50-NBH2084-200L | 119.0 BT40-LBK4-115 | 21.0  BT40-CK5-100 35.7
BSA Rough o BT50-NBH2084-250L | 148 9  BT40-LBK4-130 | 28.3  BT40-CK5-150 44.7
Boring Cutt?""": - I—I - BT40-BST—70 6.7  BT40-LBK4-150 | 28.3  BT40-CK6-65 35.7
o DRI @ RASEY  BT40-BST-100 66.7  BT40-LBK4-175 | 35.7  BT40-CK6-100 35.7
g [l ] s | B0 Somers | o0 —oo o
CBS910-36-L |CC06| 119  Brao-Bei—199 857 BT40-LBK5-125 | 28.3  BT50-CK1-115 | 75.0
CBS910-45-L |CC06| 11.9  BT50-BST-200 833 BT40-LBK5-175 | 35.7  BT50-CK1-145 82.1
meveimel Ty EteLCldn|i SR |4 memes | ne s | g
52 28.6 -65-1 . -BST- _ —LBK&- _ _oK)— _
ggﬁgg—gg—tgﬁi 33.3  0BS916-60-L  |CCO9| 11.9  BT50-BST-350 134.6 BT40-LBK6—115 | 21.0  BT50-CK2-135 82.1
N ' CBS916-80-L |CC09| 11.9  BI50-BST-400 148.9 _LBK6— 28 3 _OKo—
BSAG2-90-LBKs | 41.7  gBRIRETENTE |PROTN DT B30 BST-450 192, BT40-LBK6-150 8.3  BT50-CK2-165 78.6
BSA72-110-LBK6 | 51.1 0BS919-90-L |cC12] 19 0 BT50-BST-500 738 1  BT40-LBK6-165 35.7  BT50-CK2-235 95.3
- CBS919-85-L cc12l 1970 SK40-BST-100 92.9  BT40-LBK6-240 59.6  BT50-CK3-110 75.0
BSB Rough Boring Cutter 0BS919-105-L | o012 23: 9 gﬁgg_gg¥_} 88 19223_99 BT50-CK3-140 82. 1
BSB Rough 0BS925-100-L [cC12| 31,0  SKSO-BST~100 729 BISO-LBKI-115 | 536 BT50-0K3-175 78.6
Boring Cutter CBS925-135-L |CC12| 38.1  3¢20 pet-200 1237 BT50-LBK1-145 | 59.6  BT50-CK3-290 140.7
N EeT_ 194 5 BT50-LBK1-200 | 80.4  BT50-CK3-300 140.7
' 3K80-BST 250 L 187 pr5o-LBK2-110 | 526 BT50-CK3-350 189.3
LBK Extension Rod . BT50-LBK2-140 | 59.6  BT50-CK4-100 75.0
LBK Extension Rod _ | BT50-LBK2-175 | 654  BT50-CK4-160 78.6
' BT50-LBK2-235 | 108.3 BT50-CK4-205 101.0
.9
VI¥Kp'9'¥Ys0  T1''19 9 BT50-LBK3-125 53.6  BT50-CK4-270 140. 7
_ _ 47 9 o 710 BT50-LBK3-140 | 59.6  BT50-CK4-300 140.7
Sﬁg_ggggg_gg 47 2 R 119 BT50-LBK3-155 | 59.6  BT50-CK4-350 189.3
BT40-BSE50-165 | 53.6 9 L[BK3-3-30 14.3  BT50-LBK3-185 | 65.4  BT50-CK5-90 75.0
BT40-BSB62-180 | 62.6 -9 LBKa-a-ad 143 BI50-LBK3-215 | 75.0  BT50-CK5-165 78.6
- O LBK4-4-60 16.7 THERY e
BT40-BSB72-165 | 71 4 BK5_5-20 190 BT50-LBK3-255 | 91.7  BT50-CK5-210 101.0
BT40-BSB90-180 | 89.3 ) g LBK5-5-90 21.4  BT50-LBK3-290 108.3  BT50-CK5-270 140.7
BT50-BSB25-135 | 80 4 o LBKe-6-60 214 BT50-LBK3-300 | 108.3  BT50-CK5-300 140.7
B150-85838-180 | 81.9 9 Leeé10 20 grsobkaits | 5 ¢ Bisockess | 150
BT50-BSB50-180 | 86.4 —R -9 7190 [RTOWINK 7 g ~ : A :
BT50-BSB50-240 | 92.4 CBS925 100-R .0 BT50-LBK4-145 59.6  BT50-CK6-155 78.6
_ _ \ CBS925-135-R 1 @ BT50-LBKA-160 | 65.4  BT50-CK6-215 101.0
BT50-BSB62-195 | 95.3
BT50-BSB62-270 | 107. 1 = - X BT50-LBK4-205 | 75.0  BT50-CK6-250 140.7
BTo0-pSBIa_1o5 | 1043 EE\XT LBK Conversion Slee BT50-LBK4-255 | 91.7 BT50-CK6-300 | 140.7
BT50-BSB72-285 | 140.0 Al VIYK{7'9'NY90 — gggztgx:ggg 1 gg. g BT50-CK6-350 189.3
BT50-BSB90-210 | 163.9 ! =] LBK2-1-36 310 BT50-LBK5-105 | 53.6 0 |X'01W007Y 77
BT50-BSB90-300 | 208.3  TBS410-45 TPO9| 1.9 LBK3-1-41 310 Pre0 LBKE-180 5 4 CK Ext o
BT50-BSB105-195| 297.9 TBS410-50 TPO9( 11.9 LBK3-2-37 31.0 . xtension Ko )
BT50-BSB105-285 | 383 1  1BS413-60 TP11|11.9  LBK4-1-58 357  BT50-LBK5-240 | 75.0 —
TBS416-75 TP11| 11.9  LBK4-2-50 357  BT50-LBK5-300 | 108.3
BSB-LBK Rough Boring Cutter ;ggﬂg—;}?s }812 13 8 Il:gﬁg:?:gg ig Z BT50-LBK5-350 148. 9
) _ . “LBKS- aad
geetef o A I KN 0 motme-ss | G
’ LBK5-3-47 40 4 BT50-LBK6-170 | 65 4 DR e
LBK5-3-72 40.4  BT50-LBK6-230 | 75.0  CK1-1-30 29.7
vagowwse [ vno RS 04 Freotokessn | 145 S22 29.7
CBS408-30 CCoe| 1.9 LBKE-1-70 2.3 — CKA-4-45 35 7
gBSa0B=3S  |S8%01 119 LeKke-2-93 500 HSK63A-LBK1-105| 148 9  CKa-4-60 35.7
BSB38-70-LBK3 28.6 0BS413-60 cco9l 11.9 LBKo—d-51 o HSK63A-LBK3-125| 148.9  CK5-5-90 44,7
BSB50-90-LBK4 32.9 CBS416-75 CC09| 1.9 [BKe-a-101 5o o HSKE3A-LBKA-115| 148.9  CK6-6-60 38.9
BSB62-90-LBK5 | 41.7  CBS419-115  [CC12| 19.0  |BKe—5 41 20 HSK63A-LBK5-125| 148.9  GK6-6-100 44.7
BSB72-135-LBK6 | 59.6 CBS425-130 CC12| 38.1 LBK6-5-91 56.0  HSK63A-LBK6-115| 148.9  CK6-6-120 59.6

IRYON |IR WMOY 09 TTIZROR! TH19 [2'IN.
TOIWI'TRIMYO 'R TVID [K'OPXOIRI0 IRTINT.
yura ,ake i jaxn 1k 2k Email: eva@mzgtool.cn

N
(@)

http://www.mzg.tw


http://www.mzg.tw

AVTINN 21XV 7372

CNC Tool Holder

AWTIRNIRRO DYTIRP WY S NEE VY7IR? [K'0IVVORY Y AVTINRN 710 21'7'0 D119 710V ARND
ER Collet Toolholder NO. xCIOIIetxA/MxL ER Extension Collet FMB_Metric Face Milling Tool Holder
R8-ER25 17.1 o
R8-ER32 17.1 HOPx>E D
R8-ER40 19.7 BT30-FMB22-45 14.6
MTB3-ER20 16.0 BT30-FMB22-60 14.6
MTB3-ER25 16.0 BT30-FMB22-100 18.6
m1gizgsg§ 1; 1 XNKj?'9'XVE Precision Precision Precision ggg:mggzgg E 2
MTB4-ER32 I Co!let 0.01mm 0.008mm 0.005mm Sy Frey:oy i 18.6
VI¥R[7'9'YY00 9 MTB4-ER40 22.4 BT30-FMB32-45 16.0
e NT30-ER?S 171 BT40-PUlB22-45 179
BT30-ER11-70 16.0° NT30-ER32 17.1 BT40-FMB22-60 17.1
BT30-ER11-100 16.0 NT30-ER40 19.7 BT40-FMB22-100 18.6
BT30-ER16-70 18.6  NT40-ER25 17.1 BT40-FMB22-150 22.4
e S E i3 e
BT30-ER16-150 19.7 = : ~FMB22- :
BT30-ER20-70 18. 6 1S020-ER16-35MS 40. 4 BT40-FMB22-300 61.0
BT30-ER20-100 18. 6 1S025-ER20-35MS 40.4 ']D'70|] I RN RITRY BT40-FMB22-350 74.0
: 1S030-ER32-42 27.4 BTA0-FMB27-45 17.1
- = . ER Wrench / Nuts
BT30-ER20-150 19.7 1S030-ER32-60 27.4 BT40-FMB27-60 17.1
BT30-ER25-70 18.6 S : BT40-FMB27-100 18.6
HSK32E—ER16-050MS 82.1
BT30-ER25-100 18.6 " HSK32E-ER20-050MS 82. 1 ( V_( ’ BT40-FMB27-150 23.9
BT30-ER25-150 19.7 HSK32E-ER20-060MS 82.1 - gm:mgg%:?go 1; 1
BT30-ER32-70 18.6 ~ER25- 821, " oA " Bra0-fuBs2-100 ol
BT30-ER32-100 18.6  BT30-GER16-70 21.4 2
e |07 EEec | e menmr, |1
e 171 B130-GER20-100 54 Gol lot Hreneh BT40-FMB40-150 26.4
BT30-ER40-100 17.1 BT50-FMB22-60 39.7
BT30-GER25-70 21.4 ER8A/M 2.6 4.0 BT50-FMB22-100 39 7
BT30-GER25-100 21.4 ER11A/M 1.4 1.7 :
BT40-ER11-70 21.1 BT40-GER16-70 21 4 : . BT50-FMB22-150 50.3
BT40-ER11-100 21.1 o _ ' ER16A/M 1.7 1.7 BT50-FMB22-200 61.0
BT40-GER16-100 214 ERooA/M 17 17 B0 FHiBa9—250 oo
BT40-ER16-70 21.1 BT40-GER20-70 23.9 2 : : O-FiBa7-300 o
BTA0-ERTE7190 21.1 el e iER2igl0e 239 RO 31 20 Biorwe2zas0 119.0
BT40-ER16-150 22.4  BT40-GER25-70 23,9 ER32UM 3.1 3.1 R )
BT40-ER16-200 371 BT40-GER25-100 239 ER4OUM A0 A0 Brdo-rue22-a50 153.3
BT40-ER20-70 21.1 BT40-GER32-70 23.9 ER50UM 15.3 BT50-FMB22-500 185.3
BT40-ER20-100 21.1 _BT40-GER32-100 23,9 BT50-FWB22-550 211.7
BT40-ER20-150 22.4 AVXVA [R'0IVVORY LYT7RP W BT50-FMB22-600 238. 1
BT40-ER20-200 37.1 ER Collet Extension Toolholder AUTYND 710 21'9'0 D119 YOI AXID g;gg—gmg%;-?go gg;
BT40-ER25-70 21.1 Gollet . o -FMB27- .
BT40-ER25-100 211 olle FMB Inch Face Milling Tool Holder g¥ggzgmg§;:;gg 25 Z
BTA0-ER2S-100 2.4/ \ E F N BT50-FMB27-250 84 7
Bl IgEiz g2l 5l < BT50-FWB27-300 103. 1
BT40-ER32-70 21.1 R BT50-FMB27-350 119.0
BT40-ER32-100 21.1 V'X¥N['O'¥Y90 BT50-FMB27-400 145. 4
BT40-ER32-150 22. 4 DxColletxA/MxL USD BT50-FMB32-60 42.4
BT40-ER32-200 37.1 C10-ER8-100 9.3 BT50-FMB32-100 45.0
qeuns o) gt = O
5128255332380 159 Ci2-ER-150 10. 4 BT50-FMB32-250 87.4
BT40-ER40-100 19 7 C12-ER11-100 6.7 BT50-FMB32-300 119.0
i C12-ER11-150 6.7 BT50-FMB40-60 42.4
BT40-ER40-150 23.9
: C16-ER11-100 6.7 BT50-FMB40~100 45.0
BT40-ER40-200 39.7 C16~ER11-150 6.7 BT50-FMB40-150 58. 1
C16-ER16-100 6.7 NO. xdx BT50-FMB40-200 68.9
BT50-ER16-100 39.7 C16-ER16-150 6.7 R8-FMA25. 4 17.1 BT50:FMB40:250 90.0
BT50-ER16-150 50.3  C16-ER16-200 119 R8-FMA31.75 17.1 g%g_mggg_ggo 1 81 2-70
BTS0-ERT6-200 6.6 WraRTE 100 C20-FMB25. 4 171 BT50-FNB60-150 145.4
BT50-ER20-100 39.7  H6ERa0100 &7 NT50-FMA31.75-75 436
BT50-ER20-150 903 16-ER20-200 19 NT50-FMA38.1-75 43.6  R8-FMB22 16.0
BT50-ER20-200 610 (20-ER20-100 67 NT50-FMA47.625-75 92.6  R8-FMB27 16.0
BT50-ER20-250 81.9 C20-ER20-150 6.7 NT50-FMA50. 8-75 55.4  R8-FMB32 17.1
BT50-ER20-300 1004 20-ER20-200 119 BT40-FMA25. 4-60 17.1  RE-FHBIO, X
BT50-ER25-70 397 G20-ER20-250 16.0  BT40-FMA25.4-100 19.7 IS 2% o
BT50-ER25-100 39.7° G20-ER16-100 6.7 BT40-FMA31.75-60 18. 6 ST =
BT50-ER25-150 50. 3 C20-ER16-150 6.7 BT40-FMA31. 75-100 19.7 C25-FMB22 171
BT50-ER25-200 61.0 C20-ER16-200 1.9 BTAO-FMA38. 1-60 197 oeripas o
BT50-ER25-250 84.7 TR 169 BT40-FMA38. 1-100 211 C25-FMB32 17.1
BTS0-ER25-300 1004 G0 ER1-150 23 BT50-FMA25. 4-60 4.4 C32-FHB22 18 6
BT50-ER32-100 39. 7.l 10.4  BISOTFMAZS. 47100 20 86
: C20-ER25-150 10. 4 BT50-FMA25. 4-150 52.9 WT3-FMB22 17 1
BT50-ER32-150 50.3 (25-ER16-100 6.7 BT50-FMA25. 4-200 63.6  MT37FMB22 "
BT50-ER32-200 1.0 25-ER16-150 6.7 BT50-FMA25. 4-250 847 MT3-FNB32 171
BT50-ER32-250 81.9  C25-ER16-200 119 BT50-FMA25. 4-300 111 MTa-FMB22 1907
BT50-ER32-300 97.9 C25-ER16-250 17.1 BT50-FMA31. 75-60 43. 6 MT4-FMB27 19 7
BT50-ER32-350 126.9 e -7 BT50-FMA31.75-100 43.6  MT4-FNB32 19.7
BT50-ER32-400 158.9  C25-ER20-150 67 BT50-FMA31. 75-150 56.9  NT30-FNB22 18.6
BT50-ER40-100 42,4 C257ER20-200 109 BT50-FMA31. 75-200 67.4  NT30-FMB27 18.6
EUSm L 529 (025-ER25-150 119 BT50-FMA31.75-250 87.4  NISO-FMBS2 180
BT50-ER40-200 63.6 025-ER25-200 17.1 BT50-FMA31. 75-300 119.0 NTAO-FMB27 186
BT50-ER40-250 874 (25-ER25-250 19.7  BT50-FMA38. 1-60 424 Nlao-rupss e
BT50-ER40-300 1057 ¢25-ER32-100 14.6  BT50-FMA38. 1-100 450 NTAO-FMBAO 211
BT50-ER40-350 129.6 (25-ER32-150 17.1 BT50-FMA38. 1-150 59.6 NT50-FMB22 42.4
BT50-ER40-400 158.9° 032-ER32-100 14.6 BT50-FMA47. 625-75 84.7  NT50-FMB27 424
BT50-ER50-100 74.0 C32-ER32-150 17.1 BT50-FMA47. 625-150 145. 4 NT50—-FMB32 42 4
BT50-ER50-150 81.9 032-ER32-200 18.6 BT50~-FMA47. 625-200 198.3  NT50-FMB40-75 43.6
BT50-ER50-200 92.6 C32-ER32-250 22.4 BT50‘FMA50: 8-75 55_'4 NT50-FMB32-150 52.9
BT50-ER50-250 121.7 ~ CAO-ER40-100 197 B150-FMA0. 8-100 o o NT50-FNB32-200 63.6
BT50-ER50-300 158 ¢  C40-ER32-100 17.1 : : NT50-FMB60-75 92.6
: C32-ER40-100 18. 6 BT50-FMA50. 8-150 79.3

INYON [IK W'OW ,0'9 TTIZPOR! 719 2N
- TOIWITRIMYO ['NK T'I9 [N'OPZROIRIV IXTINT.
yua a5 1 |axn vx aax Email: eva@mzgtool.cn http://www.mzg.tw


http://www.mzg.tw

CNC Tool Holder

CNC Tool Holder

[IX 0"'{?2'2 )"0 702 CIVTIRNIRND UXR7IR? PAIRLY WTINNTRRO ONPINT VY- Y 71T AVTIRNPZ7RRO 9'0 VOP'S V''T-170

80T 0 TIV70'S

High Precision Toolholder

@ C Powerful Collet Toolholder SDC Back-Pull Collet Toolholder SLN Side Fixed Type Toolholder

VIXN?'9'XV90 u E
NO. xCol letxL
BT30-GSK10-60 20. 3
g;gg_ggmg_zg %8 g V'XN?'9'XV90 T'"9 V'XNP?'9'XV90
: NO. xCol letxL usD NO. xCol letxL UsD
BT30-GSK16—90 20.3 VIXN{7'9'¥YD0
ouir ] o JEEs oopmmwn o) MewEm
BT40-GSK10-100 23.9 H . -SDC8- . BT30-SLN12 16.0
BT40-GSK16-60 23.9 mig:ggg gg- 2 BT30-SDG10-90 596 BT30-SLN16 16,0
BT40-GSK16-100 23.9 e : BT30-SDC12-90 59.6 BT30-SLN20 16.0
NT40-G32-105 61.0  BT40-SDC6-90 63.6 o
MT4-G32 74.0 BT40-SDC8—90 63 6 BT30-SLN25 16.0
Collet SK10 7 MT5-032 100. 4 D8 : BT30-SLN32 16.0
Collet SK16 9.0 s 1994 BT40-5DG10-90 63.6 BT40-SLNO6-75 211
MT6-C42 180. 0 .
Bear ing Spanner 15.4 NT50-C32-105 92.6 Emg:ggggj%g ;g g BT40-SLN10-75 21.1
NT50-C42-115 119.0 | Brin aD610-120 0 BT40-SLN12-75 17.1
A1¥YA TYOXL 0NN A/ NUN BT30-C20-80 61.0 BT40-SDG12-120 79' 3 BT40-SLN16-75 17.1
MTA/B Morse Taper Toolholder BT30-C25-80 61.0 comET : BT40-SLN20-75 17.1
BT30-C32-105 61.0 BT40-SLN20-150 25.3
BT40-G20-90 61.0  Collet SDCO6 1.9 BT40-SLN25-100 17.1
BT40-625-90 61.0  Collet SDCO8 1.9 BT40-SLN25-150 25.3
BT40-C32-105 55.4  Collet SDG10 151 BT40-SLN32-100 17.1
BT40-C42-100 105.7  Collet SDC12 13.1 BT40-SLN32-150 95 3
ggg‘ggg‘} gg g; ¢ BT40-SLN40—100 19.7
2 - : Torsional Tapping Protection Toolholder BT50—SLN06—105 46.1
BT30-MTA2-75 16.0 g%gg:gg%:} (3)2 19025 67 Torsional Tapping Protection Toolholder BT50-SLN08-105 46. 1
BT30-MTA3-75 160 BT50-C32-165 119 BT50-SLN10-105 46.1
BT30-MTA4-75 160 BT50-032-200 145 4 BT50-SLN12-105 39.7
BT40-MTA1-120 26. 4 BT50-C32-250 171' 9 BT50-SLN16-105 39.7
BT40-MTA1-45 18.6 BT50-C32-300 224.7 J BT50-SLN20-105 39.7
BT40-MTA2-120 25.3 BT50-C42-115 119.0 BT50-SLN25-105 39.7
BT40-MTA2-60 16.0 BT50-C42-135 132.4 BT50-SLN32-105 39.7
BT40-MTA3-135 25.3 BT50-C42-165 145. 4 Q BT50-SLN40-105 42.4
BT40-MTA3-75 16.0  BT50-C42-200 171.9 - BT50-SLN40-150 52.9
BT40-MTA4-165 31.7  BT50-C42-250 211.7 ; \ BT50-SLN40-200 63.6
BT40-MTA4-90 17.1 BT50-C42-300 259. 3 BT58—SLN48—§38 92.6
BT50-MTA1-120 55. 4 SK50-C32-110 171.9 . e e BT50-SLN40- 105.7
BT50-MTA1-45 43.6 | d150-032:110 1719 VSN 9e0 S BT50-SLN50.8-120 55. 4
BT50-MTA2-13 52.9 olle .
Bng_MTAz_éos 39 7 Collet C25 3.6 BT50-J4112 119.0 ©10-SLN4-100 22. 4
BT50-MTA3-150 5.9  ColletC32 3.6 | BTS0-Ja124 132.4° " (10-SLN4-150 22.4
BT50-MTA3-75 39.7  ColletC42 7.6 BT40-J4112 793 610-SLN6-100 22.4
BT50-MTA4—180 66- 1 Wrench G20/25/32/42 3.9 BT40-J4124 92. 6 C10-SLN6-150 22 4
BT50-MTA4-90 39.7 AR 7IKY AUXVA MT3-Jd112 740 612-SLN4-100 224
BT50-MTA5-105 436 Sel-Tighteni : : MT4-J4112 793 £12-SLN4-150 22.4
. -Tightening XYWL V'l _ .
BT50-MTA5-210 9.0 oo MT5-J4124 1004 G12-SLN6-100 22.4
- oot Shan C12-SLN6-150 22.4
Rl 15 6y Ghi-phtering Tap Collets C12-SLN8-100 22.4
NT40-MTA4 18- 6 GT312 China Standard 16.0 C12-SLN8-150 224
NT50-MTA1-45 43: 6 GT312 Japanese Standard 18.6 C16-SLN10-100 22 4
NT50-MTA2-60 42 4 GT24 China Standard 19.7 C16-SLN10-150 22.4
NT50-MTA3-75 424 GT24 Japanese Standard 22.4 C16-SLN6-100 22.4
NT50-MTA4-90 42.4 NTGeIRE e B 4 o a0 C16-SLN6-150 22.4
NT50-MTA5-105 436 T2 KO |19 WWTIXRN A"'X¥YA 217 n 0T C16-SLN8=100 22 4
Side Milling Tool Holder of Saw Blade 01 6_SLN8_150 22 4
BT40-MTB1-120 26:4 [ESSUEEES 23.9 * C20-SLN10-100 25. 3
BT40-MTB1-45 18,6  APU16 Dril Chuck 26.4 C20-SLN10-150 253
BT30-APU08-80 37.1 PRy
BT40-MTB2-60 16.0 BT30-APU16-100 39: 7 C20-SLN6-150 25.3
BT40-MTB3-135 25.3 BT40-APU08-100 371 C20-SLN8-100 25.3
BT40-MTB3-75 16.0  BT40-APU13-100 371 C20-SLN8-150 25.3
BT40-MTB4-165 31.7 . - 39.7
BT40-NTB4-90 171 | BreoeAruisiqo o NT40-SLN12 19.7
BT50-MTB1-120 55. 4 BT50-APU13-180 79.3 ”NgNzo?lxefgLo 2 mjg—gtm g 1 g. ;
BT50-MTB1-45 43.6  BT50-APU16-130 62.1 : - .
BT50-MTB2-135 52.9  BT50-APU16-180 84.7  BT40-SCA22-90 65.4 NT40-SLN32 19.7
BT50-MTB2-60 397  NT30-APU13-100 39.7  BT40-SCA25. 4-90 65. 4 NT50-SLN12 42.4
BT50-MTB3-150 52.9  NT40-APU13-100 39.7  BT40-SCA25.4-120 83.3 NT50-SLN16 42.4
BT50-MTB3-75 39.7 NT30-APU16-120 42.4 BT40-SCA27-90 65.4 NT50-SLN20 42.4
BT50-MTB4-180 66. 1 NT40-APU16-120 42.4 BT40-SCA32-90 65. 4 NT50-SLN25 4.4
BT50-MTB4-90 397 Self-Tightening 7KW W'a1-1319. 7 NT50-SLN32 2.4
BT50-MTB5-105 43. 6 Self-Tightening PRWL W'A1- 623.9 TN 11219 7T1'OW 21YVA 'WUKRN NT50-SLN40-105 43. 6
BT50-MTB5-210 90.0  C20-APU13 gl g Machine Tool Spindle Test Rod NT50-SLN42-105 47.6
NT40-MTB2 18.6  C20-APU16 g o — o NT50-SLN50. 8-120 55. 4
NT40-MTB3 18.6 C32-APU13 317 ‘ J
NT40-MTB4 18.6 R8-APU13 343 1S020-11. 3-Probe 40.4
NT50-MTB1-45 43.6 WS 30 4 V'XR{7'9'XUD0 M| 15025-11. 3~Probe 40.4
NT50-MTB2-60 42.4  MISTAEAS 30 4 NO. xL 15025-20~Probe 40.4
NT50-MTB3-75 42.4 = 331 BT30 92.9
NT50-MTB4-90 42.4 mijﬁgﬂ]g 331 BT40 92.9  HSK32E-11. 3Probe 82. 1
NT50-MTB5-105 43.6 i 08/13/16) 1.9 BT50 131.0

ZXYON [IK WW'OW 019 TTIZ707! T19 [2IX.
TOIWI'TRIMWO 'R T"I9 [R'UZNOIRI0 IRTIRT.
yua ,ak19 1 axn 1k 2k Email: eva@mzgtool.cn http://www.mzg.tw

N
oo



http://www.mzg.tw

OVY'INOOYOPN TYTINN A''XVA 7177

CNC Tool Holder Accessories

07X W19 WTIRN 10 IR VYPPR? WTIRD 710 7 VYPPR? WTIRN 710
CNC Tool Holder Puller Bolt CNC Tool Holder Lockset CNC Tool Holder Lockset

§5°/76.O"-/90°

BT DIN69872 180 JIs

VYPPR? WTIND 710 A7
CNC Tool Holder Lockset

VIXKNP'O'XYD0

D
BT30-45° 1.4 NBT30 14.3 18020 59.6 BT30 17.9
BT30-60° 1.4 18025 59.6 BT40 19.0
g;ig—zg" 1 Z HSK25 59.6 BT50 38.1
-45° . HSK32 59.6
BT40—45: Through Hole 1.9 HSK40 71.4
BT40—60° €9 HSK50 71.4
g%‘rg-zgo 13 ‘1? HSK63 83.3
BT50-45° Through Hole 3.6 0 9.0
BT50-60° 3.6
BT50-60° Through Hole 3.9 WOVO 0'OjN-T CNC Edge Finder TN 22'2'777 7T1'9W 21XV |'URD
BT50-90° 3.6 Z-Axis Setter CNC Edge Finder Machine Tool Spindle Cleaning Rod
DIN69872-30 3.6
DIN69872-40 3.6
DIN69872-50 6.0
1S07388-30 4.6
1507388-40 4.6
1S07388-50 6.0 o
J1586339-30 3.6 =
J156339-40 3.6 \ /
ﬂ;'éﬁﬁ?ig g- 2 7"0PV7URORD VOKID 7'OYIANN'UBMamic 7" IVPVIUNUND
MAZAK-BT50 6.0
P"MLVPY7YRONRD Z-axis Setter 61.9 vox® type 4 BT30 3.9
YTy Z-axis Setter 66.7 7'0Y2AKN'0IXN type 3.6 BT40 3.9
VYIARN PR type 10.7 BT50 5.4
70V VROND type 13.3

ZNYOKX [IN W'Y ,0'D TTIZPOP' T'I19 |2'IN.

29 TOI WITRIMYO 'R THID [RTUPNOIRI0D IRYINT.
yora,ax19 1 axn vk 2k Email: eva@mzgtool.cn http://www.mzg.tw


http://www.mzg.tw

OV'IKROOVYOP’X 7KUYV VNUKNKDL

Lathe Chuck Accessories

X720 RO

nxwayn'T T2

Chuck T Block uUsD
inch 10.7
6 inch 11.9
8 inch 15.4
10 inch 19.0
12 inch 22.1
VOX79 1'017'D RYUTT 7RYL
DRI R . . . 4 JAS s Chuck Jaw Fixing Plate [EEEGEAJAR A2k ] TL'J:DB
4 inch SBL-204 | 435.3 | SB-204 | 435.3 | SBS=204 | - 5 T 61.9
5 inch SBL-205 | 435.3 | SB-205 | 4353 | SBS-205 | 482.9 ,ﬁ o6 ineh e
prwo pxaTavols |6 inch SBL-206 | 492.9 | SB-206 | 492.9 | SBS-206 | 561.9 J el 107'1
8 inch SBL-208 | 544.0 | SB-208 | 544.0 | SBS-208 | 629.7 10 b .
10inch SBL-210 | 697.6 | SB-210 | 697.6 | SBS=210 | 800.0 inc 115.4
Hollow Hydrautic Chuck| 12inch SBL-212 | 1190. 4| SB-212 |1190.4| SBS-212 |1326. 1 o : :
R E T SBL=215 | 2642 9| SB=215 | 2642 9| SBS-215 |3000.0 WT'7'X - T 72INAT'A 0INA
rge Aporture 16 inch 2DTK-206 | 647. 6 | 3DTK=206| 647.6 | ADTK=206| 714.3  sclid Hydrauiic nxwneT 709
Large Aperture . |8_inch 2DTK-208 | 782. 1 | 3DTK-208 | 782. 1 | 4DTK-208 | 869.0  Rotary Cylinder L
Hollow Hydraulic Chuck | 10inch 2DTK-210| 935.7 | 3DTK-210| 935.7 | 4DTK-210 | 1038. 1 i g !ncmgg;g; 109.6

P00 12Ny 6 inch 3JDB-206 | 988. 1 inc 131.0

LA 3UDB-208 | 1121. 4 8/10inch(1225) 150.0
Hollow Hydraulic Chuck 10inch 3JDB—210 1258. 3 12 InCh(1530) 1976
. 5 inch SBL—205KQ| 595. 3 | SB—205KQ | 547. 6 |SBS-205KQ| 666. 7 — - - -

oo monmss |6 inch SBL-206KQ 631 0 | SB-206KQ | 611 9 |SBS—206Ka| 714 3 WT'7'0-TRmIKATA LOIO
Hollow Half-Through |8 inch SBL—208KQ| 714. 3 | SB-208KQ | 681.0 |SBS—208KQ| 788.1  toliow Hydraulic TINWIYN'T
Preumatic Chuck | 10inch SBL-210KQ| 785.7 | SB=210KQ| 750. 0 |SBS-210KQ| 908.6  Rotary Cylinder I

4 inch INL-04 | 428 .6 | JIN-04 | 401 1 g !ncﬂ(ﬁgg%
5 inch INL-05 | 452 4 | IN-05 | 409 6 inch(1036) 1273
e 6 inch INL-06 | 500.0 | JN-06 | 459 6 6 inch(1246) |306.0
e AR O 18 inch INL-08 | 547.6 | JIN-08 | 511.9 8 inch(1552) |357.1
Solid Hydraulic Chuck | 19,01 INL-10 | 714.3 | JIN-10 | 666.7 10 inch(1875) |647.6
12inch INL-12 | 1119.0| JIN-12 | 1088.1 12 inch(2091) 1309.6
15inch JNL_15 JN_15 2309 6 I—,ol-r INUJTI.UJNP prU
5 inch| 1L-05 | 547.6| 2L-05 | 511.9 | 3L-05 | 595.3 |
anod pamemmown |6 inch| 1L-06 | 595.3 | 2L-06 | 544.0 | 3L-06 | 642.9 Chuck Connecting Disc |ENELEEg L]

~Long Stroke 8 inch| 1L—08 619.0 2L-08 542.9 3L-08 666.7 4 inch
Solid HydravlicGhuck 1 10jnch| 1L-10 | 833.3 | 2L-10 | 750.0 | 3L-10 | 881.0 5 el

X100 22x7 6 inch JLS—206 | 892.9 6 inch
T e |8_inch JLS-208 | 940. 4 8 inch

Hollow Hydraulic Chuck | 10inch JLS-210 | 1038. 1 10 inch
12 inch

OPNYOL 7'7IRIT'N AND [IRYUTT

Hard Jaw For TIRYIYN'T
Hydraulic Chucks
5 inch

6 inch
8 inch
». 10 inch
12 inch
15 inch

V'¥R?'9'¥YUD0 > > ) o

AP0 NS .
6 inch = _
BomEnssion 8% |8 inch ggg_gg g%gg OPNYL 7'7INIT'N IND IINYTT UOXKO TWIND
Hydraulic Chuck -
()
5 inch JYL-05 | 738.1 | JY-05 714.3 | JYS-05 | 833.3  Fan SoftJaw For nRvwn'T
VertiCal " Hydraulic Chucks usb
ANWO I UO,g inch JYL-06 | 785.7 | JY-06 761.9 | JYS=06 | 904.7 5 inch
VErtical Hollow inch JYL-08 | 928.6 | JY-08 904.7 | JYS-08 | 976. 1 6 inch
Hydraulic Chuck | 10jnch JYL-10 [ 1023.9|JY-10 988.1 | JYS-10 | 1107.1 - ',”Ch
| INCl
AL oo 5 inch SBL-205KQL| 714.3 | SB-205KQL | 690.4 |SBS-205KQL| 785.7 10 inch
2w poxmy1s w0 | 6 inch SBL-206KQL| 773.9 | SB-206KQL | 750.0 |SBS-206KQL| 857.1 I
Hollow Half-Through |8 inch SBL—208KQL| 904.7 | SB-208KQL | 881.0 |SBS-208KAL| 952.4 12 inch
Vertical xwo groxniyas | 10inch SBL-210KQL| 976.1 | SB-210KQL | 952.4 |SBS-210KQL| 1071. 4 15 inch
opPRYL |'I"7IN'\T'|'\1N§IIN!JTT']"II
a°=120° a°=120° a°=120° a°=120° a°=120°
Soft Jaw For : : at/ 5 OFRWO PUIKYTN XS IINYTT DINO WO 6 OPXYO PIINATN NS IINYUTT UIXO WOI 8 OFKWL FINATM XS IIKWTT USKO WO 10 OFKW FHIKATM IS IIKWTT UOKO WLI 12 OFRYE FHIKIT NS IIKUTT DIKO YO

Hydraulic Chucks| G/ \&// \

5 Inch Soft Jaw For Hydraulic Chucks 6 Inch Soft Jaw For Hydraulic Chucks 8 Inch Soft Jaw For Hydraulic Chucks 10 Inch Soft Jaw For Hydraulic Chucks 12 Inch Soft Jaw For Hydraulic Chucks

ixwayn' v T9Ekzwayn v M9 kaxwaynt v T"'9knwayns s VOO
usbD usb usb

UsD

5H40 40 | 13.6 6H50 50 | 17.1 8H40 40 | 204 10H50 50 | 23.9 12H60 60 | 346

5H50 50 | 17.1 6H60 60 | 20.4 8H50 50 | 20.4 10H60 60 | 27.4 12H70 70 | 404

5H60 60 |20.4 6H70 70 | 23.9 8H60 60 |23.9 10H70 70 | 31.0 12H80 80 (47.6

oA N D T 1 T 5H70 70 | 23.9 6H80 80 | 28.9 8H70 70 | 27.4 10H80 80 | 34.6 12H90 90 | 59.6
Standard  Soft Jaw For Hydraulic Chucks OH80 80 | 39.3 6H90 90 | 32.4 8H80 80 | 31.0 10H90 90 | 41.7 12H100 | 100 | 73.9
5H90 90 | 45.3 6H100 100 | 37.6 8H90 90 | 35.7 10H100 | 100 | 50.0 12H120 | 120 | 80.0

5H100 | 100 | 51.1 6H120 | 120 |51.1 8H100 | 100 |42.9 10H110 | 110 | 54.7 12H150 | 150 | 94.0
6H130 | 130 | 56.0 8H120 | 120 |51.1 10H120 | 120 | 59.6 a°=120°
6H150 150 | 61.9 8H130 130 | 54.7 10H130 | 130 | 68.1 12fj;:';ﬂ?awl";:{':‘y;‘;u'mﬁz'”‘“’”Uf
8H140 | 140 | 654 10H150 | 150 | 80.0
8H150 | 150 | 69.0 10H170 | 170 |102.4
8H200 | 200 |135.7 10H180 | 180 [109.6

15H100 | 100 |154.7
10H200 | 200 |146.4 451120 | 120 |170.3

15H150 | 150 |257.1

YXYON [IN W'OW 0119 TTIZ70[7' T19 |2'IN.
TOI WITRIMYO 'R THID [R'UPROINID IRYINT.
yura k19 1 jaxn Ak 2k Email: eva@mzgtool.cn http://www.mzg.tw



http://www.mzg.tw

TTIIN UPXVINP ,A1'INJ70

Dongguan Ming Ze Hardware Machinery Co., Ltd.

Operation Center: No.42-1,# Article,Changrong International Machinery Hardnery Hardware Plaza,No.56,
Wusha Zhen'anzhong Road,Changan town,Dongguan city,Guangdong Province, China

TEL: +86-013929492387

(Wechat/Facebook/Twitter/Whatsapp/Linkedin)

FAX: +86-769-85359513

Website: http://www. mzg. tw
E-mail: eva@mzgtool. cn



	1: Machine Tools Price
	2: P1.Caibide End Mill
	3: P2.Cemented Carbide Cutter
	4: P3.Extrusion Screw Tap
	5: P4.Apex Tap
	6: P5.Spiral Grooved Tap
	7: P6.Hand Tap/Circular Die
	8: P7.CCMT/CNMG..
	9: P8.DCMT/DNMG..
	10: P9.SCMT/SNMG/TCMT/TPGH..
	11: P10.TNMG/TNGG..
	12: P11.VCMT/VBMT/VNMG..
	13: P12.WNMG..
	14: P13.Thread Turning Tool
	15: P14.Cut-Off/Grooving/Back
	16: P15.External Grooving
	17: P16.Inner Hole Grooving
	18: P17.MGMN Grooving/Cut-Off
	19: P18.End Face/Inner Hole Grooving
	20: P19.CNC Turning Tool
	21: P20.CNC Turning Tool Parts
	22: P21.APMT Right-Angle Milling Cut
	23: P22.RPMW Round Nose Milling Cut
	24: P23.R Face Milling
	25: P24.Insert Type Quick Drill
	26: P25.Boring Tool
	27: P26.Boring Toolholder
	28: P27.ER/FMB Toolholder
	29: P28.GSK/MT/APU/SDC/SLN
	30: P29.CNC Tool Holder Accessories
	31: P30.Lathe Chuck Accessories
	32: Contact Us

